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G/)/E/ M������ " #  "��#� / / / / / / / / / / / / / / / / / / / / / / / / / / / LK
G/H/ ���������#�# # ����"�%�'� #  "��#�" / / / / / / / / / / / / / / / / / / / / / LK
G/I/ :��%�'� # %�"� / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / LL
G/F/ ���%��� # �� +��.��%� / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / LJ
G/G/ � "����#�"  8+ ��& ���� " 4 %��%��"��� " / / / / / / / / / / / / / / / / / / / J*

G/G/E/ � � �&���%�'� # �  "2� &� # +� +��% "�&� ��� / / / / / / / / / / / JE
G/G/)/ ��"���"�'� �"�%��#� � ��" %��#��" + �#�#�" / / / / / / / / / / / / / / JK
G/G/H/ ���������#�# # �� %�&+� 9�#�# / / / / / / / / / / / / / / / / / / / / E**
G/G/I/ � �#�&� ��� # � ��$����&� / / / / / / / / / / / / / / / / / / / / / / / E*H
G/G/F/ �"��#�� # � # "�9�"�  �  � &�# �� # 0� �� / / / / / / / / / / / / / E*F
G/G/G/ �"��#�� # � # "�9�"�  �  � &�# �� # %���� / / / / / / / / / / / / / E*K
G/G/K/ � ���#� # � �%�" # � %��� 6��ND��N7 / / / / / / / / / / / / / / / E*L

"� ������!����! ' 
����(� )�
��� 




K/E/ ���%��"��� " / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / EEE
K/E/E/ ��# ��#� # � "�"� &� / / / / / / / / / / / / / / / / / / / / / / / / / / EE)
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K/E/)/ ���%��� # +��.��%�" # %������ '+��&�" / / / / / / / / / / / / / / / / EEH
K/E/H/ �-����%�'� # ��" +��.��%�" # %������ / / / / / / / / / / / / / / / / / EEH

K/)/ �����9� 0����� / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / EEG

*��������)+� 

$

���
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)/E/ �"���%���� # �� "�"� &� $ �(��%� # ����"&�"�'� # -.# �  � �� &+� � ��/ G

)/)/ ���$��&� # ���2� " # �  "2� &� # %�#�,%�%�'� 5.���#�
+� #�%��-�1����"0��&�%�����/ / / / / / / / / / / / / / / / / / / / / / / / / / / J

)/H/ ���$��&� # � +���� &� ��"�%� # ���/ �� %�#� ��"���� k  � %�������#��
��" �-�  �  "��#� # � "�"� &� xk 4 �+��%� ��� �%%�'� uk = µk(xk) 2� 
# + �# # �  "��#� � ���-(" # �� 0��%�'� µk/ / / / / / / / / / / / / / / / / / )E

H/E/ ��� 9�" # -������ " 6�7 6rk(2)� rk(qk)) 4 6�7 6dk(31)� dk(qk)) � "������ " # 
�� %�#�,%�%�'� # �� " %� �%�� >"�� ��?/ 	 5�� �"�#� ��" -���� " # qr = 2 4
qd = 31 %�&� %�����,%�#�� " # � 0 � �%�� # ��"� 4 #�"���"�'� � "+ %��-�1
& �� � &� ����" 2� " 5�� %��"�# ��#� -����" -���� " # qk/ / / / / / / / / H*

H/)/ �� ,%� �� # # � �&���%�'� # +�� 9�" # -������ " # 6�7 6rk(qr)� rk(qk))
4 6�7 6dk(qd)� dk(qk)) +��� ��#�" ��" %�����,%�#�� " #�"+����� "/ / / / / / / HE

H/H/ ����� � ����-� & #�� 4 &�8�&� # � &�# �� # %��#�� �����  � %����� �
6�7 ��"� 4 6�7 #�"���"�'�/ 	 5�� %��%���#� �"��#� %�&� %�����,%�#�� " # 
� 0 � �%�� 6qr 4 qd7 %�#� ��� # ��" %�����,%�#�� " #�"+����� " # � %�#�,%�#��/ H)

H/I/ �� ,%� �� # # � �&���%�'� %��� "+��#� �� � +�� 9�" # -������ "
6rk(qr)� dk(qd)7 +��� ��#�" ��" +�"��� " -���� " # ��" %�����,%�#�� " # 
� 0 � �%��� qr� qd/ ��" -������ " rk(qr) 4 dk(qd) " 5�� & #�#� "��� �� " 1
%� �%�� >"�� ��?/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / HI

H/F/ ����� � ����-� & #�� # ��"  "��&�%��� " # 6�7 ��"� 4 6�7 #�"���"�'� %�&�
0��%�'� # � �A& �� # %��#��" �����3�#�"  �  � %��%��� # ��" %� ,%� �� "
# � &�# �� # 0� �� / ��" #���" %��� "+��# � � ��"���%��%��� " # � &�# ��
# �� " %� �%�� >"�� ��?/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / / HG

H/G/ ��# �� # ���=�- # +��& � ��# �/ / / / / / / / / / / / / / / / / / / / / / / HK

I/E/ ���$��&� # �� &+�" %��� "+��#� �� � �� ����"&�"�'� # ��� " %� �%��
# -.# � &�"����#� #�"�����" "����%��� " �.+�%�"/ mk ��#�%�  � ��� �-��� # 
+�2� � %���#�  � %��#�� k  "�� 4� #�"+����� � wk ��#�%�  � �A& �� # 
+�2� � " �"�#�"  � "� ����"&�"�'�� 4 tk � +� " ���  � �A& �� # ��� �-���"
# +�2� � #�"+����� " ��� " # � �� &+� �.&�� # � %��#�� k/ ��" +�2� � "
# � �� �� " 5�� &��%�#� %�� �� >O?/ / / / / / / / / / / / / / / / / / / / / / IE

�
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I/)/ M����%�'� # � �	�� %�� � "+ %�� �� -���� # K/ 	 5� ��#�%�#�  � ��� �-���
%��� "+��#� �� � ��" -���� " # K �$��� " � ��" -���� " # �6��7 ��� ��#�"
 � ��" "�&���%��� "/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / F)

I/H/ M���� & #�� # �	�� # ��" %��#��" # %�#�,%�#�" # �� " %� �%��
>0�� &��?  � ��" "�&���%��� " %��� "+��#� �� " � ∆T = 3Tf / / / / / / / / / FL

I/I/ 6�7 �	�� 4 6�7 �A& �� # %��#��" + �#�#�" 6��7 ��9� #�0 � �� " -���� "
# � � ���#� # � ��ND��N/ / / / / / / / / / / / / / / / / / / / / / / / / / / G*

F/E/ ���$��&� 0��%����� # � &�# �� # %��#��/ / / / / / / / / / / / / / / / / / / GK

F/)/ �� ,%� �� # # � �&���%�'� # ��" +�� 9�" # -������ " # 6�7 ��"�
(rk(qr), rk(qk)) 4 6�7 #�"���"�'� (dk(qd), dk(qk))/ ��  9 x ��#�%�  � %�����1
,%�#�� # � 0 � �%�� �"�#� �� � +��� ��"� 6qr7� �� � +��� #�"���"�'� 6qd7�
&� ����" 2�  �  9 y ��#�%�  � %�����,%�#�� # �� -������ 2� " 2�� �  "��1
&�� 6qk7/ ��#� $��,%� %���� � ��" #���" ��� ��#�" �� %�#�,%�� �� " %� �%��
>"�� ��? �"��#� ��  "2� &� # +� +��% "�&� ��� %��%� ��/ / / / / / / / / / GL

F/H/ �� ,%� �� # # � �&���%�'� # ��" +�� 9�" # -������ " # 6�7 ��"�
(rk(qr), rk(qk)) 4 6�7 #�"���"�'� (dk(qd), dk(qk))/ ��  9 x ��#�%�  � %�����1
,%�#�� # � 0 � �%�� �"�#� �� � +��� ��"� 6qr7� �� � +��� #�"���"�'� 6qd7�
&� ����" 2�  �  9 y ��#�%�  � %�����,%�#�� # �� -������ 2� " 2�� �  "��1
&�� 6qk7/ ��#� $��,%� %���� � ��" #���" ��� ��#�" �� %�#�,%�� �� " %� �%��
>"�� ��? �"��#� ��  "2� &� # +� +��% "�&� ��� %��%� ��/ / / / / / / / / / GJ

F/I/ ����� � ����-� & #�� 4 &�8�&� # � &�# �� # %��#�� ��� � "��� �� " %� �1
%�� >"�� ��?  � %����� � 6�7 ��"� 4 6�7 #�"���"�'�/ 	 5� %��%���#� �"��#�
%�&� %�����,%�#�� # � 0 � �%�� 6qr 4 qd7 %�#� ��� # ��" %�����,%�#�� "
#�"+����� "  �  � %�#�,%�#��/ ��#� %��-� %��� "+��# � �� -���� # qsq

6qsq = 5, 10, 20, 31, al7/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / / KE

F/F/ ���$��&� 0��%����� # � &�# �� # " %� �%�� � 0 � �� � �� %���%� ��3�%�'�
# �� # + �# �%�� # ��" -������ " zk(qk−1) 4 pk(qk−1) %�� qk−1/ / / / / / / / KI

F/G/ ��� 9�" # -���� " (zk(2), zk(qk−1)) 4 (pk(2), pk(qk−1)) +��� -����" -���� " # 
qk−1/ ��" -���� " " 5�� & #�#� "��� �� " %� �%�� >"�� ��? �"��#� qsq = 5�
qr = 2 4 qd = 31/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / KF

F/K/ �� ,%� �� # # � �&���%�'� # +�� 9�" # -������ " # 6�7 ��"� # � 0 � �1
%�� 6zk(qz)� zk(qk−1)7 4 6�7 #�"���"�'� # � 0 � �%�� 6pk(qp)� pk(qk−1)7/ ��#�
$��,%� %��� "+��# � �� -���� %��%� �� # � %�����,%�#�� # � 0 � �%�� �"�1
#� +��� 6�7 ��"� 6qr7 4 6�7 #�"���"�'� 6qd7/ ��" & #�#�" %��� "+��# � � ��
" %� �%�� >"�� ��? %�#�,%�#� "�$�� �#� qsq = al/ / / / / / / / / / / / / / / / / KG

F/L/ ����� � ����-� & #�� 4 &�8�&� # � &�# ��  � %����� � 6�7 ��"� # � 0 � �%��
4 6�7 #�"���"�'� # � 0 � �%��/ 	 5� %��%���#� �"��#� %�&� %�����,%�#�� "
# � 0 � �%�� 6qz 4 qp7 %�#� ��� # ��" %�����,%�#�� " #�"+����� "  �  �
%�#�,%�#��/ ��#� %��-� %��� "+��# � ��" � "����#�" ��� ��#�" "��� ��
%�#�,%�%�'� %�� �� # � �&���#� -���� # qr � qd 6qr = qd = 2, 15, 317/ / / / KK

��
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F/J/ �� ,%� �� # # � �&���%�'�  ��� -������ " # ��"� 4 #�"���"�'� +���'�
6zk(qz) 4 pk(qp)7 %��� "+��#� �� " � �� " %� �%�� >"�� ��?/ ��#� $��,%�
%��� "+��# � -���� " #�"�����" # ��" %�����,%�#�� " # � 0 � �%�� # ��"�
4 #�"���"�'� 6qr�qd7/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / KL

F/E*/ ����� � ����-� # ��"  "��&�%��� " # 6�7 ��"� 4 6�7 #�"���"�'� # #�"�����"
��"���%��%��� " # � &�# �� # 0� �� / ��  9 x� # ��&���#� >��# �� qsq?�
��#�%�  � qsq �"�#� +���  "��&�� ��" %� ,%� �� " # � &�# ��� 4  �  9 y�
>M���� " qsq?� ��#�%�  � qsq �"�#� +��� ��� � � ��" & #�#�" # ��"� 4 #�"���1
"�'� 2� " 2�� � �  "��&��/ / / / / / / / / / / / / / / / / / / / / / / / / / / L*

F/EE/ ����� � ����-� & #�� # ��"  "��&�%��� " # ��"�� #�"���"�'�� ��"� # � 0 � �1
%�� 4 #�"���"�'� # � 0 � �%�� %�&� 0��%�'� # � �A& �� # %��#��"  &+� �1
#�" +���  � %��%��� # ��" %� ,%� �� " # � &�# �� # 0� �� ��� � 6 %��%��� "
6F/E716F/H77/ ��  "�� "�&���%�'� " 5�  &+� �#�  � -���� # qsq = 10/ / / / / LH

F/E)/ ����� � ����-� & #�� # ��"  "��&�%��� " # ��"�� #�"���"�'�� ��"� # � 0 � �1
%�� 4 #�"���"�'� # � 0 � �%�� %�&� 0��%�'� # � �A& �� # %��#��"  &+� �1
#�" +���  � %��%��� # ��" %� ,%� �� " # � &�# �� # 0� �� ��� � 6 %��%��� "
6F/E716F/H77/ ��  "�� "�&���%�'� " 5�  &+� �#�  � -���� # qsq = al/ / / / / LI

G/E/ M���� " # 6�7 �	��� 6�7 �A& �� & #�� # %��#��" + �#�#�" 6��7� 6%7  ����
� ����-� & #�� # ��"�� 4 6#7  ���� � ����-� & #�� # #�"���"�'� ��� ��#�"  �
�� ����"&�"�'� # �� " %� �%�� >"�� ��? �"��#�  � &�# �� �����1E 6C = 328
���"7 +��� ��"  "2� &�" # +� +��% "�&� ��� qsq = cte, rc, al/ ��#� +����
# ��" %��-�" %��� "+��# � ��" � "����#�" ��� ��#�" %�� �� +��.��%� �"�%��#�
� �� -���� # qsq = cte/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / / JI

G/)/ M���� " # 6�7 �	��� 6�7 �A& �� & #�� # %��#��" + �#�#�" 6��7� 6%7  ����
� ����-� & #�� # ��"�� 4 6#7  ���� � ����-� & #�� # #�"���"�'� ��� ��#�"  �
�� ����"&�"�'� # �� " %� �%�� >"�� ��? �"��#�  � &�# �� �����1) 6C = 164
���"7 +��� ��"  "2� &�" # +� +��% "�&� ��� qsq = cte, rc, al/ ��#� +����
# ��" %��-�" %��� "+��# � ��" � "����#�" ��� ��#�" %�� �� +��.��%� �"�%��#�
� �� -���� # qsq = cte/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / / JF

G/H/ M���� " # 6�7 �	��� 6�7 �A& �� & #�� # %��#��" + �#�#�" 6��7� 6%7  ����
� ����-� & #�� # ��"�� 4 6#7  ���� � ����-� & #�� # #�"���"�'� ��� ��#�"  �
�� ����"&�"�'� # �� " %� �%�� >"�� ��? �"��#�  � &�# �� �����1H 6C = 82
���"7 +��� ��"  "2� &�" # +� +��% "�&� ��� qsq = cte, rc, al/ ��#� +����
# ��" %��-�" %��� "+��# � ��" � "����#�" ��� ��#�" %�� �� +��.��%� �"�%��#�
� �� -���� # qsq = cte/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / / JG

G/I/ M����%�'� # � �	�� %�� � "+ %�� �� -���� # K/ 	 5� ��#�%�#�  � ��� �-���
%��� "+��#� �� � ��" -���� " # K �$��� " � ��" -���� " # �6��7 ��� ��#�"
 � ��" "�&���%��� "/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / / E**

G/F/ M���� & #�� # �	�� # ��" %��#��" # %�#�,%�#�" # �� " %� �%��
>0�� &��? ��� ��#� � ���-(" # ��" �� " &�# ��" #�"�����" # " %� �%�� �����1
3�#�"/ ��" � "����#�" " 5�� " +���#�  � #�" " $& ���"� 6�7 2� %�&+� �# 
��" %��#��" P*1))*Q� 4 6�7 2� %�&+� �# ��" %��#��" P))E1)JJQ/ / / / / / / / E*G
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G/G/ 6�7 �	�� 4 6�7 �A& �� # %��#��" + �#�#�" 6��7 ��9� #�0 � �� " -���1
� " # � ���#� 4 +��� ��" #�" & %���"&�" ��� 4 ��� 2� $������3�� ��
"��%����3�%�'�  ���  � %�#�,%�#�� 4  � # %�#�,%�#��/ / / / / / / / / / / / / EE*
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H/E/ ��&+�����-� # �� +� %�"�'� # � &�# �� +��+� "�� 6��
����7�  8+�� �%���
6�8+7� +����'&�%� 6���7 4 �+��8�&�%�'� +�� ��� �+���%�'� %A��%� 6
���7�
� ���-(" # Rerr & #�� 4 &�8�&�/ ��" #���" " 5�� %��%���#� "��� �� "
" %� �%��" #�"�����"� 6�7 >"�� ��?� 6�7 >�=�4�? 4 6%7 >&��5 �1#��$5� �?/ ��1
�� ��
���� " 5��  � $�#� �2� ���" %�����,%�#�� " # � 0 � �%�� 2� 5��
+��+��%����#�  � & 9�� 6+7 4  � + �� 6−7 ��- � # +� %�"�'�/ / / / / / / / / HH

I/E/ � "�& � # �� ����%�'� �����3�#� 4 # ��"  %��%��� " # ��" +��������#�# "
# ����"�%�'� +���  � +���� &� # %�#�,%�%�'� �����%��#��/ / / / / / / / / / IF

I/)/ ����& ���" # ��" #�" &�# ��" # %���� �����3�#�"  � ��" "�&���%��� "/ / / / IK

I/H/ �	�� # �� " %� �%�� # %�#�,%�#�� �	�� # ��" %��#��" %��� %��& �� 
� %���#�" 6�	�� ��7� �A& �� # %��#��" + �#�#�" 6�� ��7� +��% ���9 # 
+�2� � " # � �� �� 6R ��7� 4 #�"���"�'� & #�� # ��" %��#��" + �#�#�"
6�6��77 +��� #�"�����" -���� " # K/ / / / / / / / / / / / / / / / / / / / / / F*

I/I/ ��������%�'� �� �A& �� #  "��#�" # � "�"� &� # ��" #�"�����" -������ " # 
 "��#� +��� �� " %� �%�� >"�� ��? 4 +��� ��" -���� " # � � ���#�  8�� &� �
 8�� &� �"�#�"  � ��"  8+ ��& ���"/ / / / / / / / / / / / / / / / / / / / / / FH

I/F/ �	�� 4 �A& �� # %��#��" + �#�#�" 6��7 ��� ��#�" +��� #�"�����" %���1
��,%�%��� " # �� -������ %�&+� 9�#�#/ / / / / / / / / / / / / / / / / / / / / FI

I/G/ �	�� 4 �A& �� # %��#��" + �#�#�" 6��7 +��� #�0 � �� " -���� " # ∆T / / FG

I/K/ �	�� 4 �A& �� # %��#��" + �#�#�" 6��7 +��� #�"�����" -���� " # ∆T / / FK

I/L/ M���� & #�� # �	�� # �� ����"&�"�'� # #�" " $& ���" #�"�����" # ��
" %� �%�� >0�� &��? �"��#� ��" ��$����&�" ��� 4 ���/ ��#� " $& ��� " 
%��� "+��# %�� ���  "% �� # �� " %� �%��/ / / / / / / / / / / / / / / / / / FJ

I/J/ � "����#� # ��" "�&���%��� " �"��#� #�" &�# ��" # %���� #�"�����"/ ����
%�#� &�# �� # %���� " 5� %��%���#� "� +��.��%� '+��&� # %������ 6���1S
4 ���1�7 4 %�#� +��.��%� " 5�  -����#� ��9� ��" #�" &�# ��" # %����/ / / FJ

F/E/ �9 &+�� # # ,��%�'� # #�"  "2� &�" # +��% "�&� ��� #�"�����" +��� ���
" %� �%�� # E* %��#��"/ / / / / / / / / / / / / / / / / / / / / / / / / / / / / GG

F/)/ M���� " &.��&�" 4 &�8�&�" # �  ���� � ����-� & #�� 4 &�8�&� 6 � ��
%��#��7 %�& ��#� +��  � &�# ��/ / / / / / / / / / / / / / / / / / / / / / / / / KE
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F/H/ �� ,%� �� # # � �&���%�'� %��� "+��#� �� � +�� 9�" # -������ "
6zk(2)� pk(2)7 # �� " %� �%�� >"�� ��? +��� #�"�����" -���� " # qr 4 qd/ / / / KJ

F/I/ ����%�'� 4 ��&�� " # ��" -������ " �&+��%�#�"  �  � &�# �� # 0� �� / / / LE

G/E/ � "�& � # �� ����%�'� ���3�#� 4 # ��"  %��%��� " # ��" +��������#�# "
# ����"�%�'� +���  � +���� &� # %�#�,%�%�'� ��� �%��#��/ / / / / / / / / / LJ

G/)/ �	�� # �� " %� �%�� # %�#�,%�#�� �	�� # ��" %��#��" %��� %��& �� 
� %���#�" 6�	�� ��7� �A& �� # %��#��" + �#�#�" 6�� ��7� +��% ���9 
# +�2� � " # � �� �� 6R ��7� 4 #�"���"�'� & #�� # ��" %��#��" + �#�1
#�"6�6��77 +��� #�"�����" -���� " # K/ / / / / / / / / / / / / / / / / / / / JL

G/H/ ��������%�'� �� �A& �� #  "��#�" ,��� " # ��" #�"�����" -������ " #  "1
��#� +��� �� " %� �%�� >"�� ��? 4 +��� ��" -���� " # � � ���#�  8�� &� �
 8�� &� �"�#�"  � ��"  8+ ��& ���"/ / / / / / / / / / / / / / / / / / / / / / E*E

G/I/ �	�� 4 �A& �� # %��#��" + �#�#�" 6��7 ��� ��#�" +��� #�"�����" %���1
��,%�%��� " # �� -������ %�&+� 9�#�#/ / / / / / / / / / / / / / / / / / / / / E*)

G/F/ �	�� 4 �A& �� # %��#��" + �#�#�" 6��7 # ��" ��$����&�" ����
���1��� 4 ��� +��� #�0 � �� " -���� " # ∆T / �� ��" ��$����&�"
���1��� 4 ��� " 5� ��%���#� �� #�0 � �%�� # � � "����#� # �	��
4 �� %�� � "+ %�� �� ��$����&� ���/ / / / / / / / / / / / / / / / / / / / / / E*I

G/G/ M���� & #�� # �	�� # �� ����"&�"�'� # �� " %� �%�� >0�� &��? �"��#�
��" +��.��%�" %��� "+��#� �� " � ��" �� " &�# ��" # 0� �� / / / / / / / / / / E*F

G/K/ � "����#� # ��" "�&���%��� " �"��#� #�" &�# ��" # %���� #�"�����"/ ����
%�#� &�# �� # %���� " 5� %��%���#� "� +��.��%� '+��&� # %������ 6���1S
4 ���1�7 4 %�#� +��.��%� " 5�  -����#� ��9� ��" #�" &�# ��" # %����/ / / E*K
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S�4  � #.� �� ����"&�"�'� # -.# � %�#�,%�#�  � �� &+� � ��  " ��� � ���#�# � %��1
�'$�%�/ �8�"� � #�- �"�"  "���#�� " # %�#�,%�%�'�� ���" 4� ,����3�#�" 4 ����" ��#�-.�
# "��������#�" � ��%��+����#� & 9���"� 2� �%����& �� " �"��  � �+��%�%��� " 2� 
����%�� # "# �� -�# �%��0 � �%�� � �� #�0�"�'� # �� " @�� # �M/

	� �� �  "��"  "���#�� " # ,� � &�%5�" �"+ %��" # �� %�#�,%�%�'� # �� " @�� # 
-.# �� %�&� +��  9 &+��  �  "2� &� # %�#�,%�%�'� � " $��� � �� "����8�" # � T�9� ��������
5�4 ����" ��� ���" +��� ��" 2� �� " 5�  "+ %�,%�#� ��� "���%�'� %��%� ��/ � �� 5���
# # "��������  "��"  � & ���"� %�#� �&+� & ���%�'� "� � �#�+��� "���%��� " +����%���� "
�# %��#�" � "�  ������ # �+��%�%�'�/ �"�� "����%�'� 5�% +�"��� 2� #�" %�#�,%�#�� "
# "�������#�" ��9� ��� &�"&� ���&� 4 "����#�" # ���� # � &�"&� "�"� &� # ����"&�"�'�
+� #�� +��+��%����� %���#�# " #�"�����" # + �#� �#� # ��" "���%��� " �#�+��#�"/

�  ��� ��"  � & ���" ��� ���" # ��"  "���#�� " # "��%�  � %������ # � �($�& � �������
# � %�#�,%�#���/ � ���� # ��#� "�"� &� # ����"&�"�'� # -.# �  � �� &+� � �� �+�� % �
��� " �� # � "���%%��� " "���  � �A& �� # ���" $ � ��#�" +��  � %�#�,%�#��  � %�#�
&�& ���/ �"��" � "���%%��� "� # ��#�" � ��" # &�" %�&+�� �� " # � "�"� &� 6%���� # 
����"&�"�'�� � ���#� + �&���#��  �%/7� # � � " � %�&+��#�" +��� ��� %��� %�� ����"&�"�'�
# �� " @�� # -.# �/ ��� ������ � "���� ��#�"+ �"��� �%���� "���  � %�#�,%�#�� +���
%�������� "� �($�& � ������� # "���#�/

��� # ��" &�4�� " #�,%����# " # �� +���� &���%� �"�%��#� �� %������ # � %�#�,%�#��
 " �� ��  8�"� �%�� # ��� "���%�'� A��%�/ �� �� &�4��.� # ��" �%�"��� " ��" � "���%%��� "
�&+� "��" + �&�� � &A���+� " �%���%��� " "���  � %�#�,%�#�� 2� 5�% � 2�  � �($�& �
������� # "���#� %�&+�� %��  ���"/ ��� ���� ��#��  "��" �%���%��� " -�� � �0 %��� � �� %���1
#�# # �� " %� �%�� # %�#�,%�#�� %�� �� 2�  � +���� &� # %������ # � %�#�,%�#�� ����%�
�� "'�� %�&+��� %�� ��" � "���%%��� " "��� # � �&���� �2� ��� "���%�'� 2� +��+��%��� 
��� & 9�� %���#�#/ �"� �� -� ��9 ��-�� +�� ���� +��� � 5�% 2� �+�� 3%� �� �� -� $��#�
# ��� ���#  �  � +���� &�� �� # � �&���%�'� # � %��� ��� # %���#�#/ �#�%�����& �� � ��

1��� ����������� � 	
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# + �# �%�� # ��" � "���%%��� " "���  � �($�& � ������� %�� 0�%��� " ��� %��%� ��" %�&�
�� %�+�%�#�# # � %�����  � ��+� # %���� 6- ��%�#�# ������� %��"���� � -������ 7�  � ��+�
# %�#�,%�%�'�� �  � ��+� # " �-�%�� ,��� 6-�# �%��0 � �%��� #�0�"�'� # �� " @�� # �M�
 �%/7 #�,%����� ��� 0��&���%�'� $ �(��%� 4 A��%� # � +���� &� # %������/

��#�"  "��" %���%� �."��%�" 5�% � 2� � ��� "� �#�  � %������ # � �($�& � ������� # �
%�#�,%�#�� �� �"���� 2� 5� "�#� �����3�#� 4  "��#��#�  � ��& ��"�" �%�"��� " # "# ��"
��.$ � " # �� ����"&�"�'� # -.# � %�#�,%�#�  � �� &+� � ��� 5�4  � #.� "�$� "� �#� ��
� &� ��� ��� � �� ��- "��$�%�'�/ � 5 %5�� # ��#�  � +��� � ��#�" ��" $��#�" # ��� ���#
2� +� " ���  � +���� &�� �� " +� # # %�� 2�  8�"�� ��� "���%�'�  "���#�� � ��%��"� ��
+��% #�&� ��� $ �(��%� +��� ����#����/ �" &�"� %�� �� �����#�%%�'� # �� ����"&�"�'� # 
-.# �  � �� -�" ��+�" # � # " 6� ���-(" # %���� " �����&���%�" 1����
���1� 
�� �� ��  �%/7
5�� �+�� %�#� �� -�" # "�0.�" +���  � %������ # � �($�& � ������� # � %�#�,%�#��/

���� 
�������� � ��� !��! � "� #� �����

�� ��9 ��-� +���%�+�� #  "�� � "�"  " � ���3�� ��� �+����%�'� �� �����&� ��� "�"� &���%�
# � +���� &� # %������ # � �($�& � ������� # � %�#�,%�#��/ �� +����%�����  "� �����9� -�
�  "��� % ����#�  � �� +���� &���%� �"�%��#� � �� ����"&�"�'� # -.# �  � �� &+� � �� "��� 
%���� " # - ��%�#�# ������� -������ / 	 +� � �# �-��3��  �  � �����&� ��� 4 0��&���%�'�
#  "� +���� &� � ���-(" # �� +���� �&� ��� $ � ��� 2�  � �� +��& �  "��#�� " � ��
&�" ��# + �#� �� +�"��� # ��" %���%� �."��%�" +����%���� " # ��"  � & ���" # � "�"� &�/
���� -���#��  �  �0�2� +��+� "�� " +�"��� �  "��#��� +���� &�" &�" %��%� ��" "��� 
� ���3�%��� "  "+ %.,%�" # ��"  � & ���" ��-���%��#�"  �  � +���� &� %�&�  � %�#�,%�#��
�  � %���� # ����"&�"�'�/ ���� # � %��� ��#� #  "�� � "�" " 5� +� " ���#�  � PIQPFQ/

�"� �����9� " +� # %��"�# ��� %�&� ��� %�������%�'� # � �����"�" 4 � "���%�'� # �
+���� &� # %������ +��+� "��  � PIJQ/ �� (� " +���� �  � �"� # �� ���$��&�%�'� ��1
��&�%� �"��%�"��%� 6���7 PHQ +���  �%������ �� "���%�'� '+��&� �� +���� &� # %������
�"�%��#� � �� ����"&�"�'� # -.# � +�� �� %���� # - ��%�#�# ������� %��"���� / ����  ���
" � 2�� � &�# ���  � "�"� &� # ����"&�"�'� %�&� "�"� &� #���&�%�  "��%�"��%� #�"%� 1
�� 4 # ,��� �� %��� ��� # %���#�#/ ���  ���� ��" �(%��%�" # �� ��� + �&�� �  �%������
�� "���%�'� '+��&� # �%� �#� � #�%5� %��� ���/ �� �� "��� %�"�� +� � �# &�" ����#��
 � +���� &� # %������ %���#�  � %���� # ����"&�"�'�  " # - ��%�#�# ������� -������ /
	�$�� �#� ��  �0�2� "�&���� " +� � �# 0��&����  � +���� &� 4� +�� ������ ��� � �  �
&�# �� # � "�"� &� � �� �#�  � %� ���  �  0 %�� # �� %�+�%�#�# -������ # � %����/ ��
�� +�"� +�"� ���� " +� � �# -���#�� ��" "���%��� " ��� ��#�" %�&+����#���" %�� ����"
+���� �&� ���" +��+� "��"  � �� ��� ������/

�� � "�� #  "�� � "�"  "�� ��$���3�#� # �� "�$�� �� &�� ���

�� ��,+
��� � # "��%� ��" �"+ %��" &�" �&+������ " # � +���� &� # %������ # � %�1
#�,%�#��/ �� +��& � ��$��� " � ���3� ��� �� - # "%��+%�'� # ��" %���%� �."��%�" &�"
� � -��� " # ��" +���%�+�� " �%��� " ��-���%��#�"  �  � +���� &�� 4 # #�- �"�" �(%1
��%�" 4  "���� $��"  &+� �#�" +��� � "��- ���/ ��"� ����& �� � " # ,�  � +���� &�
%��%� �� # %������ 2� " ����#� 4� ,���& �� � " ��%��4 ��� �� - +� " ���%�'�
# �� ��� 4 # ��" �(%��%�" 2� "  &+� ���� +��� � "��- �  � +���� &�/

� ���������
��



������� �����	��
�� �� ���

������� �� ����� ���� ������� �� �����
��� �
���
� ���
����

�� ��,+
��� � # "%��� ��" #�"�����" &�# ��" �"�#�" +��� %���%� ��3��  � %�&+����1
&� ��� # � "�"� &� %���#� " �����3� A��%�& �� %�#�,%�%�'� �����%��#��/ �� %��%� 1
��� " +� " ���  � &�# �� 2� " 5� # "�������#� +��� �� 0� �� # -.# �� "  "+ %�,%�
 � &�# �� # %���� �#�+��#� 4� +�� A���&�� " # "%���  � &�# �� +��+� "�� +��� ��
#�"���"�'� # ��" %��#��" + �#�#�"/

�� ��,+
��� #  "���� % �� 0��&���%�'� &�� &���%� # � +���� &� %�� %�#�,%�%�'�
�����%��#��  � ��" �(�&���"  "���� %�#�" +�� �� ���/ ��� ��" � "����#�" # #�%5�
0��&���%�'� " � "� �-  � +���� &� 4 "  -��A�� ��" +��.��%�" # %������ ��� ��#�"
%�&+����#���" %�� ����"  "���� $��" # %������ +��+� "��"  � �� ��� ������/

��" ��,+
���! � 4 % "�� �����$�" � ��" %�+.����" H 4 I� + �� � 0 ��#�" �� +���� &�
# %������ %�� %�#�,%�%�'� ��� �%��#��/

�� ��,+
��� " � %�$ ��" %��%��"��� " &�" �&+������ " #  "�� � "�" 4 " @��� ���
" �� # +��+� "��" # �����9� 0�����/

���������
�� �





�
������ �

����	�� 
�� 	������ ���
	�� 
��

��
���

�	

���� ��� �"!�����

�� ,$��� )/E � +� " ���  �  "2� &� # �� "�"� &� $ �(��%� # ����"&�"�'� # -.# �
%�&+� "�� ��" "�$�� �� "  � & ���"�

:� �� # -.# �/ �� " %� �%�� +��+��%����#� +�� �� 0� �� +� # +��- ��� # ���
%�+����  � #�� %�� � # �� &�� ���� +� -��& �� ��&�% ��#�/ �� %���2�� � %�"�� "�
����"&�"�'� " � ���3�  � �� &+� � ��/

��#�,%�#��� 2� $ � �� �� " @�� # -�# � %�#�,%�#�/

�'#��� # %������ # � %�#�,%�#��� 2� "  �%��$� # �# %���  � �($�& � ������� # �
%�#�,%�#�� +��� ��� %��� %�� ����"&�"�'�/

C�< � # � %�#�,%�#���  �%��$�#� # �&����$��� ��" T�%���%��� " # � T�9� �������
# � %�#�,%�#�� +��� 2� " � ��"����#� # ��� &�� �� �# %��#� +��  � %���� # 
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Codificador

Buffer
 codificador

Decodificador

Salida de 
vídeo

Módulo de Control

Buffer
decodificador

Canal de Transmisión

Entrada de 
vídeo
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��	
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%� ,%� �� " # ��9� 0� %� �%��/ �  "�� &�� ���  � +��% "� # %�����,%�%�'� 4
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%�%�'� 4� 2� � +�� �� $ � ���� � #�"�����" -���� " � " " �� �"�$��#� �� &�"&�
-���� � +� " �����-�/ �� %���#�# # � %��#�� %�#�,%�#� 4 �� %�&+� "�'� ��� ��1
#� # + �# # � ��&�@� # � %��9���� # -���� " � +� " �����-�"� %����� & ���
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%�"�� # ��� & ��� %���#�#� &� ����" 2� "�  � %��9���� # -���� " � +� " �1
����-�"  " &�4�� �� %�&+� "�'� #�"&���4 �� &�"&� �� &+� 2� ��& ��� ��
%���#�#/ �� %�&+��&�"� %���#�#1%�&+� "�'� " +� # %�������� � ���-(" # ��"
���������
����� +���& ���" # � %�#�,%�#�� 2� %�������� �� $��������#�# # ��
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� �%��/ �"� ��+� # %�#�,%�%�'� +��+��%���� ��� &�4�� ��"� # %�&+� "�'� 2� ��
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� ����������� 2� "�� %�#�,%�#�" 4 " ��%��4 � %�&� +��� # ��
%�#�,%�%�'� # � %��#��/

• ��#�,%�%�'� # �  ���� # +� #�%%�'�/ �� #�0 � �%��  ���  � ���2� ���$���� 4  �
# +� #�%%�'� " %�#�,%� # �$��� &�� �� 2�  � �� %�#�,%�%�'� �����%��#��/

�". +� "� �� ��0��&�%�'� # %�#�,%�%�'� 2� "  �-.� %���� � �� ��%���3�%�'� # �
���2� # +� #�%%�'� 9���� ��  ���� # +� #�%%�'�� + �� ��  � ���2� # � 0 � �%���
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��� ���� ��#��  "��" �+��8�&�%��� " +���� �� +���� &�" # �+��&�3�%�'� 2� � 2�� � �
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PGEQ �����3�  � +���� &� # ����"&�"�'� "��� 
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�� &�"&� �� &+� 2� �� ����"&�"�'�/ �'� " 2� �� � #�%%�'� # �� %��$� %�&+���%�����
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��  � & ��� # "�&� �&+�����%�� # ���� #  "�  "2� &�  "  � �����
� �(����� �
�(����� + �&���#��  " # %���  � �� &+� 2� ����"%���  ���  � ��"����  �  � 2� �� %��#��
 ����  �  � %�#�,%�#�� 4  � ��"����  �  � 2� �� � 2� " � +� " ���#�  �  � � % +���/
���&�� &�" �  "� � ���#� ∆T / �� -���� # ∆T -� � "�+�� � ��� � "���%%�'� � &+����
� �� ����"&�"�'� # ��" %��#��" # �� " %� �%�� # -.# �/ ∆T ��#�%�  � �� &+� &�8�&�
2� " +� # �����3�� +��� %�#�,%��� ����"&���� 4 # %�#�,%�� �� %��#�� # �� " %� �%���
+�� �� 2� ��#�" ��" %��#��" # � ��� �� $�� �� # %�#�,%�#�� ��� " # �� # � �&���#�
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�����/ �� +��& �� "����%�'�� "� �� � �� � T 9�  � &�#� # �+ ��%�'� # �� "�"� &� � ���
��" -� � + �&���� %�&+����  � � �#�&� ��� # �� "��� ��$����&� %��  � # ��" "���%��� "
��"�#�"  � �� ���$��&�%�'� ����&�%� � � �&���"�� +��+� "��" +�� P)IQ/ ��� ���� ��#��  �
�� " $��#� "����%�'� %�� �� ��%��+���%�'� # �� %�#�,%�%�'� ��� �%��#�� " -� � �����3��
 � � �#�&� ��� # � ��$����&�  � ��  "2� &� �.+�%� # ��" "�"� &�" %�& �%��� "/

��� � "+ %�� �� %���� # ����"&�"�'�� -�&�" � %��"�# ��� �� %���� �� ,���  �  � 2� 
�� +(�#�#� # +�2� � "  " "�"% +���� # %� ��� ��+� # &�# ��#�  "��#."��%�/ �� %�"� �.+�%�
#  ���� "  � ��0�$�" %��"����4 �� %�"� +����%���� #  ���/ �#�%�����& �� � " #�"+��#��
# ��� %���� # � ����� 2� +�"������  � �"� # ��  "2� &� ��+� ��! # +��� %%�'� 0� �� 
�  ���� "/ ��&� " ��#�%'  � �� " %%�'� )/H�  "� ��+� # �(%��%�" A��%�& �� %���� -��
��� "��� %��$� �@�#�#� � �� ��0��&�%�'� # -.# � %���#� �%��� �  ���� " # ����"&�"�'�/
�� ��"���� �  � �"� # ��" �(%��%�" ��! +� " ��� #�" %���%� �."��%�" 2� �0 %��� � ��
����"&�"�'� # -.# �� 6�7 �� -��������#�# � ��  � �� %�+�%�#�#  0 %��-� # � %���� %��  �
�� &+� 6�'� " 2�  � �"� # �(%��%�" :�� &���$�  "�  0 %��7� 4 6��7  � � ���#� �%�"����#�/
�&��" �"+ %��" " ��� �����3�#�"  �  "� �����9�/

�� %����� � ��" %���%� �."��%�" # 0��%����&� ��� # � %����� -�&�" � "�+�� � 2� ��
����"&�"�'� " � ���3� +�� & #�� # +�2� � " 2� "  �-.�� + ��'#�%�& �� +��  � %����
%�#� %� ��� ��� �-��� # �� &+� Tp/ �� ��0��&�%�'� ��� %�#�,%�#�  �  "��" +�2� � " +��
& #�� # ��$A� %'#�$� :�� %�� ��� %��$� A��� C +�� +�2� � / ��&� %��" %� �%�� # ��"
 ���� " # ����"&�"�'� 6�� � +��2�  � +�2� � " � # "%����#� +�� �� � #� �� � +��2�  �
+�2� � 5�4� "�#� ����"&���#� %��  ���� " 4  � %'#�$� :�� ��  " %�+�3 # � %�+ �����7
�� %�+�%�#�#  0 %��-� # � %���� -��.�  ��� #�" +�"��� " -���� "� 6�7 C %���#�  � +�2� � 
" � %�� %��� %��& �� � 4 6��7 % ��  � %�"� %��������/ ���� �� � %�+ ��%�'� # ��"  ���� "
# ����"&�"�'�� " %��"�# �� 2�  � & %���"&� # ��!  " # � ����"&�"�'� " � %��-�� # 
&�#� 2� +�� %�#� +�2� � 2� �� $� �� � % +��� "  �-.� �� �%�" # � %��� ��#�%��#�
"� " 5� � %���#� %��� %��& �� 6"  �-.� �� ��)7 �  ��'� �& �� 6"  �-.� �� *�)7/
��  � %�"� # 2�  � ����"&�"�� � %��� �� *�)� � ����"&�����  � +�2� � %��� "+��#� �� /
���� +��� $ � �� "�"� &� # �� +(�#�#� # �%�" " # � %��� "  "���� % �� & %���"&� # 
����	� 
� ��	����  " # %��� " # � �&��� �� �� &+� &�8�&� #  "+ �� +��� � %����  � �%�" 
# � %��� # %�#� +�2� � / �� %�"� # 2� �� �� $�  �  � �� &+� ��#�%�#� " %��"�# ��
2�  � +�2� � %��� "+��#� �� " 5� + �#�#� 4 +�� ����� " �  �-.�/

�� �� "���  �0�2� +��� "�&+��,%�� �� 0��&���%�'� %��"�# ��&�" 2� �� 5�4 +(�#�#�"
 � �� ����"&�"�'� # ��" �%�" " # � %���� �� &�"&� �� &+� 2�  � � ���#�  � � %������"  "
# "+� %���� / ��&+����� &�" � ���-(" # ��" � "����#�" ��� ��#�" 2�  "�� A���&� "�+�1
"�%�'� �� � ��  0 %�� ��&���#�  �  � � �#�&� ��� # � "�"� &�� "� &+� 2�  � � ���#� � ��
" � + 2� @�  � %�&+���%�'� %�� �� ���$���# & #�� # ��" ��0�$�" #  ���� "/ �� ��"���� �
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 "2� &�"  � ��" 2�  8�"�� ��� ��9� +��������#�# # +(�#�#� # �%�" " # � %��� 4 � �$��
�� �� &+� &�8�&� #  "+ �� �$��� �� �� &+� & #�� # � ���#� # ��" ����,%�%��� "/ ��
 "� %�"��  � "�"� &� # +��� %%�'� 0� �� �  ���� " � ���3��.�  "+���#�%�& �� � ����"&�1
"��� " � #��#��� " # �2� ���" +�2� � " %��� %��& �� � %���#�"  �  � � % +��� + �� %�4�
��N " 5� + �#�#�� 5 %5� 2�  � +���%�+�� �� # � �.� �0 %���  � # &�".� �� � �#�&� ���
# � "�"� &�/

��  8�"� �%�� # �� # � �&���#� � ���#�  8�� &� �  8�� &� ,����� 9���� � ��� - ��1
%�#�# ������� # � %���� ,����� ��&��� �� %����#�# # ���" 2� +� # � " � ��&�% ��#�"  �
��" ��< �" # � %�#�,%�#�� 4 # � # %�#�,%�#��/ ��� ������ "�+��#� &�" 2� �� %�+�%�#�#
� �� # #�%5�" ��< �"  " "�,%� �� +��� �� �&+�� � �� -�" � "���%%��� "  � %����� �� ��1
&�% ��&� ��� # %��#��" %�#�,%�#�"/ ��� "'�� " %��"�# ����� �2� ���" � ����-�" � ��"
%���%� �."��%�" # � %���� 4 �� -���� # ∆T /

� �� �#�  � %� ��� ��#�"  "��" %��"�# ��%��� "�  � ��9 ��-� 2� " + �"�$�  " �� ��1
� �%�'� # �� ��$����&� 2� + �&��� �� " � %%�'�  � �� &+� � �� # ��" %�����,%�#�� " �
�+��%�� � %�#� %��#�� # �� " %� �%��� # &�#� 2� �� %���#�# # �� " %� �%�� # %�#�,%�#�
" � '+��&�/ ��%5� %���#�# " ��  � � "����#� # #�" 0�%��� "�  � �A& �� # %��#��" � %���#�"
%��� %��& �� 4 �� %���#�# # %�#� ��� #  ���"/ ���� & #�� �� %���#�# # �� " %� �%�� # 1
%�#�,%�#� " -� � �"�� ��� & #�#� ��9 ��-� # �� #�"���"�'� # �� " @���  � ����� ���
�+����
��
�� 6���� ,-����  ���� 1�, 17 2� %��%���� &�" "��� %�#� %��#�� # �� " %� �%��
# %�#�,%�#�/ ���� �2� ���" %��#��" � %���#�" %��� %��& ��  �  � � % +���� �� #�"���"�'�
%��%���#� " %��� "+��# %�� �� #�"���"�'� �����#�%�#� +��  �  ���� # %�����,%�%�'�/ ��
%�&���� +��� ��" %��#��" + �#�#�" %��%���� &�"  � �,  ���  � %��#�� ���$���� 4  � 2� 
+� " ���  � "� ��$��  � & %���"&� # � %�+ ��%�'� #  ���� " # � %�#�,%�#��/ �� #�"���"�'�
,��� # �� " %� �%�� %�#�,%�#� " �� +� " �� "�&� # ��" #�"���"��� " # �&��" ��+�" # 
%��#��"�

Dsecuencia =
∑
k∈T

dk +
∑
m∈L

dlf,m,

#��# dk � +� " ��� �� #�"���"�'� +��#�%�#� +�� �� %�����,%�%�'�  �  � %��#�� k� T  "  �
%��9���� # .�#�% " # ��" %��#��" 2� 5�� �� $�#� %��� %��& �� �� � % +���� dlf,m ��#�%�
�� #�"���"�'� +��#�%�#� +�� �� +(�#�#� # � %��#�� m� 4 L  "  � %��9���� # ��" .�#�% "
# ��" %��#��" + �#�#�"/ �'� " 2�  � +���� �&� ��� # � +���� &�  "�� ��� ��� �� �"�
# ����" & #�#�" # #�"���"�'�� "� &+� 2�  "��" & #�#�" �#&���� �� &�# ��#� 4 " ��
�#���-�"  �  � �� &+�/

��� �� ������  � %������ # � %�#�,%�#�� # � ��  � $��  ��� 6�7 �"�� �� %�����,%�#�� ,��
+��� ��� � � ��� #�"���"�'� # %��#�� & ���� + �� �� &�"&� �� &+�  � %��#�� %�#�,%�#�
� 2� ���� �� &�4�� �A& �� # +�2� � "� %�� �� 2� �� +��������#�# # 2� " +� �#�
 " &�4��B 4 6��7 �"�� �� %�����,%�#�� &�" $��" �� +��� � #�%��  � �A& �� # +�2� � "
� 2� ��#� 6��& ����#� �� +��������#�# # 2� ��#�" �� $� � �� # %�#�,%�#�� � �� &+�7�
+ �� ��& ����#� ��&��(� �� #�"���"�'� # � %��#��/
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��  � "�"� &� 2� 5 &�" # "%����  8�"� � �� "  � & ���" 2� 5�4 2� � � �  � %� ���
� �� 5��� #  � $�� ��" %�����,%�#�� "�

E/ ���������#�# # 2� �%�����  ���� " # ����"&�"�'�/ 	� " #�"+�� # &�# ��" # �
%�&+����&� ��� # � %���� " +� #  "��&�� �� +��������#�# # +(�#�#�  � ��" �
��" �-�%��� " # � %�&+����&� ��� +�"�#�/

)/ ����%� �."��%�" # �� 0� �� # -.# � � ���-(" # & #�#�" � ���3�#�" "��� %��#��"
4� ����"&���#�"� "���  � %��#�� �%���� 6%��#�� 2� " -� � %�#�,%��7 4� "�  � � ���#�
 8�� &� �  8�� &� �� + �&�� � "��� %��#��" 0�����"/ �� %�"� %��������� " +� # 
�"�� �� &�# �� +�������."��%� # �� 0� �� # -.# � +��� +� # %�� ��" %���%� �."��%�"
# ��" %��#��" 0�����"/

H/ �A& �� &�8�&� # ��� �-���" # +�2� � # � %���� #�"+����� " +��� �� ����"&�1
"�'� # � %��#�� �%����/ � ��&���� &�" �  "� �(�&��� ����	� 
��	���$
� # � %��#��
�%����/

�� ��0��&�%�'� "���  � %�&+����&� ��� +�"�#� # � %���� " +� # ��� � � ��" �-��#�
 � � "����#� # �� ����"&�"�'� # ��" +�2� � "  �-��#�" 5�"��  � &�& ���/ ��� � "+ %��
� ��" %���%� �."��%�" # �� 0� �� # -.# �� ("��" " +� # � & #�� #�� %��& �� "��� ��"
%��#��" # �� " %� �%��/ �� �� "��� 0��&���%�'�� +��� �� ��%� & ����  �  8% "�  � � ���#�
 8�� &� �  8�� &� -�&�" � # "%����� � ���3�� & #�#�" "��� %��#��" 0�����"/ ��� A���&��
 � �� &+� #�"+����� +��� %�#� %��#�� # + �# # �����  � %�&+����&� ��� # �� 0� �� 
%�&� # � %����� +�� �� 2� +� # %��%����"  � 0��%�'� # �&��"  � & ���"/ �". +� "�
+�# &�" %��%���� 2�  � %�����,%�#�� +���  � %��#�� �%���� " -� �  � $��  8%��"�-�& �� 
 � ��" � ��" %���%� �."��%�" # %��#��" +� -��" 4 # � +��+�� %��#�� �%����� � ��0��&�%�'�
# � %�&+����&� ��� +�"�#� # � %����� 4 �� �� &+� #�"+����� # � %��#�� �%����/

�� �"� # ���  � �� � "���%�'� # � +���� &� # %������ -� � � 2� ��� 2� " � ���% ��
&�# ��#� +� -�� # � +��% "� # %�#�,%�%�'� # �� 0� �� # -.# � 6&�# �� # 0� �� 7� # ��
#�"���"�'� # ��" %��#��" + �#�#�" 6&�# �� # ��" %��#��" + �#�#�"7� 4 # � %�&+����&� ���
# � %���� 6&�# �� # %����7/ ��� � "+ %�� � ��" #�" +��& ��"� " 5� # "�������#� ��
&�# �� # 0� �� ��- #�"� 2� %�&+� %�� ��" � 2��"���" �&+� "��" +�� �� ��� 4 " 5�
+��+� "�� ��� %���%� ��3�%�'� # �� #�"���"�'� # ��" %��#��" + �#�#�"/ �� %�&��� +���
 � %����� 5 &�" �#�+��#� �� &�# �� ��"�#�  � %�# ��" # ���=�- "�$�� �#� �� �.� �
# ��" �����9�" PHKQPGEQPGIQ/ �"��" &�# ��" ��" -�� � + �&���� # "�������� �� 0��&���%�'�
&�� &���%� # �� #���&�%� # � "�"� &�� � +����� # �� %��� " %��%���� ��" +��.��%�" # 
%������ �+��%��#� ��" ��$����&�" # ���/ �"�� �&+��%� 2� ��" "���%��� " ��� ��#�" -�� �
" � '+��&�" +��� �� "�"� &� %�4� %�&+����&� ��� " %��� "+��#� %��  � # "%����  � ��"
&�# ��" �����3�#�"/ ����2�� � #�0 � �%�� # � %�&+����&� ��� � �� # �� 0� �� # -.# � �
# � %���� %�� � "+ %�� � ��" &�# ��" +��-�%��� ��� # $��#�%�'�  �  � � �#�&� ��� # ��"
+��.��%�" ��� ��#�"/ �". +� "� "� ��" %���%� �."��%�"  "��#."��%�" # �� 0� �� # -.# � � # �
%���� %�&���" � %�� � "+ %�� � ��" &�# ��" �"�#�"� " �.� � % "���� � %��%���� ��" +��.��%�"
# %������ # �%� �#� � �� -�" &�# ��" 2� � +� " �� � # ��� &�� �� &�" +� %�"�  �
%�&+����&� ��� #  "��"  � & ���"/

��  "� " ���#��  � &�# �� # 0� �� 2� +��+�� &�" �� � %�&� ��9 ��-� &�# ���
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" %� �%�� " #�� ����& �� %�&� +� # " � #����� ��� -�# �%��0 � �%��/ �"�� � "���%%�'��
�� ��"���� � �&+��%� 2�  � ��  ������  �  � 2� " +��#�3%�� %�&���" #  "% ��� ���
��"���%��%�'� +����%���� # � &�# �� # 0� �� # 9��� # " � -���#�  �  � &�& ��� 2� 
��" %���%� �."��%�" # ��" %��#��" %�&�� � %�� � "+ %�� �� ��+� # %��#�� 2� � +� " ���
 � &�# ��/ ��  " %�"�� "  "���.�  �  � "�+� "�� # -����%�'� # ��" %���%� �."��%�" # 
�� 0� �� # -.# � � "+ %�� �� &�# �� �����3�#�� %�� �� %��� "+��#� �� # $��#�%�'� # �
� �#�&� ��� # �� +��.��%� # %������/

��  "� �����9� -�&�" � %��"�# ��� 2� ��" %���%� �."��%�" ����� # � %���� %�&� # ��
0� �� "��  "��%�������"�  " # %��� 2� ��" &�# ��" �����3�#�" " ��� -���#�" #����� ��#�
�� �+ ��%�'� # � "�"� &�/ �� ��"���� �  � �� "�"� &� � ��  �  � 2� ��" %���%� �."��%�"
 "��#."��%�" # �� 0� �� # -.# � 4D� ��" # � %���� +� # � -����� %��  � �� &+�� # � �.�
��%��+����" ��$A�  "2� &� �#�+����-� 2� �9�"��"  � %������ # � %�#�,%�#�� �  "��"
-����%��� "/ �". +��  9 &+��� "� ��" -����%��� " 2� " +��#�% � "�� "�,%� �� & �� � ���"
4 �� %��$� %�&+���%����� # � +��% "� # %��%��� # +��.��%�" + �&�� %��%���� ��" +��.��%�"
#����� �� ����"&�"�'�� " +�#�.� + �"��  � ��  "2� &�  �  � 2� " &�������3�" � ��"
%���%� �."��%�" # �� 0� �� 4 # � %���� # &�#� 2� �� # � %��� ��" %�&���" " � %��%���" �
��" +��.��%�" # %������/ �� %�&���� "�  � %��%��� # +��.��%�" #����� �� ����"&�"�'� ��  "
+�"��� � " +�#�.� � � � ��� ��� �.� # +��.��%�" %��%���#�" � +������ %��� "+��#� �� " �
#�"�����" &�# ��" ����� # %���� %�&� # 0� �� � # &�#� 2� #����� �� ����"&�"�'�  �
&'#��� # %������  ��$� " �� +��.��%� &�" �+��+��#� � ��" %���%� �."��%�" # � "�"� &�  �
%�#� &�& ���/

��� - 3 2� " 5�� # � �&���#� ��"  � & ���"  " �%��� " # � +���� &� # %������ 2� 
��" �%�+��  � "�$�� �� +�"�  " 0��&����  � +���� &�  � �(�&���" # ���/ ���� %����,%�� ��
�+��%�%�'� # ��" �(%��%�" # ��� �  "� +���� &��  � �� " %%�'� "�$�� �� " -�� �  8+�� �
��$���" %��% +��" ��"�%�" �"�%��#�" � ���� �". %�&� "�" +�"�����#�# " 4 "�" ��&���%��� "/

��.� 	 �* �'����� ���/'��� �����/�����

�� ��� ��"%�  � %������ '+��&� # "�"� &�" #���&�%�"  "��%�"��%�" %�� ���" # � �1
&���#�" %���%� �."��%�"/ �� +��& � ��$���  � %������ #  "��" "�"� &�" " �� -� � %���  �
 ��+�"�  " # %��� ��  -���%�'� # � "�"� &� " +� # #�-�#��  � ���&�" "�% "�-�" 4 �� ,���
# %�#� ��� #  ���"  � %������ �� � 2� ��&�� ��� # %�"�'�/ �� " $��#� ��$���  � � "��1
��#� # %�#� # %�"�'� # %������ �� -� � +�# � " � # � �&���#� %��  8�%����# # ��#� �
��  8�"� �%�� # 0�%��� " �� ������"  �  � "�"� &�� "��� 2�  "���� %���%� ��3�#� +�� ���
# � �&���#� #�"�����%�'� # +��������#�#/ ��� A���&��  � %�#�  ��+� 4 %�&� %��" %� �%��
# �� # %�"�'� ��&�#��  � "�"� &� -� � ��%�����  � �� %� ��� %�"�  8+� "�#� � ���-(" # 
��� # � �&���#� 0��%�'� &�� &���%� � �� 2� " # ��&��� �����&� 
� �����/ �� ��9 ��-�
# �� ��� " ��  � $�� �� �%%�'� �# %��#� +��� %�#�  ��+� # &�#� 2�  � %�"� �����  �
 � 2� ��%���  � "�"� &� " � &.��&�/

�� �"+ %�� 0��#�& ����  �  "� ��+� # +���� &�"  " 2� �� # %�"�'� '+��&� �� " 
+� # # � �&���� "���& ��  � ��" � "� � "����#� ��& #���� 6%�"� �"�%��#� � � ���3��
��� # � �&���#� �%%�'�7 "��� 2� 5�4 2� %��"�# ��� ��&��(� ��" +�"��� " %�"� " 0�����"

������� ��� ���
��� �
���
� ��� ���

����� ��
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# � "�"� &�/ ��  "� " ���#�� �� ��� ��%��4  � "� 0��&���%�'� �� �����% �# %��#�  ��� 
%�"� " ��& #����" 4 0�����"� -������#� ��" +�"��� " # %�"��� "  � ��" � �&��"/

��  "�� " %%�'� -�&�" � +� " ���� �� � "�& � # ��" %��% +��" &�" � � -��� " # 
��� 2� 5 &�" �"�#�  � �� � "���%�'� # � +���� &� # %������ # � %�#�,%�#�� # -.# �/
�&+ 3�� &�" %��  � +���� &� ��"�%� ��� 9���� �� ��$����&� +��� "� � "���%�'�� 2� ��"
-� � + �&���� �����#�%�� �� ����%�'� &�� &���%� 2� �����3�� &�"  � �� 0��&���%�'� # 
�� "��� +���� &�/ � %�������%�'�  8� �# � &�"  � +���� &� ��"�%� ��� �� +���� &� # �
����� ��
��� +���#�$&� 2� 5 &�" �����3�#� +��� &�# ���  � %������ # � %�#�,%�#�� # 
-.# �/

������ �� �������� ������ �
�

�� +���� &� ��"�%� # ��� %��"�"�  �  � %������ '+��&� # � "�"� &� #���&�%� 4 #�"1
%� ��  �  � �� &+� � +� " ���#�  � �� ,$��� )/H/ �� "�"� &� #���&�%� " +� # %���%� ��3��
+�� �� "�$�� ��  %��%�'� 6 %��%�'� # � "�"� &�7�

xk+1 = fk(xk, uk, wk), k = 0, 1, ...N − 1,

#��# 

k  "  � .�#�% # �� &+� #�"%� ���

xk  "  �  "��#� # � "�"� &�  �  � ��"���� k� 4 + �� � % ��  "+�%�� #  "��#�" Sk�

uk  "  � +���& ��� # %������ + �� � %� �� ��  "+�%�� # +���& ���" # %������ Ck

4 2� 5�4 2� # � �&���� � %�#� ��"���� k/ 	 +� # � �&+�� � � "���%%��� " �  "��
" � %%�'�  � ��" ��  "��#� �%���� # � "�"� &�� # &�#� 2� +��� %�#� -���� # xk

" +� #�  � $�� uk #  ��� �� "��%��9���� # +���& ���" # %������ Uk(xk) ⊂ Ck�

wk ∈ Wk  " �� +���& ��� �� ������ %���%� ��3�#� +�� ��� #�"�����%�'� # +����1
����#�# Pw(wk|xk, uk) 2� +� # # + �# �  8+�.%���& �� # xk 4 uk + �� 2� ��
# + �# # ��" -���� " ��� ���� " # � +���& ��� �� ������ 6wk−1, ..., w07/

N  "  � 5���3��� � �A& �� #  ��+�"� � �A& �� # - % " 2� " �+��%�  � %������ ��
"�"� &�/

�#�%�����& �� �  � "�"� &� �� � �"�%��#� ��� 0��%�'� # %�"� 2� " %���%� ��3� +��
" � �#���-�  �  � �� &+��  " # %���  � %�#� ��"���� k 6 � %�#�  ��+�7  � "�"� &� ��%��� 
 � �� # � �&���#� %�"� gk(xk, uk, wk)� %��0��&��#�  � %�"� ����� %�&�

Ctotal =

N−1∑
k=0

gk(xk, uk, wk) + gN(xN ),

#��# gN(xN )  "  � %�"� # � �&���%�'� �� ��%��3��  �  "��#� ,���/

�� ������� ��� ���
��� �
���
� ��� ���
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Sistema
xk+1=fk(xk,uk,wk)

wk

xk
uk =  µ k(xk)

Controlador
µ k

:�$��� )/H� ���$��&� # � +���� &� ��"�%� # ���/ �� %�#� ��"���� k  � %�������#��
��" �-�  �  "��#� # � "�"� &� xk 4 �+��%� ��� �%%�'� uk = µk(xk) 2� # + �# # �  "��#�
� ���-(" # �� 0��%�'� µk/

�� ��"���� � # ��#� �� 0�%��� �� ������ wk  � +���� &� # &���&�3�%�'� # �� 0��%�'�
# %�"� " ����"0��&�  � �� &���&�3�%�'� # � %�"�  "+ ��#�

E{Ctotal} = E

{
N−1∑
k=0

gk(xk, uk, wk) + gN(xN )

}
.

� ,��&�" ��� 	�
#���� 
� ������
� π� � ��� " %� �%�� # 0��%��� "

π = {µ0, ..., µN−1}

#��# µk �"�$�� -���� " # � +���& ��� # %������ � ��" #�"�����"  "��#�" # � "�"� &��  "
# %��� uk = µk(xk) %�&+��(�#�" 2� µk ∈ Uk(xk) +��� ��#� xk ∈ Sk/ ��� +��.��%� # 
%������� +�� ������ ��#�%� +��� %�#�  ��+� �� �%%�'� 2� 5�4 2�  � $�� " $A�  �  "��#�
 �  � 2�  "�(  � "�"� &�  �  " &�& ���/ � #�%5�" +��.��%�" " � " # ��&��� +��.��%�"
�
����$
��/

��" +��.��%�" # %������ # � �&���� ��" �%%��� " � �+��%�� �� "�"� &� 4� +�� ������
��T�4 �  �  � %�"�  �  � 2� ("� ��%��� / 	 # ,�  � %�"�  "+ ��#� Jπ(x0) # ���
# � �&���#� +��.��%� �#&�"��� π 4 +��� ��  "��#� ���%��� x0 %�&�

Jπ(x0) = E

{
N−1∑
k=0

gk(xk, µ(xk), wk) + gN(xN )

}
,

�". +� "� ��9�  "��" %��#�%��� "  � ��9 ��-� # �� ��� %��"�"�  �  �%������ ���
+��.��%� �#&�"��� π∗ %�4� %�"�  "+ ��#� 6Jπ∗(x0)7 " �  � &.��&� # ��" %�"� "  "+ ��#�"
# � %��9���� # ��" +��.��%�" �#&�"��� "�  " # %���

Jπ∗(x0) = mı́n
π∈Π

Jπ(x0),

#��# Π  "  � %��9���� # ��#�" ��" +��.��%�" �#&�"��� "/
��" "���%�'� +���� �#� +�� �� ��� �  "� ��+� # +���� &�" " ��"�  �  � ���&�#�
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	 � π∗ =
{
µ∗

0, µ
∗
1, ..., µ

∗
N−1

}
��� +��.��%� '+��&� +���  � +���� &� ��"�%� # 

N  ��+�"/ 	�+'�$�" 2�  � "�"� &�  �  � ��"���� i +� # ��%��3��  �  "��#�
xi %�� ��� +��������#�# &�4�� 2� % ��/ 	� " %��"�# ��  � "��+���� &� # 
&���&�3��  � %�"� # � "�"� &� # "#  � ��"���� i 5�"��  � ��"���� N

E

{
N−1∑
k=i

gk(xk, uk, wk) + gN(xN)

}
,

 ����% " " %�&+� 2� �� +��.��%�
{
µ∗

i , µ
∗
i+1, ..., µ

∗
N−1

}
 " ��&��(� '+��&� +���

 " "��+���� &�/

�  "� +���%�+�� " # ��-� #�� %��& ��  � ��$����&� ��� ��"�%� +��� �� ��� �%�'� # 
+��.��%�" '+��&�"�

������
�� ��
 ��$����&� ��� ��"�%�/
,� ���
�.� �
 �+
��
� ���������� 	��� k = N, ..., 0 
� 
�� ��������� 
� ����� ��������� Jk


����
�� ����

JN(xN ) = gN(xN),

Jk(xk) = mı́n
uk∈Uk(xk)

E {gk(xk, uk, wk) + Jk+1(fk(xk, uk, wk))} , k = 0, 1, ..., N − 1. 6)/E7

/� �����&� J0(x0) ����
����� 
�������� �
 ����� &	���� 
�
 	��$
���0 J0(x0) = J∗(x0)1
��
 �+
��
� 
� Jk ���$�2� �� 
��������� ��������� &	����� µ∗

k0 ����
� µ∗
k(xk) = u∗

k 
��
�
u∗

k ������.� �
 �2����� 
� 
� 
������ 
� 
� ������&� 34156 	��� ��
� xk � k1 ��� �����0

� 	�
#���� π∗ =

{
µ∗

0, ..., µ
∗
N−1

}
�� &	����1

�+��� # � +���� &� ��"�%�� �� ��� ��&��(� %��"�# �� ����" &�# ��"  � ��" 2� ��$���
# ��" %��#�%������ " ��� ����& ��  8+� "��" �� " %�&+� / �  ��� ��" #�0 � �� " -�����1
� " �����#�" +�� �� ���� ��"����" -�&�" �  "��� ��� � "�#�"  � ��" # ��&���#�" 	��$
����

� ����.���� �������/ �"��" +���� &�" #�, � � # � &�# �� ��"�%�  � #�" �"+ %��"�

E/ �� �A& �� #  ��+�"  " ��,���� 6N → ∞7/

)/ �� "�"� &�  "  "��%��������  " # %��� ��  %��%�'� # � "�"� &��  � %�"� +��  ��+�� 4 ��"
 "��#."��%�" # � +���& ��� �� ������ �� %�&���� # ���  ��+� � ����/

��-��& �� �  � �� +��%��%� ���%� " "���"0�% �� 5�+'� "�" # �� �A& �� ��,���� #  ��+�"�
���2� +� # � "����� ��� �+��8�&�%�'� ��3����� %���#� "� �A& ��  "  � -�#�/ ���
� "+ %�� � ��  "��%������ #�# # � "�"� &��  " ��� %��#�%�'� 2� " "� � "���"0�% �  � ��
+��%��%�� � ��%��"�  " +���"��� "� ��" %���%� �."��%�" # � "�"� &� -��.�� � ���& �� /

��" +���� &�" # 5���3��� ��,���� "�� ��� � "��� " 4� 2� "� �����"�" � "����  � $��� 
 �������-�� �� &�"&� �� &+� 2�  � %��%��� # ��" +��.��%�" "� � " � � ����-�& �� " �%����/
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���  9 &+��� ��" +��.��%�" '+��&�"  � �� &�4��.� # ��" %�"�" "��  "��%�������"�  " # %��� ��
�"�%��%�'�  ���  "��#�" # � "�"� &� 4 �%%��� " �� %�&��� # ���  ��+� � ���� 6µk(xk)  "
��# + �#� �� # k7/ ��� ������ ��� +��.��%� �#&�"��� π = {µ0, µ1, ..., } +� # � +� " �1
���" A��%�& �� � ���-(" # �� 0��%�'� µ/ ���  � %���������  � �����"�" # � %�&+����&� ���
 �  � �.&�� %���#�  � �A& �� #  ��+�" �� �# � ��,����  " +�� �� $ � ��� &�" "�,"��%�#�
2�  � � 2� ��#� +��� "�" �����$�" # 5���3��� ,����/

��  8� �"�'� # � +���� &� ��"�%� # �+��&�3�%�'� �� %�"� # 5���3��� ��,���� �#&�� 
#�"�����" &�#���#�# " PHQ " $A� " 2�� �� +��&�� � ��" %�"� " � %���� +��3� %�� � "+ %�� �
��" %�"� " � ���$� +��3�� � -�% - �"�/ �� �� "��� %�"�� -�&�" � �����3��  � �����"�"  &+� �#�
+��� ��" # ��&���#�" +���� &�" # � ����� ��
��/ ���  "�� 0��&���%�'� ��" %�"� " # %�#�
 ��+� �� � � �$��� + "�  �  � %�"� $�����/ ��&� " - �� &�" �# ����  � �� 0��&���%�'�
# � +���� &�� %�#�  ��+� " -� � %��� "+��# � %�� �� ����"&�"�'� # �� %��#�� 4  � %�"� 
# %�#�  ��+� -� � - ��� # � �&���#� +�� �� #�"���"�'� �"�%��#� � �� %�#�,%�%�'� # #�%5�
%��#��/ ��#� 2� ��"%�&�" 2� �� %�#�,%�%�'� " � 5�&�$(� � +��� ��#�" ��" %��#��" # ��
" %� �%��� 5 &�" " � %%����#� ��� 0��&���%�'� %�4� 0��%�'� # %�"� $����� �� #�"%��&�� 
���" %�"� " #  ��+� # ����"/ �#�%�����& �� � #�#� �� ������� 3� # �� "��� +���� &�
%��"�# ��� &�" 2�  �  "+�%�� #  "��#�"�  �  "+�%�� # +���& ���" # %������ 4  �  "+�%��
# � +���& ��� �� ������ "�� ,����"/ �� �� " %%�'� "�$�� �� +� " ���&�" ��" +���%�+�� "
%��% +��" # �� ��� �+��%�#� � ��" +���� &�" # � %�"� & #�� �". %�&� ��" ��$����&�"
��"�%�" 2� # � �&���� ��" +��.��%�" '+��&�"/

������ �� ��������  �� ���!� "� ��

�"� ��+� # +���� &�" �� � � %�&� ��9 ��-� �� &���&�3�%�'� # � ����� ��
�� 	�� ���	�
# ,��#� %�&�

ĺım
N→∞

1

N
E

{
N−1∑
k=0

gk(xk, µk(xk), wk)

}
.

���� �� &�4��.� # ��" +���� &�" # ��� �("� �����  � %�"� & #�� # ��� # � �&���#�
+��.��%� %�&�  � %�"� & #�� '+��&�  " ��# + �#� �� # �  "��#� ���%���/ �"�� " +� # - �
"� " %��"�# �� 2�  � %�"� & #�� # ��� +��.��%� � T 9�  � %�"� # #�%5� +��.��%� � ���$�
+��3�/ ��" %�"� " � %���� +��3� 6#����� ��" +��& ��"  ��+�" # � "�"� &�7 �� �0 %��� ��
%�"� & #�� +��  ��+� 4� 2� " $A� �� �# N � ��,����  "��" %�"� " �� �# � � % ��/

	� �� � +���  � +���� &� ��� ��"�%� " � %����' �� +���%�+�� # �+��&���#�# +���
# � �&����  � ��$����&� 2� �� � "� �- � +���  � +���� &� # � %�"� & #�� " � %��� � ��
2� " # ��&��� �� ������&� 
� ��

��� +���  � +���� &� # � %�"� & #��/ ��%5�  %��%�'�
 " ��� %��#�%�'� � % "���� 4 "�,%� �� +��� 2� ��� +��.��%� " � '+��&� �/ ����  8+� "��
��  %��%�'� # C ��&�� -�&�" � �"�� ��� ����%�'� &�" �# %��#� +��� �� "�"� &� %��
�� �A& �� #  "��#�" ,����/ �  "� ��+� # &�# �� " � # ��&��� ��
��� 
� ���7��
������
�
�/

6*��� �$� ��
�

�� ����� 
� ��
����!� �� 
� ������!� �� 6�

��� "��� �
 "���
��� ��
 ���
� �����
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����

� ����&�" %�� S = 1, ..., n ��  "+�%�� #  "��#�"/ ���� %�#�  "��#� i ∈ S 4 +��� %�#�
+���& ��� # %������ u ∈ C 5�4 # ,��#�" �� %��9���� # +��������#�# " # ����"�%�'�
pij(u), j = 1, ..., n # ,��#�" %�&�

pij = P (xk+1 = j|xk = i, uk = u).

��� ������ pij(u)  " �� +��������#�# 2�  �  "��#� "�$�� �� " � j #�#� 2�  �  "��#� �%����
 " i 4 " 5� �+��%�#� �� �%%�'� u/ ��" +��������#�# " # ����"�%�'� +� # � " � %���%�#�"
� +����� � �� � %��%����" � +����� # ��  %��%�'� # � "�"� &� xk+1 = fk(xk, uk, wk) 4 # 
�� #�"�����%�'� # +��������#�# P (w|x, u)/ 	�+��#� &�" ��&��(� 2�  � %�"� +��  ��+�
" %��� "+��# %��  � %�"�  "+ ��#� +��  ��+��  ��&����#� #  "� &�#� "� # + �# �%��
%��  � +���& ��� �� ������ w/ �" # %���  � %�"� gk(xk, uk, wk) +�"� � " � gk(xk, uk)/

� ,��&�" λ∗ %�&�  � %�"� & #�� +��  ��+� '+��&� 62�  " ��# + �#� �� # �  "��#�
���%���7� 4 h∗(i) − h∗(j) %�&�  � %�"� #�0 � �%��� � ���$� +��3� 2�  8+� "� �� #�0 � �%��
# � %�"� ����� # � "�"� &� +��� ��"  "��#�" # +����#� i� j� � ���$� +��3�/

��� ��#�  ���� ��  %��%�'� # C ��&�� +���  � +���� &� # � %�"� & #�� " +� # 
 8+� "�� %�&�

λ∗ + h∗(i) = mı́n
u∈U(i)

[
g(i, u) +

n∑
j=1

pij(u)h∗(j)

]
, i = 1, ..., n 6)/)7

#��# h(i), i = 1, ...n,  " �� %��9���� #  "%���� " 2� � +� " ����  � %�"� #�0 � �%���
��#�%�#� ��� ����& �� /

��  %��%�'� # C ��&�� - ��,%� PHQ�

E/ �� %�"� & #�� '+��&� λ∗  "  � &�"&� +��� ��#�" ��"  "��#�" ���%��� " 4 9���� %��
��$A� - %��� h∗ = {h∗(1), ..., h∗(n)} "���"0�% ��  %��%�'� # C ��&�� 6)/)7/ �#�%��1
���& �� � "� ��� +��.��%�  "��%������� µ(i) ���� �  � &.��&�  � ��  %��%�'� 6)/)7
+��� ��#� i� �� +��.��%� µ  " '+��&�/ �# &�"� # ��#�" ��" - %��� " h∗ 2� "���"0�% �
 "��  %��%�'�� 5�4 �� - %��� A��%� +���  � 2� h∗(n) = 0/

)/ 	� ��  "%���� λ 4 �� - %��� h = {h(1), ..., h(n)} "���"0�% � ��  %��%�'� # C ��&���
 ����% " λ  "  � %�"� & #�� +��  ��+� '+��&� +��� %���2�� �  "��#� ���%���/

H/ ��#� ��� +��.��%�  "��%������� µ 2� #� ��$�� � �� %�"� & #�� +��  ��+� λµ� 5�4
�� A��%� - %��� hµ = {hµ(1), ..., hµ(n)} ��� 2� hµ(n) = 0 4

λµ + hµ(i) = g(i, µ(i)) +

n∑
j=1

pij(µ(i))hµ(j), i = 1, ..., n.

� +����� # ��  %��%�'� # C ��&���  � +��% #�&� ��� &�" " �%���� +��� ����#��  � +��1
�� &� # � %�"� & #�� %��"�"�  � ��  8� �"�'� # � ��$����&� ��� ��"�%� �  "� +���� &�/
�� � "����#�  " �� �� -� ��$����&� # ��&���#� �������&� �� �
 ��
��/

�� ������� ��� ���
��� �
���
� ��� ���

�����
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������� �� ����� ���� ������� �� �����
��� �
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� ���
����

������
�� ��� ��$����&� # �� ��%�'�  �  � -����1
8���
� 
� �������&�9

Jk+1(i) = mı́n
u∈U(i)

[
g(i, u) +

n∑
j=1

pij(u)Jk(j)

]
, i = 1, ..., n. 6)/H7

� � 	����� 
� ��� �����&� 
� ����� �������
 ��$������� J00 ��
��
�� 
�� ������ 
� 
�� ���	��
7%2����� Jk(i)0 � �
 ����� ��
�� &	���� ����

ĺım
k→∞

Jk(i)

k
= λ∗.

�� ��$����&� # �� ��%�'�  �  � -���� � + "�� # " � " �%���� 4 "�&+� �� � #�" �&+��1
���� " # "- ���9�"/ �� +��& ��  " 2� Jk +� # #�- �$�� � ∞ ' −∞ %�� �� 2�  � %��%���
# ĺımk→∞

Jk(i)
k

+� # " � +���� &���%�/ �� " $��#� ��$��  "� ��$����&� �� +��+��%����
��" -���� " # � %�"� #�0 � �%��� h∗ ��" %��� " "�� � % "����" +��� # � �&���� �� +��.��%�
'+��&�/ ���� "��- ���� �&��" #�,%����# " " +� # �����3��  � ��$����&� # ��&���#� # 
�������&� �� �
 ��
�� ��
�����/

������
�� ��� ��$����&� # �� ��%�'�  �  � -���� � ����-�/
 ��+ $���
� �� 
� �������&�

hk(i) = Jk(i) − Jk(s), i = 1, ..., n.


��
� s �� �� ����
� �'� ���
-�����1 ,���������
� 341:6 �� 
� ������&� �������� 
� �������&�
�� 	��
� �(	����� ����

hk+1(i) = Jk+1(i) − Jk+1(s) = mı́n
u∈U(i)

[
g(i, u) +

n∑
j=1

pij(u)Jk(j)

]

− mı́n
u∈U(s)

[
g(s, u) +

n∑
j=1

psj(u)Jk(j)

]
,

� ����
� 
� ��
���&� hk(j) = Jk(j) − Jk(s) �� �$�����

hk+1(i) = Jk+1(i) − Jk+1(s) = mı́n
u∈U(i)

[
g(i, u) +

n∑
j=1

pij(u)hk(j)

]

− mı́n
u∈U(s)

[
g(s, u) +

n∑
j=1

psj(u)hk(j)

]
. 6)/I7

����#�  � ��$����&�  8+� "�#� +�� 6)/I7 %��- �$ � �� # � �&���#� - %��� h " %�&+� 
2� 

λ + h(i) = mı́n
u∈U(i)

[
g(i, u) +

n∑
j=1

pij(u)h(j)

]
,
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#��# 

λ = mı́n
u∈U(s)

[
g(s, u) +

n∑
j=1

psj(u)h(j)

]
,

%�� �� 2� +�� ��" +��+� #�# " # ��  %��%�'� # C ��&�� λ  "  � %�"� & #�� +��  ��+�
'+��&� +��� %���2�� �  "��#� ���%���� 4 h  "  � - %��� �"�%��#� # %�"� #�0 � �%���/ ���  �
-���� # � %�"� & #�� '+��&� ��� ��#� λ∗ 4  � - %��� h∗ " # � �&��� �� +��.��%�  "��%�������
'+��&� � +����� # ��  %��%�'� # � C ��&��/

�� ��$����&� ��� �����-� � ��" #�" ��� ���� "  "  � ��$����&� # �������&� �� 
� 	�
#����/
�"� ��$����&� +��� # ��� +��.��%�  "��%������� ���%���� 4 +�� & #�� # �� +��% "� # 
&���&�3�%�'� " -�� ��� �� �#� +��.��%�" & 9�� " 5�"�� 2� " %��- �$ � �� +��.��%�
'+��&�/

������
�� ��# ��$����&� # �� ��%�'�  � �� +��.��%�/
,� 	���� ��� 
��������
� 	�
#���� ������������ ���
-�����0 
� ���
 �� ���
;�0 �� 
���� ��
��
��
� �
 ����� ��
�� 	�� ���	� λk

µ � hk
µ(i) -�� ����������

λk
µ + hk

µ(i) = g(i, µk(i)) +

n∑
j=1

pij(µ
k(i))hk

µ(j), i = 1, ..., n.

,� ���
�.� ��� & 9��� # �� +��.��%�0 �� 
����0 �� ��
��
� ��� ����� 	�
#���� ������������
µk+1 ��
 -��

g(i, µk+1(i)) +
n∑

j=1

pij(µ
k+1(i))hk

µ(j)

= mı́n
u∈U(i)

[
g(i, u) +

n∑
j=1

pij(u)hk
µ(j)

]
.

,� λk+1
µ = λk

µ � hk+1
µ (i) = hk

µ(i) 	��� ��
� i �
 �
������� �������1

��� - ���9� #  "� ��$����&�  " 2� + �&�� ��� � � %�&� � "����#� ��� �& #�� ��" %�"� "
& #��" λk

µ # ��" +��.��%�" 2� �+�� % � #����� "�  9 %�%�'�/
�� �"+ %�� �&+������ # ��" ��$����&�" +� " ���#�"  �  "�� " %%�'�  " �� %��- �$ �%��

� �� � "����#�/ ��" %��#�%��� " # %��- �$ �%�� # ��� � ���� ��$����&� �� "�� ��" &�"&�"�
"� �#� &�" � "���%��-�  � ��$����&� # �� ��%�'�  �  � -���� �/ �"� 0�%��� 9���� � ����" %�&�
�� - ��%�#�# # %��- �$ �%�� � �� %��$� %�&+���%����� � 2� ��#� +��  � ��$����&� 5�� # 
" � %��"�# ��#�" � �� 5��� #  � $�� ��� � ���� +��� � "��- � �� # � �&���#� +���� &�/
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&��� ��� �"!�����

��  "� %�+.���� " # "%��� � ��" #�"�����" &�# ��" �"�#�" +��� %���%� ��3��  � %�&+��1
��&� ��� # � "�"� &� # ����"&�"�'� # -.# � �����3��#� A��%�& �� %�#�,%�%�'�
�����%��#��/ �� +��& � ��$��� " +� " ���  � &�# �� # 0� �� %�4� ��9 ��-�  " %���%1
� ��3�� ��" %��-�" # ��"�1#�"���"�'� # ��� " %� �%�� # -.# � %�#�,%�#�  � &�#� �����
6&�# �� # 0� �� �����7� � %�������%�'� "  "+ %�,%�  � &�# �� # %���� �#�+��#� +���
 � "�"� &� ��9�  "��#��� 4 +�� A���&� " # "%���  � &�# �� +��+� "�� +��� �� #�"���"�'�
�%�"����#� +�� ��" %��#��" + �#�#�"/

�����  � &�# �� # 0� �� %�&�  � # #�"���"�'� �"�%��#� � ��" %��#��" + �#�#�" " 
5�� # "�������#� � �� �#�  � %� ��� ��" � 2��"���" �&+� "��" +�� �� ���� # &�#� 2� 
�� 0��&���%�'� &�� &���%� # �� #���&�%� # ��#�  � "�"� &� %��� "+��#� � �� +���� &�
# ���/ �� %�&���� +��� �� %���%� ��3�%�'� # � %���� " 5�  � $�#� �� &�# �� +��+� "��
 � �� ��� ������ PGIQ �&+���& �� �"�#� +���  � ��+� # %���� 2�  "��&�" %��"�# ���#�/
��%5� &�# ��  "�� ��"�#�  � %�# ��" # ���=�- %�� �� 2� " �#�+�� + �0 %��& �� � ��
0��&���%�'� # � +���� &� ���/

&��� ��"�#� "� #� 0!���� "� �%"��

�� �"� # ��" �(%��%�" # ��� � 2�� � 2� " &�# �  � %�&+����&� ��� # � "�"� &�
%�&� ��� %�# �� # ���=�- %�������#��  " # %��� %�&� �� "�"� &�  "��%�"��%�  �  � 2� ��"
+��������#�# " #  "��#� # � "�"� &� +���  � ��"���� k +1 "'�� # + �# � # �  "��#�  �  �
��"���� k 4 # � +���& ��� # %������ uk/ C�"%��#� %�&+���  "��" %��#�%��� "� +��+�� &�"
�� "�$�� ��  "���%���� $ �(��%� +��� �� &�# �� # �� 0� �� # -.# �/

�� +��& � ��$��� 5�4 2� �# ���,%�� �� +���& ��� %���%� �."��%� # %�#� %��#���
2� # ��&���� &�" ���	
�'�
�
 
� ���
��� sk� 4 2� # � #�"0����� # ��" +��+� #�# "
"�$�� �� "�

)K
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E/ sk # � �&��� ��" %���%� �."��%�" # ��"�1#�"���"�'� # � %��#���  " # %��� %��  � -����
# sk  " +�"��� # � �&����  � �A& �� # ���"� rk� 4 �� #�"���"�'�� dk� � "������ ��
%�#�,%��  � %��#�� %�� %���2�� � %�����,%�#�� qk� # �%� �#� � %� ���" � ��%��� "
0��%����� "�

rk = fr(sk, qk)

dk = fd(sk, qk).

)/ �� " %� �%�� {sk} +� # " � &�# ��#� %�&� ��� %�# �� # ���=�- %�������#��
%���%� ��3�#� +�� ��� 0��%�'� # +��������#�# # ����"�%�'� P [sk+1|sk, qk]� #��# 
 � +���& ��� # %������ �� %��"����4  � %�����,%�#�� �+��%�#� qk/ �'� " 2�  �
 � %�"� # %�#�,%�%�'� ��� �%��#�� �� %�&+� 9�#�# # � %��#�� k + 1� sk+1� # + �# 
# � -���� # �� %�&+� 9�#�# # � %��#�� ��� ����� sk� 4 # � -���� # � %�����,%�#��
�+��%�#� �� %��#�� k� qk� # ��#� � �� # + �# �%��  ��� %��#��"/ �� %�&���� "� "'��
" %��"�# �� %�#�,%�%�'� �����%��#�� �� # + �# �%�� # sk+1 %��  � +���& ��� # 
%������ qk # "�+�� % � # &�#� 2� P [sk+1|sk, qk] = P [sk+1|sk]/

�"��" +��+� #�# " #�� ��$�� � #�" +��� " #�0 � �%��#�" # � &�# �� # �� 0� �� # -.# ��

E/ ��
�
� 
� ���
��  �%��$�#� # &�# ��� ��" %���%� �."��%�" # ��"�1#�"���"�'� � ��- �
# %��#�� � ���-(" # �� # ,��%�'� # ��" � ��%��� " 0��%����� " fr 4 fd/

)/ ��
�
� 
� ���������  �%��$�#� # � &�# ��#� # ��  -���%�'� # #�%5�" %���%� �."��1
%�" # �� %��#�� � ����/

	�$�� �#� ��  "���%���� # "%���� 5 &�" # "�������#� �� &�# �� # 0� ��  � ��" � & 1
#�#�" # ��"�1#�"���"�'� ��� ��#�" � +����� # �� %�#�,%�#�� S/)GH� �"��#� %�&� &(���%�
# �� #�"���"�'�  � -���� # �, � 4 � �� �#� %�&� +�"��� " %�����,%�#�� "  � %��9���� # 
%�����,%�#�� " # � %�#�,%�#�� S/)GH/ �� ��"���� � ����� ��  "���%���� $ � ��� # "%���� ��1
� ����& �� � %�&� ��" � ��%��� " 2� # "%����� &�" � %�������%�'� +� # � �+��%��" � ����"
��+�" # %�#�,%�#�� " 2� "�$�� ��  "2� &� # %�#�,%�%�'� "�&���� 6S/)GE� ����E1)1I�
 �%/7/

#����� "� ���  � �$� ��

�� +���� &� # ��  "��&�%�'� # ��" %���%� �."��%�" # ��"�1#�"���"�'� # ��� # � �1
&���#� ���#�# # %�#�,%�%�'� 6%��#��� $��+� # ���2� " 1��C1� � &�%�����2� 7 " 5�
�����#�  � &�%5�" �����9�" � ��%����#�" %��  � %������ # � �($�& � ������� # ��" %�#�,1
%�#�� "/ ��$���" # ��" "���%��� " +��+� "��" &�# ��� ��" %��-�" # ��"�1#�"���"�'� +��
& #�� #  %��%��� " # #�- �"�" ��+�"� %�&�  8+�� �%��� "� PE)Q� � +����'&�%�" PJQ� PHEQ�
PFEQ/ ��" +���& ���" # #�%5�"  %��%��� " " %��%����  � ��" � %��9����" # & #�#�"
� �� " ��� ��#�" %�� ��" %�#�,%�#�� " # �����9�/ �� &�4�� ��%��- �� �� #  "��" &�# 1
��"  " 2� �� +� %�"�'� 2� +��+��%����� 4 �� %��$� %�&+���%����� 2� � 2�� � � # + �# 
0� �� & �� # � ��+� # %��#�� 2� " 2�� � &�# ��� 6%��#�� �� ��  �%/7 4 # �� %����#�#
# #���" �"�#�"  �  � +��% "� # �9�"� # ��" %��-�"/ �� PH)Q " +��+�� ��� ��� �����-�
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��"�#�  � �(%��%�" # ��� �+���%�'�  � �� ��� ��� # ��& ���� �� +� %�"�'� # � &�# ��/ ��
�� +��& � +�"� " � ���3� �� & #�#� # ��" -���� " # ��"�1#�"���"�'� +��� %� ���" +����" # 
%�#� %��-� 6 " # %�� +��� %� ���" %�����,%�#�� "7 4 � ���-(" # �(%��%�" # ��� �+���%�'�
"  "��&�� ��" � "���� " -���� " # ��"�1#�"���"�'�/

����" ����� " +��+�� � 0'�&���" 2�  "��&�� ��" -���� " # ��"�1#�"���"�'�  � ��" 
� +���& ���" & #�#�" "��� ��" %��#��" # �� " %� �%�� %�&� �� -�����3�� � & #�#�" "�1
�� ��" %� ,%� �� " # �� ��� %�&�  � +��% ���9 # %� ,%� �� " ����"/ �". +��  9 &+���
PIKQ 4 PFGQ +��+�� � &�# ��" +��� %��%����  � �A& �� # ���"  � ��" � �� -�����3� # 
��" &�%�����2� " 4 �� %�����,%�#�� �+��%�#�� &� ����" 2� +��� �� #�"���"�'� ��" &�# ��"
�����3�� ��� "'��  � %�����,%�#�� �+��%�#�/ � � &�"&� &�#��  � PELQ " +��+�� �� &�# ��
# ��"�1#�"���"�'� ��"�#�  � �� -�����3� # ��" %��#��" 4  � ��" �� %�����,%�#�� �+��%�#�/
��� ���� ��#��  �  � #�&���� %�&+��&�#� P))Q +��+�� �� &�# �� # ��"�1#�"���"�'� %�&�
0��%�'� # � �A& �� # %� ,%� �� " # �� ��� #�"�����" # % �� 4 # "� 5�"��$��&�� &� �1
���" 2�  � P)*Q " �����3�  � +��% ���9 # % ��" # ��" %� ,%� �� " ���/ ��� �� $ � ����
��" &�# ��" +��+� "��"  � ��#�"  "��" �����9�" %���� � � ��� " �� # %� ,%� �� " %�4�
+��+'"���  " %��� $��  � # "�9�"�  8�"� ��  ��� ��" "�+�"�%��� " � '��%�" 4  � %�&+����1
&� ��� � �� # ��" %�#�,%�#�� "/ ��" -���� " #  "��" %� ,%� �� " "  "��&��  � ��" ��
��+� # %�#�,%�#�� 4D� � �� " %� �%�� � %�#�,%��/

� ���� # � &�# �� # 0� �� 2� �����3�� &�"  �  "� �����9�� +��+�� &�" �� &�# ��
# %��#�� 2�  "��& ��" -���� " # ��"�1#�"���"�'� � +����� # & #�#�" � �� " �� �$��� 2� 
 � PH)Q� + �� �� "��� ��9 ��-� %��"�"����  � " � %�+�% " #  "��&�� ��#�" ��" +����" # 
��" %��-�" %��� "+��#� �� " � �� %��#�� �"��#� ��� A��%� & #�#� "���  � %�#�,%�#���
�� %�&+� 9�#�# # %��#��/ �  "� &�#��  � &�# �� # " %� �%�� ��� "'�� � 2� ����  �
&�# ��#� # �� %�&+� 9�#�# # �� %��#�� � ���� +��� %���%� ��3�� �� -����%�'� # ��" %�1
��%� �."��%� # ��"�1#�"���"�'� � �� ���$� # �� " %� �%��/ M � &�" %�&� " +� # %��" $���
 8+�����#� �� � ��%�'�  8�"� ��  ��� ��" -���� " # ��"�1#�"���"�'� # #�"�����" %��#��"/

#����� ��$����%��  �� �� ���  � �$� ��

	 �� rk(qk) 4 dk(qk) ��" -���� " # � �A& �� # ���" 4 # #�"���"�'� 6-������ " # ��"�1
#�"���"�'�7 # � %��#�� k %�#�,%�#� �"��#�  � %�����,%�#�� qk/ �� +��& �� +��� # � &�# ��
+��+� "�� " -� �  �%��$�� # &�# ��� �� � ��%�'�  8�"� ��  ��� ��" -������ " rk(qk)
4 rk(q

′
k)� 4  ��� dk(qk) 4 dk(q

′
k)/ �  "� &�#�� � +����� # � -���� # � �A& �� # ���"

6#�"���"�'�7 # �� # � �&���#� ���������
�� 
� ���������� 6qr +���  � �A& �� # ���" 4 qd

+��� �� #�"���"�'�7�  � &�# �� + �&����� +� # %��  � -���� # � �A& �� # ���" 6#�"���"�'�7
#  " %��#�� %�#�,%�#� %�� %���2�� � ���� %�����,%�#�� qk/ :��&��& �� �  � &�# ��
%���%� ��3� � ��%��� " # �� 0��&�

rk(qk) = fr(rk(qr), qr, qk),

dk(qk) = fd(dk(qd), qd, qk).

�� �� ,$��� H/E " +� # - � ��  9 &+�� # �� � ��%�'�  8�"� ��  ���  "��" +�� 9�" # 
-������ "/ ��  ��� " 5�� � +� " ���#� +�� 9�" # -���� " 6rk(2)� rk(qk)) 4 6dk(31)�dk(qk))
+��� #�"�����" -���� " # � %�����,%�#�� qk 4 +��� ��#�" ��" %��#��" # �� " %� �%�� >"�� ��?/
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:�$��� H/E� ��� 9�" # -������ " 6�7 6rk(2)� rk(qk)) 4 6�7 6dk(31)� dk(qk)) � "������ " # ��
%�#�,%�%�'� # �� " %� �%�� >"�� ��?/ 	 5�� �"�#� ��" -���� " # qr = 2 4 qd = 31 %�&�
%�����,%�#�� " # � 0 � �%�� # ��"� 4 #�"���"�'� � "+ %��-�& �� � &� ����" 2� " 5��
%��"�# ��#� -����" -���� " # qk/

�� �"+ %�� # ��" $��,%�" "�$� �  � �"� # &�# ��" ��� �� " +��� %���%� ��3�� ��"
� ��%��� " 0��%����� " fr 4 fd � ���-(" # ��"  %��%��� "�

rk(qk) = a(qk, qr) rk(qr),

dk(qk) = b(qk, qd) dk(qd). 6H/E7

%��0��&��#� �� 2� -�&�" � # ��&���� ��# �� # ���#�� 
���� 6��
����7/
���� - ��,%�� �� -���# 3 #  "�� �+��8�&�%�'�� 5 &�" %��%���#�  � %� ,%� �� # # 1

� �&���%�'� ρ2 %��� "+��#� �� � +�� 9�" # -������ " # ��"�1#�"���"�'�/ ��" � "����#�"
" 5�� � +� " ���#�  � �� ,$��� H/)/ 	 +� # ��" �-�� 2�  � -���� # ρ2  " % �%��� �
�� ���#�# %���#�  � %�����,%�#�� qk  "�� +�'8�&� �� %�����,%�#�� # � 0 � �%�� qr � qd

6��-��& �� %���#� qk = qr  �  � %�"� # �� ��"�� � qk = qd  �  � %�"� # �� #�"���"�'��
ρ2 = 17/ 	 $A� " �� 9�  � -���� # qk # qr � qd  � %� ,%� �� # # � �&���%�'� #�"&���4 
��#�%��#� ��� & ��� %��� ��%�'�  ���  "��" +�� 9�" # -������ "/ ��&��(� " +� # ��1
" �-�� 2� ��" -������ " # #�"���"�'� %�� %�����,%�#�� " �� 9�#�"  ��� ". "�� ��" 2� 
���� � � -���� " # ρ2 & ��� "/

�� +� %�"�'� 2� " +� # ��� � � %�� �� # � �&���#� &�# ��  "�� #�� %��& �� � 1
��%����#� %��  � $��#� # �# %��%�'� # � %�&+����&� ��� # ,��#� +��  � &�# ���  �  "� 
%�"� �� %�&+����&� ��� ��� ��� %��  � %�&+����&� ��� # ��" #���" � �� "/ 	 +� # ��1
" �-��  � �� ,$��� H/) 2�  "�� �# %��%�'�� %���%� ��3�#�  � �� "��� %�"� � ���-(" # �
%� ,%� �� # # � �&���%�'�� # + �# # ��" %�����,%�#�� " # � 0 � �%��  � $�#�" qr 4
qd/ ����  "��#���  "�  0 %��� " 5� & #�#� �� +� %�"�'� # � &�# �� +��+� "�� "��� ��"
" %� �%��" # +�� �� >&��5 �1#��$5� �?� >�=�4�? 4 >"�� ��?/ ���� %�#� " %� �%�� " 5��
%��%���#� #�- �"�" ��"���%��%��� " # � &�# ��� %�4�" %� ,%� �� " a 4 b # ��"  %��%��1
� " 6H/E7 " 5�� %��%���#� +�� �9�"� # &.��&�" %��#��#�"� �"��#� ��" -���� " # rk(qk)
4 dk(qk) +��� ��#�" ��" %�����,%�#�� " 4 +��� ��#�" ��" %��#��" # �� " %� �%��/ 	 5�
�"�#� �� -���� #�"����� # � %�����,%�#�� # � 0 � �%�� +��� %�#� ��"���%��%�'� # � &�# ��/
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:�$��� H/)� �� ,%� �� # # � �&���%�'� # +�� 9�" # -������ " # 6�7 6rk(qr)� rk(qk)) 4
6�7 6dk(qd)� dk(qk)) +��� ��#�" ��" %�����,%�#�� " #�"+����� "/

�� +� %�"�'� # ��� # � �&���#� ��"���%��%�'� " 5� %���%� ��3�#� � ���-(" # � ����� ��%

����� 6Rerr7 # ,��#� %�&��

Rerr =
|valorVestimado − valorVoriginal|

valorVoriginal

�� ,$��� H/H &� "���  �  ���� � ����-� & #�� 4 &�8�&� %�& ��#� +�� %�#� ��� # ��"
��"���%��%��� " # � &�# ��/ ��  ��� " +� # ��" �-�� 2� �� -����%�'� # �� +� %�"�'� %��
 � -���� # � %�����,%�#�� # � 0 � �%��  " +�%� "�$��,%���-� ����� +��� �� ��"� %�&� +���
�� #�"���"�'�� 4� 2�  � ��- � #  ���� ��� ��#�  " "�&���� +��� ��#�" ��" %�����,%�#�� " # 
� 0 � �%��/ ��� ������ " +� # %��%���� 2� �� " � %%�'� # ��" %�����,%�#�� " # � 0 � �%��
��  " �� 0�%��� # � �&�����  � �� +� %�"�'� ,��� # � &�# ��/

��� ���� ��#�� +��� "�����  � $��#� # +� %�"�'� +��+��%����#� 5 &�" %�&+���#�  �
&�# �� +��+� "�� %�� ��" &(��#�" +� " ���#�"  � PJQPE)QPH)QPFEQ/ �"��" &�# ��" +��+�1
� � #�- �"�" +��% #�&� ���" +���  "��&�� ��" -���� " # ��"�1#�"���"�'� # �� " %� �%��/
�� +����%����� PE)Q +��+�� �� &�# ��  8+�� �%��� 6�8+7 2�  "��&�  � �A& �� # ���"
$ � ��#�  � 0��%�'� # � %�����,%�#�� �+��%�#� # �� "�$�� �� 0��&��

r = α +
β

qγ
,

#��# r  "  � �A& �� # ���"� q  "  � %�����,%�#�� �+��%�#� 4 α� β 4 γ "�� ��" +���& ���"
# � &�# �� � �9�"���/ �� %�&����  � PJQ 4 PFEQ " +��+�� � &�# ��" +����'&�%�" 6���7
+��� ��" %���%� �."��%�" # ��"�1#�"���"�'� # �� "�$�� �� &�� ���

r = a0 + a1q
−1 + a2q

−2

d = b0 + b1q + b2q
2,
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#��# r  "  � �A& �� # ���"� d  " �� #�"���"�'�� q  "  � %�����,%�#�� �+��%�#�� 4 ai� bi "��
��" +���& ���" # � &�# �� � �9�"���/ ��� A���&��  � PH)Q ��" -���� " # ��"�1#�"���"�'� " 
 "��&�� �"��#� ��� �+���%�'� %A��%� 6
���7 � +����� # -����" & #�#�" # ��"�1#�"���"�'�
6+����" # %������7 � ���3�#�" "���  � %��#��/
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:�$��� H/H� ����� � ����-� & #�� 4 &�8�&� # � &�# �� # %��#�� �����  � %����� � 6�7
��"� 4 6�7 #�"���"�'�/ 	 5�� %��%���#� �"��#� %�&� %�����,%�#�� " # � 0 � �%�� 6qr 4 qd7
%�#� ��� # ��" %�����,%�#�� " #�"+����� " # � %�#�,%�#��/

�� �� %�&+���%�'� � ���3�#�� ��" +���& ���" # ��" &�# ��" �8+ 4 ��� " 5�� %��%���#�
+��� %�#� %��#�� +�� & #�� # � �9�"� # %��-�" �"��#� ��#�" ��" -���� " # ��"�1#�"���"�'�
# #�%5� %��#��/ ��� � "+ %�� �� &�# �� 
���� " 5�� & #�#� "��� %�#� %��#�� �%5�
+����" # %������ �� �$��� 2�  � PH)Q/ �� %����� � �� "��� &�# ��� ��" %� ,%� �� " # 
��"  %��%��� " 6H/E7 " 5�� %��%���#� +�� �9�"� # &.��&�" %��#��#�" � +����� # ��"
-���� " # ��"� 4 #�"���"�'� # ��#�" ��" %��#��" # �� " %� �%��/ �# &�"� 5 &�"  � $�#�
�2� ���" %�����,%�#�� " # � 0 � �%�� 2� 5�� +��+��%����#�  � & 9�� 6+7 4  � + �� 6−7
� "����#�  � �(�&���" # �  ���� � ����-� & #�� # %�#� " %� �%��/ �� ����� H/E &� "��� ��
%�&+�����-�/

	 +� # ��" �-�� 2�  � &�# �� +��+� "�� ���� � ��" & 9�� " � "����#�"  � %����� �
��  "��&�%�'� # �� ��"�� &� ����" 2�  � &(��#� # �� ��� �+���%�'� %A��%� +�� % " �  �
&�" �+��+��#� +��� �� #�"���"�'�/ �� ��"���� �  � &�# �� +��+� "�� ��&��(� +��+��%����
 "��&�%��� " ��3����� & �� +� %�"�" 6Rerr & #�� < 2 %7� %�� �� - ���9� �#�%����� # 
2� �� %�&+� 9�#�# %�&+���%����� � 2� ��#� +���  � %��%��� # ��  "��&�%�'�  � #�� %��
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6"�+��� �#� 2� ��" %� ,%� �� " # ��"  %��%��� " 6H/E7 4� 5�� "�#� %��%���#�"7  " "�$��,1
%���-�& �� & ��� 2� ��  8�$�#�  �  � &(��#� # �� ��� �+���%�'� %A��%�/

�������� Rerr �	
	 rk(qk) Rerr �	
	 dk(qk)
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 ��! ���� ����" "��� ��"�

�! ��
	 �+� "��# �qr = 12� ��#� �qr = 12� "��� �qd = 23� ���# �qd = 23�
�! ��
	 �−� "��� �qr = 2� ���� �qr = 2� �����qd = 2� �����qd = 2�

6�7

�	$�%�� Rerr �	
	 rk(qk) Rerr �	
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 ��! ���� ��#� "��� ����

�! ��
	 �+� "��� �qr = 2� ���� �qr = 2� ���� �qd = 15� ���� �qd = 15�
�! ��
	 �−� "��� �qr = 23� ���" �qr = 23� �����qd = 4� �����qd = 4�

6�7

����&�
� Rerr �	
	 rk(qk) Rerr �	
	 dk(qk)
��
��� �

�
 ��
�� �� � �

�
 �	�� �� � �

�
 ��
�� �� � �

�
 �	�� �� �

��� ���� ���� � �

��� ���" ��"� ���� �����

 ��! ���� ���" "��� ��#�

�! ��
	 �+� "��� �qr = 14� ��"� �qr = 14� ���# �qd = 20� ���� �qd = 20�
�! ��
	 �−� ��"� �qr = 2� ���� �qr = 2� �����qd = 3� ����qd = 3�

6%7

����� H/E� ��&+�����-� # �� +� %�"�'� # � &�# �� +��+� "�� 6��
����7�  8+�� �%���
6�8+7� +����'&�%� 6���7 4 �+��8�&�%�'� +�� ��� �+���%�'� %A��%� 6
���7� � ���-(" # Rerr

& #�� 4 &�8�&�/ ��" #���" " 5�� %��%���#� "��� �� " " %� �%��" #�"�����"� 6�7 >"�� ��?�
6�7 >�=�4�? 4 6%7 >&��5 �1#��$5� �?/ ���� ��
���� " 5��  � $�#� �2� ���" %�����,%�#�� "
# � 0 � �%�� 2� 5�� +��+��%����#�  � & 9�� 6+7 4  � + �� 6−7 ��- � # +� %�"�'�/

	�+��� �#� 2� " %���% � ��" %� ,%� �� " # ��"  %��%��� " 6H/E7 +��� ��� " %� �%�� �
��+� # " %� �%��  "+ %.,%��  � &�# ��#� # �� -����%�'� %��  � �� &+� # ��" %���%� �."��%�"
# ��"�1#�"���"�'� "���& �� � 2�� �  �  "��#�� # ��  -���%�'� � &+���� # ��" -������ "
rk(qr) 4 dk(qd)/ 	��  &���$��  "��" -������ " ��9� ���" # � �&���#�" %��#�%��� " 2� 
- � &�" � %�������%�'� +� " ���� �� ���� $��#� # %��� ��%�'� 2� -� � + �&����  8+� "��
���  � 0��%�'� # �� ����/ �� �� ,$��� H/I " 5� � +� " ���#�  � -���� # � %� ,%� �� 
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# # � �&���%�'� %��� "+��#� �� � +�� 9�" # -������ " 6rk(qr)� dk(qd)7 +��� ��#�" ��"
+�"��� " -���� " # ��" %�����,%�#�� " # � 0 � �%��� qr� qd/
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:�$��� H/I� �� ,%� �� # # � �&���%�'� %��� "+��#� �� � +�� 9�" # -������ "
6rk(qr)� dk(qd)7 +��� ��#�" ��" +�"��� " -���� " # ��" %�����,%�#�� " # � 0 � �%��� qr� qd/
��" -������ " rk(qr) 4 dk(qd) " 5�� & #�#� "��� �� " %� �%�� >"�� ��?/

	 +� # ��" �-�� 2� �� %��� ��%�'�  ���  "��" -������ "  " &�4�� +��� -���� " ��9�"
# qr 4 -���� " ����" # qd/ �"�� ��#�%� 2� � #�#�" #�" %��#��" m 4 n� "� �� %�#�,%�%�'�
# � %��#�� m �"��#� �� %�����,%�#�� ,�� 6-���� # qr ��9�7 +��#�% &�" ���" 2� ��
%�#�,%�%�'� # � %��#�� n� �� �"�� �� %�����,%�#�� $��" �� 6-���� # qd ����7� �� #�"���"�'�
# � %��#�� %�#�,%�#� m " �� &�4�� 2� �� # � %��#�� %�#�,%�#� n/ �"� %�&+����&� ���
+�� % ��3����� "� " %��"�# �� 2�  � �A& �� # ���" +��#�%�#� %�� �� %�����,%�#�� ,��
 " ��#�%���-� # �� ��0��&�%�'� %��� ��#�  �  � %��#��/ �  "� &�#�� %����� &�4�� " �
�� ��0��&�%�'� # �� %��#�� 6&�4�� �A& �� # ���" %��  � %�����,%�#�� ,��7� &�4�� " ��
�� +(�#�#� # ��0��&�%�'� 4� +�� ������ �� #�"���"�'�� %���#� " �+��2� �� %�����,%�#��
$��" ��/

� �� -� -�&�" � %���%� ��3��  "�� � ��%�'� � ���-(" # ���  %��%�'� ��� �� # ��
"�$�� �� &�� ���

dk(qd) = c(qr, qd) rk(qr). 6H/)7

�". +� "� � ���-(" # ��"  %��%��� " 6H/E7 4 6H/)7  � &�# �� # %��#�� +��+� "�� + �1
&��  "��&��� +��� %���2�� � %��#�� 4 +��� %���2�� � %�����,%�#��� ��" -���� " # ��"� 4
#�"���"�'� # �� %�#�,%�%�'� � +����� # ��� A��%� & #�#� "���  � %��#��� rk(qr)/ 
# ���,1
%�� &�" �  "�� -������ %��  � +���& ��� %�&+� 9�#�# # %��#�� # &�#� 2�  � �� "���
&�# �� # 0� �� sk = rk(qr)/
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#���#� "� ���  � ���$�%���

�� %����� � �� %���%� ��3�%�'� # ��  -���%�'� # ��" %���%� �."��%�" # ��"�1#�"���"�'�
# �� %��#�� � �����  8�"� � �����9�" 2� 5�� &�# ��#�  "��#."��%�& ��  � %�&+����1
&� ��� # �� # � �&���#� %�#�,%�#��/ �". +��  9 &+�� +��� %�#�,%�#�� " ����� PEEQ
+��+�� �� +��& � &�# �� ����� $� "�-� 6��7 # ��# �  � -�#�� 4 +�� ����� %�� ��
 � -�#� �A& �� # +���& ���"� +��� %���%� ��3�� %��� %��& ��  � T�9� ������� # � %�#�,1
%�#��/ ��  " &�"&� �����9� " +��+�� �� %�&����%�'� # �� " "��&�# ��" �� # ��# �
E  � 0��%�'� # ��� & #�#� # �� �%��-�#�# # � %��#��/ ��  -���%�'� # �� "��&�# �� �
���� " %���%� ��3� � ���-(" # ��� %�# �� # ���=�- # �� "  "��#�"/ ���� �+��8�&�%�'�
2� +��+��  � �"� # %�# ��" # ���=�-  "  � &�# �� +��+� "��  � PGQ/ �"��" &�# ��"
� "����� � ����-�& �� %�&+� 9�" 4� 2� +� � �# � %���%� ��3��  � %�&+����&� ��� # ��
%�#�,%�#�� 2� �+ �� �����  � &�#� �����%��#�� %�&�  � &�#� ��� �%��#��� $ � ���#�
%��#��" �� � 4 �� %�� �� %��" %� �� -����%�'�  � ��" %���%� �."��%�" # ��"�1#�"���"�'� # 
��" %��#��"/

�� �� "��� %�"��  � +���� &� # &�# ��#�  " &�" "�&+� 4� 2�  "��&�" %��"�# ���#�
2�  � %�#�,%�#�� A��%�& �� �+ ��  � &�#� �����%��#�� 4 2� ��" %��#��" # �� " %� �1
%�� +� " ���� %���%� �."��%�" "�&���� "/ �"��" � "���%%��� " ��" + �&�� � �&+�� � 2� ��"
%���%� �."��%�" # ��"�1#�"���"�'� # ��" %��#��" # ��� " %� �%�� "�� "�&���� " %�� �� 2� 
�� -����%�'� # �� %��#�� � ���� " +� # %���%� ��3�� � ���-(" # &�# ��" &�" "�&+� "/
�� +����%����� 5 &�" &�# ��#� �� -����%�'� # {sk}  � k %�&� �� +��% "� �� ������ # 
&� "���" ��# + �#� �� "� ���0��& & �� #�"������#�" � �� ���$� # �� # � �&���#� ��1
� �-��� [smin, smax]/ ��"  8�� &�" # � ��� �-���� smin 4 smax� # � ��� " � # � �&���#�" �
+�����  � 0��%�'� # ��" %���%� �."��%�" # �� " %� �%�� � ��+� # " %� �%�� 2� " 2�� ��
����"&����/

#���&� 	%�!�%�����'%  �� �� ���  � ($�%!�

�� &�# �� %�&+� �� # 0� �� ����� 2� #� # � �&���#� +�� ��"  %��%��� " 6H/E7 4 6H/)7
4 +�� �� %���%� ��3�%�'� # �� %�&+� 9�#�# # %��#���

rk(qk) = a(qk, qr) rk(qr),

dk(qk) = b(qk, qd) dk(qd),

dk(qd) = c(qr, qd) rk(qr),

sk = rk(qr) ⇒ {sk} ∈ [smin, smax] .

��� ��"���%��%�'� %��%� �� # � &�# �� %��"�"�  � ��� +����%�����3�%�'� # ��"  %��%��� "
# � &�# �� %�4�" %� ,%� �� " " # � �&����  � 0��%�'� # �

�� " %� �%�� � ����"&����/ �" � % "���� #�"+�� � # ��� " %� �%�� 6� +��� #  ���7
2� " � � +� " �����-� # �� ��0��&�%�'� # -.# � 2� " 2�� � ����"&���� +���
� ���3�� ��" & #�#�" %�� ��" 2� " %��%���� ��" %� ,%� �� " # � &�# ��/

��" %�����,%�#�� " # � 0 � �%��  � $�#�"� qr +��� �� ��"� 4 qd +��� �� #�"���"�'�/
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� ��" #���"  8+ ��& ���� " ��� ��#�" +�# &�"  8��� � #�" %��� ���" � " $��� � �� 5��� # 
# � �&���� ��" %�����,%�#�� " # � 0 � �%���

E/ �� %�"�'� # ��"  "��&�%��� " # ��"� 4 #�"���"�'�/ ��  ���� & #�� +� " ��� �� &.��&�
$����� +��� -���� " & #��" # qr 4 qd/ �� ��"���� � "�  � ��9 ��-�  " &���&�3��  �
 ���� %�& ��#� %�� %� ���" %�����,%�#�� "� ��" %��-�" # %��� ��%�'� ��#�%�� 2� " 
���� � � +� #�%%��� " &�" +� %�"�" +��� ��" %�����,%�#�� " % �%���" �� -���� # �
%�����,%�#�� # � 0 � �%�� 6qr � qd7/

)/ ���� ��%�'�  ��� -������ " rk(qr) 4 dk(qp)/ ��" -���� " # %��� ��%�'� &�4�� " " 
���� � � +��� -���� " + 2� @�" # qr 4 -���� "  � -�#�" # qd/

#���)� ��!�����'%  � ��� *�����!���  �� �� ���

��  "��&�%�'� # ��" %� ,%� �� " # ��"  %��%��� " # � &�# �� 6 %��%��� " 6H/E7 4 6H/)77
" � ���3�  � ��" � ��" & #�#�" � ���3�#�" "��� ��" %��#��" # �� " %� �%�� � +� " �����-�/
�� +� %�"�'� # � &�# �� +� # # + �# � � +����� # � �A& �� # %��#��" �"�#�"  � #�%5�
%��%���/

����  "��#���  "�� # + �# �%�� 5 &�" & #�#�  �  ���� � ����-� & #�� # ��"  "��&�1
%��� " # ��"� 4 #�"���"�'� %�& ��#� +�� -����" ��"���%��%��� " # � &�# �� # �� " %� �%��
>"�� ��? %��%���#�"� %�#� ��� #  ���"� %�� �� �A& �� #�"����� # %��#��" 4 +��� ��#�" ��"
%�����,%�#�� " # � 0 � �%��/ ��" � "����#�" ��� ��#�"  "��� � +� " ���#�"  � �� ,$��� H/F/
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:�$��� H/F� ����� � ����-� & #�� # ��"  "��&�%��� " # 6�7 ��"� 4 6�7 #�"���"�'� %�&�
0��%�'� # � �A& �� # %��#��" �����3�#�"  �  � %��%��� # ��" %� ,%� �� " # � &�# �� # 
0� �� / ��" #���" %��� "+��# � � ��"���%��%��� " # � &�# �� # �� " %� �%�� >"�� ��?/

��&� +� # ��" �-��" �  � -���� # �  ���� � ����-� & #�� # %� % �� ��& ����  � �A& ��
# %��#��" �"�#�  �  � %��%��� # ��" %� ,%� �� " # � &�# ��/ �� ��%� & ����  � �A& ��
# %��#��"�  � &�# �� � "������  " &�" +� %�"� %�� �� 2�  �  ���� # ��"  "��&�%��� "
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#�"&���4 / �� ��"���� �  " ��� � "��� ����� 2� ��#�" ��" ��"���%��%��� " # � &�# ��
 85�� � �� -���� # �  ���� ��9�� ��%��"� %���#� " �"� ��� "'�� �� A��%� %��#�� +���
%��%���� ��" +���& ���" # � &�# ��/ �"�� %���%� �."��%� $������3� 2� � ��9� ��" %��#�%��� "
 "���� %�#�"�  � ��- � # +� %�"�'� # %���2�� � ��"���%��%�'� # � &�# �� # 0� �� +��+� "��
" �  � -�#�� ��%��"�  � �2� ���" "����%��� "  � ��" 2�  � �A& �� # %��#��" #�"+����� "
+���  � %��%��� # ��" +���& ���" # � &�# �� " � + 2� @�/

&�&� ��"�#� "� ����#

��  "� �����9� -�&�" � "�+�� � 2�  � %�&+����&� ��� # � %���� " �9�"�� � ��
&�# �� # ���=�- # +��& � ��# � +�� #�" &���-�"� 6�7  "� ��+� # &�# ��" 5� "�#�
�����3�#� +��� %���%� ��3�� � ��- � # +�2� �  � %�&+����&� ��� # #�"�����" ��+�" # 
%���� %�&�� +��  9 &+���  � PHKQ 4 PGIQ +��� %���� " �����&���%�"� �  � PGEQ +��� 
�� �� �B
6��7 �� %���%� ��3�%�'� # � %���� %��  "� ��+� # &�# �� 5�% 2� "� ��%��"�'�  � ��
0��&���%�'� # � +���� &� ��� " � ��& #���� %�&� - � &�"  �  � %�+.���� I/

	 $A�  � &�# �� # ���=�- # +��& � ��# �  � %���� " %���%� ��3� +�� +�"  � #�"
+�"��� "  "��#�"� * 4 E�  ��� ��" 2� -� %��&����#� %�#� - 3 2� "  �-.� �� +�2� � %��
��� # � �&���#� +��������#�# 6-(�" �� ,$��� H/G7/ ��  "��#� E ��#�%� 2� ��" +�2� � "
 �-��#�" " � %�� � %��� %��& �� � &� ����" 2�  �  �  "��#� * ��" +�2� � " " � %�� �
%��  ���� " � " # "%�����/

 

0 1
p00

p01

p10

p11

:�$��� H/G� ��# �� # ���=�- # +��& � ��# �/

��" +��������#�# " # ����"�%�'�  ���  "��#�" " "� � � �$��+��  � �� �����. 
� ����%
����&� # �� "�$�� �� &�� ���

P =

(
p00 p01

p10 p11

)
=

(
1 − p01 p01

p10 1 − p10

)
.

	� # ��&���&�" c(l) ��  "��#� # � %���� �� ����"&����  � +�2� � l �� �� +��������#�# # 
����"�%�'� # �  "��#� i �� j� pij � �� ����"&����  � +�2� � l " +� #  8+� "�� %�&��

pij = P
[
c(l+1) = j|c(l) = i

]
, i, j = 0, 1.
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� �
 �#���� �� "�,��
� ��
 ����
 ��� ���&������ ��
�� "��	�
���� "��� ���
������
� �� 
�
��
���!� ����� ��� �
 �#���� �� ������ 4���&����� ��� "��	�
����5�

 ������� ��� �
����� �� ���

���
�� 
���������� ��



������� �����	��
�� �� ���

������� �� ����� ���� ������� �� �����
��� �
���
� ���
����

��� ������ �� +��������#�# # 2�  � %����  "�(  �  �  "��#� j �� ����"&����  � +�2� � l+r�
#�#� 2�  �  "��#� ���%��� # � %���� �� ����"&����  � +�2� � l 0� i  "�

P
[
c(l+r) = j|c(l) = i

]
= (Pr)ij , i, j = 0, 1. 6H/H7

#��# (Pr)ij � +� " ���  �  � & ��� (i, j) # �� &����3 (Pr)/
��� ���� ��#�� � +����� # ��" +��������#�# " pij  " +�"��� %��%���� #�" +���& ���"

� +� " �����-�" # ��" %���%� �."��%�"  "��#."��%�" # � %���� PGIQ�

���$���# & #�� # �� ��0�$� #  ���� " Lerr�

Lerr =
1

p01
.

���������#�# #  ���� ε�
ε = 1 − p01

1 − p11 + p01
.

&�(� ��"�#� "� #�� �!�" �� -� "�"��

�� 0��&���%�'� # � +���� &�  � �(�&���" # ���� �# &�" # � &�# �� # ��"�1#�"���"�'�
# �� 0� �� # -.# �� � 2�� �  �  "���� %�&� ��� # �� &�# �� # �� #�"���"�'� �%�"����#�
+�� ��" %��#��" + �#�#�"�  " # %��� �2� ���" %��#��" 2� �� �� $�� � �� &+� �� # %�#�,%�1
#��/ ��#� %��#�� + �#�#� " �� "�"�����#�  � �� " %� �%�� # %�#�,%�#� +��  � A���&� %��#��
� %���#� %��� %��& �� 5�"��  " &�& ���/ ��#� 2�  �  "� �����9� 5 &�"  � $�#� %�&�
& #�#� # �� #�"���"�'� # %�����,%�%�'�  � �	�� +��+�� &�" %���%� ��3�� �� #�"���"�'�
# ��" %��#��" + �#�#�" ��&��(� � ���-(" # � �	�/ �". +� "� "�  � %��#�� m �� �� $� ��
# %�#�,%�#��� dlf,m � +� " ���  � -���� # �	�  ���  � %��#�� ���$���� m 4  � +� " ���#�
 � "� ��$��/ ��  "� �����9� -�&�" � &�# ��� dlf,m %�&� -������ " �� ������" ��# + �#� �1
� "  �#(���%�& �� #�"������#�"/ �� ��%��"�'� #  "� &�# ��  � �� 0��&���%�'� ��� # �
+���� &� ��� "'�� � 2�� � %���% �  � -���� # �� & #�� # #�%5�" -������ "/ �  " -����
�� # ����� &�" %�&� K/

� + "�� # �� "�&+��%�#�# #  "� &�# ��� ��" � "����#�"  8+ ��& ���� " ��� ��#�"
6-(�" �� " %%�'� I/G/E7 &� "���� 2� "� "  "��&� �# %��#�& ��  � -���� # K� %��"����4 
��� �+��8�&�%�'� ��3����� # "#  � +���� # -�"�� # � -���� ����� # �	� ��� ��#�/ ��
��"���� � �� 0��&���%�'� # � +���� &�  "�� ��� ��� �� �"� �� � # ����" & #�#�" # ��
#�"���"�'�� �� � # ����" &�# ��" 2� %���%� ��% � �� #�"���"�'� # ��" %��#��" + �#�#�"/
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�� +��& � ��9 ��-� #  "� %�+.����  "  "���� % � �� 0��&���%�'� &�� &���%�  � �(�&�1
��" # ��� # � +���� &� # %������ # � %�#�,%�#�� �+ ���#�  �  � "�"� &� # ����"&�"�'�
# -.# � ��9�  "��#��/ ����  ��� " � 2�� � �  � +��& � ��$��� �� %���%� ��3�%�'� &�� &�1
��%� # �� #���&�%� # � "�"� &�/ �"�� %���%� ��3�%�'� # � %��� � � �� ��0��&�%�'� 2� 
" � � � -��� +���  � %������ # � %�#�,%�#��/ ��%5� ��0��&�%�'� " � %�$  � 0��&� # 
-������ " #  "��#� 2� # ,� � ��" +�"��� "  "��#�" 2�  � "�"� &� +� # ��%��3��/ ��
" $��#� ��$��� " �� � 2� %���%� ��3�� ��  -���%�'� # � "�"� &� � ���-(" # � %��%��� # ��"
+��������#�# " # ����"�%�'�  ���  "��#�"/ �"� %��%��� " � ���3�  � ��" � ��" � ��%��� "
0��%����� "  8�"� �� "  ��� ��" -������ " 6� ��%��� " 2� ��% � # ��" %���%� �."��%�" # ��"
%�&+�� �� " # � "�"� &� # ����"&�"�'�7 4  � ��" � ��" &�# ��" �#�+��#�"  � �� # "%��+1
%�'� # � "�"� &�� &�# �� # 0� �� 4 # %����/ ��� A���&�� 5�4 2� # ,��� ��� 0��%�'� # 
%�"� %�4� & #�� � ���$� +��3� %��"����4  � ��9 ��-� � &���&�3�� +�� ��" �(%��%�" ���/

�� %�+.���� %��%��4 %�� ��  -����%�'� # ��" +��.��%�" # %������ ��� ��#�" � +����� # 
�� 0��&���%�'�  "���� %�#�� %�&+����#���" %�� ����"  "���� $��" # %������ +��+� "��"  �
�� ��� ������/

(��� ���/'��� "�# �����'�

�� ����� I/E %���� � �� � "�& � # �� ����%�'� 2� -�&�" � �����3��  � �� # "%��+%�'�
# �� #���&�%� # � "�"� &�/

���� %���%� ��3�� �� #���&�%� # � "�"� &� -�&�" � �#�+��� %�&� ���#�# # �����9� # 
�� &+� � �� #���%�'� # �� ��� �-��� # +�2� � # � %���� # ����"&�"�'�� Tp/ � ,��&�"
 � � ���#�  8�� &� �  8�� &� 6∆T 7  8+� "�#�  � �A& �� # ��� �-���" # +�2� � %�&�

HJ
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∆N 4 "� -����  "�

∆N =
∆T

Tp
.

	 � Tf  � ��� �-��� # �� &+�  ��� #�" %��#��" # �� " %� �%���  " # %���  � + ���#� # 
%��#��/ � ,��&�" ∆M %�&�  � + ���#� # %��#��  8+� "�#�  � ��� �-���" # +�2� � �

∆M =
Tf

Tp
.

���� "�&+��,%��  � # "������� # �� #���&�%� # � "�"� &�� + �� "�� +(�#�#� # $ � ����#�#�
%��"�# ��� &�" 2� ∆N 4 ∆M "�� �A& ��"  �� ��"/

��  � "�"� &� # -.# � ��9�  "��#��� %�#� ∆M ��� �-���" # +�2� �  � %�#�,%�#�� � 1
%�� �� �� -� %��#�� +��� " � %�#�,%�#� 4 +�"� ����& �� ����"&���#�/ ���� %�#� %��#��
k  � &'#��� # %������ # � %�#�,%�#�� # � �&���  � %�����,%�#�� �+��+��#�/ �� %�#�,%�1
%�'� # � %��#�� k +��#�% rk ���"� ��" %��� " � 2�� � � +��� "� ����"&�"�'� nk =

⌈
rk

C

⌉
+�2� � "/

��#� %��#�� k -� � #�"+�� � # tk ��� �-���" # +�2� � +��� "� +��% "�&� ��� 4
����"&�"�'�/ �  "�" tk ��� �-���"� # ��&���&�" wk �� �A& �� # ��� �-���" ,���& �� 
�����3�#�" +��  � %��#�� k/ �� -���� # wk " ��  � &.��&� �A& �� # +�2� � "  �-��#�"
5�"�� 2� ��� # ��" #�"  - ���" "�$�� �� " �%�����

E/ �� ����"&�"�'� # � %��#�� " 5� %�&+� ��#��  " # %��� nk +�2� � " " 5�� � %���1
#� %��� %��& �� # ��" wk +�2� � " 2� " 5��  &+� �#�  � �� ����"&�"�'� # �
%��#�� k/

)/ �� "�"� &� # � %�� 2�  " �&+�"��� 2�  � %��#�� �� $� � �� &+� �� # %�#�,%�#��/
�"�� "����%�'� �%��� %���#�  � �A& �� # ��� �-���" # +�2� � #�"+����� +���  �
%��#�� k " 5�% & ��� 2�  � �A& �� # +�2� � " + �#� �� " # " � ����"&���#�"/
��  " &�& ����  � "�"� &�  ��&��� ��" +�2� � " + �#� �� " # � ��< � # � %�#�,%�#��
4  &+� 3� � +��% "��  � %��#�� "�$�� �� "�  "�� 4� #�"+����� /

��" -������ " tk 4 wk # � �&���� ��" -���� " # tk+1 # �%� �#� � �� "�$�� �� � ��%�'�

tk+1 = mı́n{∆N, tk − wk + ∆M}, 6I/E7

2�  �$���� ��" #�" +�"��� " "����%��� "�

E/ ��  � &�& ���  �  � 2�  � "�"� &� � �&��� # ����"&����  � %��#�� k�  � %��#�� k+1
��  "�� ��#�-.� #�"+����� / ��� ������  � %�����  � %��#�� k+1 �� $� �� %�#�,%�#��
 � "�"� &� " �%�+��� # (� %�� �� 2�  � �� &+� #�"+����� # � %��#�� k + 1 " ��
 � � ���#�  8�� &� �  8�� &�  � "� ������#�#� tk+1 = ∆N / ��  "� %�"�� # "# ��
,����3�%�'� # �� ����"&�"�'� # � %��#�� k 5�"��  � %�&� �3� # �� ����"&�"�'� # �
%��#�� k + 1  � "�"� &�  �-.� +�2� � " # � �� ��/
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)/ ����#� � �&��� �� ����"&�"�'� # � %��#�� k�  � %��#�� k+1 4�  "�� #�"+�����  �  �
%�#�,%�#��� +�� �� 2� " +��% # �� � "� +��% "�#� 4 ����"&�"�'� ��� +����� %�&�
 � "�"� &� � �&�� %��  � %��#�� k/ �� �A& �� # ��� �-���" # +�2� � #�"+����� "
+���  � %��#�� k + 1 +� # %��%����" � +����� # � �A& �� # +�2� � " # ��" 2� 
#�"+��.�  � %��#�� k� tk� � �� �#�  � %� ���� 6�7  � +��& � ��� �-��� # #�%�#� ��
%��#�� k + 1 �%������ wk ��� �-���" # "+�(" # � %�&� �3� # � %��9���� # ��� �-���"
+���  � %��#�� kB 6��7  � �� &+� �.&�� +��� �� +� " ���%�'� # � %��#�� k + 1  "��
� ���"�#� ∆M ��� �-���" # +�2� � %�� � "+ %��  � �� &+� �.&�� # � %��#�� k/ �".
+� "� " �� � 2� tk+1 = tk − wk + ∆M /

���" %� �� & �� tk+1 +� # -�����  ��� ∆M � %���#�  � %��#�� +� -�� 5� %��"�&�#�
��#�" "�" ��� �-���" # +�2� � #�"+����� "�  " # %��� wk = tk� 4 ∆N � %���#�  �  � &�& ���
2� �� �� -� %��#��  "�� #�"+����� �� 5�4 +�2� � " + �#� �� " # ����"&�"�'� # %��#��"
��� ���� "/ �� �� ,$��� I/E " 5�� � +� " ���#� ��" #�"�����" "����%��� " 2� " +� # �
#��/

 

m0+∆N m1+∆ N m2+∆N m3+∆N

m0 m1 m3m2

t0

t1

t2

t3

f0 f1 f2 f3

w0 w1 w2 w3

0    0    0   0    0   1    1    *   2    2    2   2    2    2   2    2    2    2    2   2    2    2   2    3    3    3   4   ...   

intervalos de paquete

intervalos de paquete

m4 m5 m7m6

f4 f5 f6 f7

:�$��� I/E� ���$��&� # �� &+�" %��� "+��#� �� � �� ����"&�"�'� # ��� " %� �%�� # 
-.# � &�"����#� #�"�����" "����%��� " �.+�%�"/ mk ��#�%�  � ��� �-��� # +�2� � %���#�  �
%��#�� k  "�� 4� #�"+����� � wk ��#�%�  � �A& �� # +�2� � " �"�#�"  � "� ����"&�"�'�� 4
tk � +� " ���  � �A& �� # ��� �-���" # +�2� � #�"+����� " ��� " # � �� &+� �.&�� # �
%��#�� k/ ��" +�2� � " # � �� �� " 5�� &��%�#� %�� �� >O?/

�� (8��� � 0��%�"� # �� ����"&�"�'� # �� %��#�� k -� � - ��� # � �&���#� +��  �
%�&+����&� ��� # � %���� #����� �� ����"&�"�'� # #�%5� %��#��/ � ��#� � �� +��+� #�#
&��=�-���� # � &�# �� # %���� �#�+��#�� �� A��%� ��0��&�%�'� � � -���  �  � ���%�� # 
�� ���"&�"�'� # � %��#�� k  "  � A���&�  "��#� %���%�#� # � %����/ 	� # ,��&�" lk %�&�
 � �A& �� # � +��& � ��� �-��� # +�2� � 2� "  &+� � +��� ����"&����  � %��#�� k�  �
A���&�  "��#� %���%�#� # � %���� - �#�� # � �&���#� +�� c(lk−1)/ �� � +� " ���� &�" # 
0��&� %�&+�%�� %�&� ck = c(lk−1)/
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��  "��#� # � "�"� &� # � # ,���" %�&� �� - %��� xk 2� ��%��4� ��#� �� ��0��&�%�'�
"���  � "�"� &� 2� " � ��
������ +���  � +��% "� # # %�"�'�� 4 2� + �&��� 9���� ��
+���& ��� # %������  � $�#� # � �&���� +�������."��%�& �� ����� ��  -���%�'� # � "�"� &�
%�&� ��" %�"� " 0�����" �"�%��#�"/ �� �� "��� %�"��  � %��9���� &.��&� # #���" %��  "��"
%���%� �."��%�"� " $A� 5 &�" 0��&���#� �� #���&�%� # � "�"� &��  "�� 0��&�#� +���

%�&+� 9�#�# # � %��#�� �%����� sk�

A���&�  "��#� # � %���� ��" �-�#�� ck�

�A& �� # ��� �-���" # +�2� � #�"+����� " ��� " # � �� &+� �.&�� # � %��#��
�%����� tk�

%�� �� 2�  � - %���  "��#� # � "�"� &�  " xk = (sk, ck, tk)/ ��&� " %�&+������ � ��
���$� #  "� %�+.�����  "� - %��� #  "��#� " %��� "+��# %�� ��� %�# �� # ���=�-
%�������#� %�4� +���& ��� # %������  "  � %�����,%�#�� �+��%�#� �� %��#�� k� qk/ �"��
%���%� �."��%� + �&�� 2�  � +���� &� # %������ " +� #� 0��&���� %�&� �� +���� &�
��� 4� 2� " %�&+� � 6�7 #�#� �� # � �&���#�  "��#� (sk, ck, tk) 4 �� # � �&���#�
%�����,%�#�� qk +�# &�"  �%������ ��" +��������#�# " # ����"�%�'� � ��#�" ��" +�"��� "
 "��#�" "�$�� �� " (sk+1, ck+1, tk+1) 6-(�" �� " %%�'� "�$�� �� 7� 4 6��7  � %�"� +��  ��+�  "
0��%�'� # �  "��#� (sk, ck, tk) 4 # � +���& ��� # %������ qk 6-(�" �� " %%�'� I/I7/

(�&� 	 �����#�"�" "� � �������� "� ����"��

��  "�� " %%�'� " # "%���  � %��%��� # ��" +��������#�# " # ����"�%�'�  ���  "��#�"
 � 0��%�'� # � +���& ��� # %������ qk  � $�#��  " # %��� -�&�" � %��%����

P [xk+1|xk, qk] = P [sk+1, ck+1, tk+1|sk, ck, tk, qk] .

� �� �#�  � %� ��� 2� sk  " ��# + �#� �� # ��" ����" -������ " #  "��#�� +�# &�"
 8+� "�� ��  %��%�'� ��� ���� %�&�

P [sk+1, ck+1, tk+1|sk, ck, tk, qk] = P [sk+1|sk] P [ck+1, tk+1|sk, ck, tk, qk] .

�� ����" 2�  � &�# �� # 0� �� +��+� "�� +��+��%����  � +��& � 0�%��� # ��  %��%�'�
��� �����  � %��%��� # � " $��#� � 2�� � ��� &�4��  ������%�'�/ �� +��& �� 2� ��" �-�1
&�"  " 2�  � �A& �� # +�2� � " � ����"&����� nk�  "�� # � �&���#� +��  � -���� # sk

6%�&+� 9�#�# # %��#��7 4 # qk 6%�����,%�#�� �+��%�#�7 # �� "�$�� �� &�� ���

nk = n(sk, qk) = �fr(sk, qk)/C�.

��#� 2� sk 4 qk �0 %��� � ��  -���%�'� # � "�"� &� "'�� � ���-(" # � -���� # nk +�# &�"
 "%�����

P [ck+1, tk+1|sk, ck, tk, qk] = P [ck+1, tk+1|n(sk, qk), ck, tk] .
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�� "�� 2� ck 4 tk �� "�� ��# + �#� �� "� �� +�# &�" 0�%����3�� �� +��������#�# %��9�����
+ �� +�# &�"  8+� "���� %�&�

P [ck+1, tk+1|nk, ck, tk] =
∑
wk

P [ck+1, wk|nk, ck, tk] ,

#��# �� "�&� "  8�� �# "���  � %��9���� # +�"��� " -���� " # wk 2� %�&+� � ��
� ��%�'�  8�"� ��  ��� tk 4 tk+1 � ���-(" # ��  %��%�'� 6I/E7�  " # %���

wk = tk − tk+1 + ∆M "� tk+1 < ∆N �

wk ∈ {1, ..., tk + ∆M − ∆N} "� tk+1 = ∆N /

�� � "�� # � %��%��� %��"�"�  � ��� � � ��" +��������#�# " P [ck+1, wk|nk, ck, tk]/ ����
 ���� -�&�" � # � �&���� +��& ��  � �A& �� # � ��� �-��� # +�2� �  �  � 2�  &+� 3� ��
����"&�"�'� # � %��#�� k + 1/ �� �A& �� # � A���&� +�2� � ����"&���#� %�� ��0��&�%�'�
# � %��#�� k  " lk +wk/ 	�  � %��#�� k +1  "�� 4� #�"+����� +���  � %�#�,%�#��� ck+1 " ��
 ����% "  �  "��#� # � %���� # "+�(" # �� ����"&�"�'� # � A���&� +�2� � %��� "+��#� �� 
�� %��#�� k�  " # %��� ck+1 = c(lk+wk)/ 	� +��  � %���������  � %��#�� �� -� ��  "�� ��#�-.�
#�"+����� �  � %���� ����"&����� �� %� ��� �A& �� # +�2� � " # � �� �� 6npp7 5�"�� 2� 
 � %��#�� k +1 +� #� " � +��% "�#�/ ��� ������ ck+1 " �� c(lk+wk+npp)/ � ��  %��%�'� 6I/E7
 " 0�%�� - � 2� npp = máx{0, tk − wk + ∆M − ∆N}/ �� %�#� %�"� � � &�" 2� �

"� npp = 0�

P [ck+1, wk|nk, ck, tk] = P [c(lk+wk) = ck+1, wk|nk, c(lk−1) = ck, tk],

&� ����" 2� "� npp  " #�"����� # % ��� " %�&+� 

P [ck+1, wk|nk, ck, tk]

=P [c(lk+wk+npp) = ck+1, wk|nk, c(lk−1) = ck, tk]

=
∑
i=0,1

P [c(lk+wk+npp) = ck+1, c(lk+wk) = i, wk|nk, c(lk−1) = ck, tk]

=
∑
i=0,1

P [c(lk+wk+npp) = ck+1|c(lk+wk) = i, wk, nk, c(lk−1) = ck, tk]

P [c(lk+wk) = i, wk|nk, c(lk−1) = ck, tk]

=
∑
i=0,1

P [c(lk+wk+npp) = ck+1|c(lk+wk) = i]P [c(lk+wk) = i, wk|nk, c(lk−1) = ck, tk].

�'� " 2�  � ��  8+� "�'� ��� ���� ��" -������ " c(...) # � � " � ��� �+� ��#�" %�&� -����1
�� " �� ������"� &� ����" 2� ck 4 ck+1 "�� +���& ���" ,9�"/
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�". +� "� " 5� � #�%�#�  � %��%��� # ��" +��������#�# " ��"%�#�" �� %��%��� # �(�&���"
# �� 0��&�

P [c(lk+wk+npp) = ck+1|c(lk+wk) = i],

%�4�" -���� " +� # � " � # #�%�#�" �"��#� ��  %��%�'� 6H/H7� 4 # �(�&���"

P [c(lk+wk) = i, wk|nk, c(lk−1) = ck, tk],

��" %��� " �A� � 2�� � � �� +�%� &�" #  ������%�'�/

����#�%�&�" ��� �� -� -������ �� ������ ��8����� v(a,b)� 2� ��#�%�  � �A& �� # +�1

2� � " ����"&���#�" %��� %��& �� #�����  � ��� �-��� [a, b]  8+� "�#�  � ��� �-���" # 
+�2� � �

v(a,b) =

b∑
i=a

c(i),

%�4� #�"�����%�'�� %��#�%����#� �� -���� # c(a−1)� " �� %��%���#� &�" ���# /
�� "�"� &� +�"� � �� �� -�  "��#�� ��#�%�#� +��  � "��.�#�% k + 1� %���#� ��#�" ��"

+�2� � " # � %��#�� k 5�� "�#� ����"&���#�" %��� %��& �� � %���#�  � "�"� &� # � %�� 2� 
 � �A& �� # +�2� � " 2� 2� #�� +�� ����"&����  " &�4�� 2�  � �A& �� # ��� �-���"
# +�2� � #�"+����� " +���  " %��#��/ �� +��& �� # ��" %�"�" �&+��%� 2�  � A���&�
+�2� �  �-��#� " � %���' %��� %��& �� 6c(lk+wk) = 17� &� ����" 2�  � " $��#� %�"�
�&+��%� 2�  � A���&� +�2� � " + �#�' 6c(lk+wk) = 07/ ��� ������ 5�4 2� �����3��  "��"
#�" +�"�����#�# "�

E/ c(lk+wk) = 1� %�� �� 2�  � %��#�� %�&+� �� " ����"&���' %��� %��& �� 4 +�� ������

v(lk ,lk+wk) = nk.

�� $�

P [c(lk+wk) = 1, wk|nk, ck, tk] = P [v(lk ,lk+wk) = nk, c(lk+wk) = 1|c(lk−1) = ck].

)/ c(lk+wk) = 0�  " # %��� 2�  � %��#�� 5� "�#� # "%����#�/ ��� ������  � �A& �� # 
+�2� � " + �#�#�" �� � 2� -�� � tk − nk + 1 %�� �� 2�  � �A& �� # +�2� � "
� %���#�" %��� %��& ��  "

v(lk ,lk+wk) = wk − (tk − nk + 1).

��� ������ � � &�" 2� 

P [c(lk+wk) = 0, wk|nk, ck, tk]

=P [v(lk,lk+wk) = wk − (tk − nk + 1), c(lk+wk) = 0|c(lk−1) = ck].
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:����& �� � ��"  8+� "��� " # �� 0��&�

P [v(lk,lk+wk) = h, c(lk+wk)|c(lk−1) = ck],

" +� # � %��%���� � %��"�-�& �� # �� "�$�� �� &�� ���

P [v(lk,lk+wk) = h, c(lk+wk)|c(lk−1)]

=P [v(lk,lk+wk−1) = h, c(lk+wk−1) = 0|c(lk−1)]P [c(lk+wk)|c(lk+wk−1) = 0]

+P [v(lk,lk+wk−1) = h − 1, c(lk+wk−1) = 1|c(lk−1)]P [c(lk+wk)|c(lk+wk−1) = 1].

�� �� ����� I/E " +� #  �%������ �� � "�& � # � %��%��� # ��" +��������#�# " # 
����"�%�'�/

'��	(�)�

∆N 
��	

� ���
��� 	 ���
��� ��� ����
*	��� 
� �	+,����
∆M ��
��
� 
� (,	

� ��� ����
*	��� 
� �	+,����
sk (�����-�
	
 
�� (,	

� k
ck .����� ���	
� �/��
*	
� 
�� (	�	�
tk ������ 
������/�� �	
	 �� (,	

� k
qk (,	���0(	
�
 ,�	
� �	
	 �� (,	

� k
nk �� 
� �	+,���� ,�	
�� �	
	 	��	(��	
 �� (,	

� (�
�0(	
� k
wk �� 
� �	+,���� ,�	
�� �� �	 �
	������)� 
�� (,	

� k
lk �
���
 ����
*	�� 
� �	+,��� ,�	
� �	
	 �
	������
 �� (,	

� k
npp �� 
� �	+,���� 
� 
������
c(l) ���	
� 
�� (	�	� �� �� ����
*	�� 
� �	+,��� l

v(a,b) �� 
� �	+,���� �
	������
�� (�

�(�	����� 
,
	��� �� ����
*	�� a % b

�
�/	/���
	
�� 
� �
	���(�)�

P [sk+1, ck+1, tk+1|sk, ck, tk, qk] = P [sk+1|sk] P [ck+1, tk+1|sk, ck, tk, qk]
P [ck+1, tk+1|nk, ck, tk] =

∑
wk

P [ck+1, wk|nk, ck, tk]
P [ck+1, wk|nk, ck, tk]
=

∑
i=0,1 P [c(lk+wk+npp) = ck+1|c(lk+wk) = i]P [c(lk+wk) = i, wk|nk, c(lk−1) = ck, tk]

P [c(lk+wk) = 1, wk|nk, ck, tk] = P [v(lk ,lk+wk) = nk, c(lk+wk) = 1|c(lk−1) = ck]
P [c(lk+wk) = 0, wk|nk, ck, tk]
= P [v(lk ,lk+wk) = wk − (tk − nk + 1), c(lk+wk) = 0|c(lk−1) = ck]
P [v(lk ,lk+wk) = h, c(lk+wk)|c(lk−1)]
= P [v(lk ,lk+wk−1) = h, c(lk+wk−1) = 0|c(lk−1)]P [c(lk+wk)|c(lk+wk−1) = 0]
+P [v(lk,lk+wk−1) = h − 1, c(lk+wk−1) = 1|c(lk−1)]P [c(lk+wk)|c(lk+wk−1) = 1]

����� I/E� � "�& � # �� ����%�'� �����3�#� 4 # ��"  %��%��� " # ��" +��������#�# " # 
����"�%�'� +���  � +���� &� # %�#�,%�%�'� �����%��#��/
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(�(� ,!����� "� �����

� �%� �#� � �� "���" ��9 ��-�" 4 � �� "���" 5�+'� "�" # &�# ��#�� # ,��&�"  � %�"� 
�"�%��#� � ��  � %%�'� # � %�����,%�#�� # � %��#�� k� gk� %�&�  � -����  "+ ��#� # ��
#�"���"�'� �%�"����#� � �� �#�  � %� ��� ��" #�" "����%��� " +�"��� "� 6�7  � %��#�� �� $�
�� � % +��� � �� &+�B 6��7  � %��#�� " +� �# / ��  � +��& � %�"��  � -���� # �� #�"���"�'�
%��� "+��# � �� #�"���"�'� # %�����,%�%�'�/ �� &�# �� # 0� ��  "  �  �%��$�#� # 
+��+��%�����  "� -���� %�&� 0��%�'� # �� %�&+� 9�#�# # %��#�� 4 # � %�����,%�#��
�+��%�#� 6fd(sk, qk)7/ ��  � " $��#� %�"�� �� #�"���"�'� " %��%��� %�&�  � -���� # �	�
 ��� �� �&�$ � +� " ���#�  � "� ��$�� 6A���&� %��#�� � %���#� %��� %��& �� 7 4 �� �&�$ �
���$����� #��#� ��$�� �� %��9���� # -������ " dlf,k/ �"��" -������ " " 5�� &�# ��#� %�&�
-������ " �� ������" ��# + �#� �� "  �#(���%�& �� #�"������#�"/ ��� �� ������  � -���� # 
gk +� #  8+� "��" %�&�

gk(sk, tk, ck, qk) = fd(sk, qk) · Ptx(sk, tk, ck, qk) + E[dlf,k] · (1 − Ptx(sk, tk, ck, qk)),

#��# E[dlf,k]  " ��  "+ ���3� # ��" -������ " dlf,k � �� 2� 5 &�" # ��&���#� K  �
 � &�# ��#� # � "�"� &� 6E[dlf,k] = K7� 4 Ptx  " �� +��������#�# # 2�  � %��#�� " 
����"&��� %��� %��& �� / Ptx " +� # %��%���� � +����� # ��" +��������#�# " # ����"�%�'�
 ���  "��#�" # �� "�$�� �� &�� ���

Ptx(sk, tk, ck, qk) =
∑

xk+1∈S
P [xk+1|xk, qk],

#��# S  "  � %��9���� #  "��#�" � ��" 2�  � "�"� &� +� # +�"�� "�+��� �#� 2�  �  "��#�
��� ����  " xk� 2� " �+��%�  � %�����,%�#�� qk 4 2�  � %��#�� " ����"&�� %��� %��& �� /

(�+� �/#�!#� "� #� -�#%����

��� - 3 2�  � +���� &� # � %������ # � %�#�,%�#�� " 5�  8+� "�#�  � �(�&���"
# ��� 6 � +����%���� %�&� �� +���� &� ��� # � %�"� & #��7� �� �+��%�%�'� # ��"
��$����&�" # "%����"  � �� " %%�'� )/G/) + �&�� ��� � � +��.��%�" # %������ '+��&�"/
�'� " 2� �  � �� "��� %�"�� ��" �� " %�&+�� �� " # � - %��� #  "��#� "�� #�"%� ��" %��
�� 2�  " +�"��� �� �+��%�%�'� #�� %�� # #�%5�" ��$����&�"/ �� ��"���� � �� -������ sk

" %���%� ��3� +�� � � � ��  "+�%�� #  "��#�" &�4 ��& ��"� 2� #�,%���� �� �+��%�%�'�
# ��" ��$����&�"� # ��#� ��  � -�#� �A& �� #  "��#�" # � "�"� &� 2� �%�"����/ ����
 -����  "�  0 %��� " 5� +��% #�#� � %�����,%��  � ��� �-��� # # ,��%�'� # sk %��  �
��9 ��-� # � #�%��  � �A& �� #  "��#�" � "������ / ��  0 %�� #  "�� %�����,%�%�'� "��� 
 � � �#�&� ��� # ��" +��.��%�" "  "��#��  � �� " %%�'� I/G/)/ ���  "�� A��%� "�&+��,%�%�'��
+��� ��� � � �� +��.��%� '+��&� # �� "��� +���� &� # %������ " 5� �&+� & ���#� 4
�+��%�#� "���"0�%�����& ��  � ��$����&� # �� ��%�'�  � �� +��.��%�/
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(�.� ���!#��"�� �1-� �'����#�� � ����#!������

���� - ��,%�� 4 %�&+�����  � 0��%����&� ��� # �  "2� &� # %������ # � �($�& � ��1
����� # � %�#�,%�#�� +��+� "��� " 5�� �� -�#� � %��� "�&���%��� " # ����"&�"�'� # 
" %� �%��" # -.# � "��� %���� " # - ��%�#�# -������ �"��#� ��" +��.��%�" # %������
��� ��#�"/ ��" " %� �%��" # +�� �� �����3�#�" "�� >&��5 �1#��$5� �?� >�=�4�?� >"�� ��? 4
>0�� &��?� " %� �%��" �&+���& �� �����3�#�"  � ��" �����9�" � ��%����#�" %�� �� ����"&�1
"�'� 4 %�#�,%�%�'� # -.# �/ ��" +���& ���" &�" � � -��� " #  "��" " %� �%��" "���

0��&��� # � +� " ���%�'� !�
:�

H** %��#��" # ���$���#�

H* %��#��" +�� " $��#� # 0� %� �%�� # %��#��/

�� �� �&+� & ���%�'� # � "�&���#�� # � %���� 5 &�" %��"�# ��#� 2�  � %���� ����"&�� 
�� +�2� � %�#� F &" %�� ��� %��$� A��� # IE �4� " 6Tp = 5 &" 4 C = 328 ���"7/
�� %����� � ��" %���%� �."��%�"  "��#."��%�" # � %����� 5 &�" %��"�# ��#� #�" "����%��� "
#�"�����" %��� "+��#� �� " � #�" &�# ��" # %���� #�"�����" 6-(�" �� ����� I/)7/ �&��"
&�# ��" " %���%� ��3�� +�� � � � �� &�"&� ���$���# & #�� # �� ��0�$� #  ���� 6Lerr = 19
+�2� � "7� + �� �� +��������#�# #  ���� 6ε7  " #�0 � ��  � %�#� ��� #  ���"/ 	 #�"���$� 
 ��� �� %���� &�" ���#�"� 6&�# �� S1�����7 4 ���� &�" ��&+�� 6&�# �� �1�����7/
��" %���%� �."��%�" #  "��" &�# ��" 5�� "�#� # ��-�#�" # ����" &�# ��" +��+� "��"  � ��"
�����9�" # P)Q 4 P)IQ/ �#�%�����& �� � ��" +���& ���" # ��" &�# ��" 5�� "�#� &�#�,%�#�"
+��� � ���3�� "�&���%��� " ��9� #�"�����" %��#�%��� " # � %����/

�	
1���
�� 23�4454 63�4454

p10 "�""#� "�""��

p01 "�"��� "�"���

ε "����� "�"�"�

Lerr �# �#

����� I/)� ����& ���" # ��" #�" &�# ��" # %���� �����3�#�"  � ��" "�&���%��� "/

��#� �� - ��%�#�# ������� ��&���� # � %���� 6GF/G** ���"D"7� �� "��� +��+'"���  "
����"&���� � ��� 0� %� �%�� # %��#�� # G %��#��" +�� " $��#� 6Tf = 6 %��#��"D" $��#�7/
��&� �� 0� %� �%�� # %��#�� # ��" " %� �%��" # +�� ��  " # H* %��#��"D" $��#�� ("��"
# � � "��&� "�� ��" +��� �%�&�#��" � �� 0� %� �%�� # ����"&�"�'�/ �"�� �&+��%�� +��
������ 2�  � & #�� %�#� %��#�� # � �.� %�#�,%��" �"��#� E*/JHH ���"/

���� %��" $��� � "����#�" � +� " �����-�" # "# �� +���� # -�"��  "��#."��%�� #����� 
%�#� +�� �� " -�� � "�&���� E)F ����"&�"��� " # �� %��� "+��#� �� " %� �%�� # +�� ��
 � #�"�����" "����%��� " # � "�&���#�� # � %����/ �� %�#� ����"&�"�'�� " -� � � + ��� ��
" %� �%��  � %� "��'� %��%� - % " # &�#� 2�  � �A& �� # %��#��" ��-���%��#�" " � # 
H**  � %�#� ��� ���/ ��� ������  � %�#� ��� # ��" +�� ��" � ���3�#�" " ��� ��� ����"&����
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HK/F** 6E)F×H**7 %��#��" 2� � 2�� � � &�" # E/)**/*** ��� �-���" # +�2� � +��� "�
����"&�"�'�/

�� ��"  8+ ��& ���" � ���3�#�" 5 &�" %��"�# ��#� �� " +�"��� " -���� " # � � ���#�
 8�� &� �  8�� &�� HHH� F** 4 GGK &" 2� " %��� "+��# � � 2Tf � 3Tf �4 4Tf � "+ %��-�1
& �� /

��� � "+ %�� � ��" +���& ���" # � &�# �� # 0� �� � 5 &�" " � %%����#� %�&� %���1
��,%�#�� " # � 0 � �%�� � qr = 2 4 qd = 31/ ��" %� ,%� �� " # ��"  %��%��� " # � &�# ��
6 %��%��� " 6H/E7 4 6H/)77 " 5�� %��%���#� �"��#� ��� "'�� ��" -���� " # ��"�1#�"���"�'�
# � ,����� %��#�� # %�#� " %� �%��/ �� ���$� # # ,��%�'� # �� %�&+� 9�#�# # %��1
#�� 6smin 4 smax7 " 5�  "��&�#� +��� %�#� ��� # ��" " %� �%��" � +����� # ��" -���� "
& #�#�" # rk(2) # ��#�" "�" %��#��"/

���� %�&+���� �� %���#�# # ��" � "����#�" ��� ��#�" 5 &�" %��%���#� ��" "�$�� �� "
+���& ���"�

�	�� # �� " %� �%�� # %�#�,%�#�� # ,��#� %�&�

PSNR = 10 log10

⎛
⎜⎜⎝2552N

N∑
i=0

di

⎞
⎟⎟⎠ ,

#��# N  " �A& �� # %��#��" # �� " %� �%�� 4 di  "  � -���� # �� #�"���"�'� # �
%��#�� i/ 	�  � %��#�� �� $� %��� %��& �� � di � +� " ���  � -���� # �	� # � %��#��
%�#�,%�#� %�� � "+ %�� �� ���$����� &� ����" 2� "�  � %��#�� " +� �# � di � +� " ���
 � -���� # �	� # � %��#�� +� " ���#�  � "� ��$�� 6A���&� %��#�� � %���#� %��� %1
��& �� " $A� 5 &�" # ,��#�  � %�&+����&� ��� # � # %�#�,%�#��7 %�� � "+ %�� ��
%��#�� ���$����/

�A& �� & #�� # %��#��" + �#�#�"� 2� � +� " ���� &�" +�� ��/

��" " %%��� " "�$�� �� # "%��� � ��" +�� ��" �� -�#�" � %��� 4 ��" � "����#�" ��� ��#�"/

&����� 
��!����'% ������ � � ��� �$� ��� *�� � ��

��  "�� " %%�'� -�&�" � �����3��  � � �#�&� ��� # ��" +��.��%�" # %������  � 0��%�'�
# � -���� �"�$��#� � K�  " # %��� # � -���� �"�$��#� � �� & #�� # ��" -������ " �� ������"
2� &�# ��� �� #�"���"�'� ��� ��#� %���#� �� %��#�� " +� �# 6-(�" �� " %%�'� H/I7/ ����
 ��� 5 &�" � ���3�#� -����" "�&���%��� "  ��$� �#�  � -���� # � ���#�  8�� &� �  8�� &�
# � "�"� &� ∆T W HHH &" 62Tf7 4 �"��#� #�" ��� �-���" +��� %�����,%�� �� %�&+� 9�#�#
6-(�" �� " %%�'� I/G/)7/ ��" %���%� �."��%�" # � &�# �� # %���� �"�#� " %��� "+��# � �
��" # � %���� # ��&���#� S1����� # �� ����� I/)/ �� " %� �%��" �����3�#�" 5�� "�#�
>&��5 �1#��$5� �?� >�=�4�?� 4 >"�� ��?/

���� � � � ��� %���%� ��3�%�'� &�" %�&+� �� # � � �#�&� ��� # ��" +��.��%�" 5 &�"
%��%���#� �� " +���& ���" �#�%����� "�
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M���� & #�� # �	�� # ��" %��#��" � %���#�" %��� %��& �� 6�	�� ��7  �  �
# %�#�,%�#��/

���% ���9 # +�2� � " # � �� �� 6R ��7 �"�#�" +��  � "�"� &� %���#�  � ��< �
# � %�#�,%�#�� " 2� #� -�%.�/

M���� & #�� # �� #�"���"�'� 6�	�7 # ��" %��#��" + �#�#�" 6�6��77/

�� ����� I/H &� "���  � +��& #�� # ��" � "����#�" ��� ��#�"  � ��" "�&���%��� "/ ��
 ��� " 5� ��%���#� ��&��(�  � -���� & #�� # �� #�"���"�'� 6�	�7 ��� ��#� �"��#�  �
%�����,%�#�� #�"+����� &�" $��" ��� d(31)� %�&� � 0 � �%�� +���  � -���� # K/

�� +��& � +���& ��� 2� -�&�" � �����3��  "  � �A& �� & #�� # %��#��" + �#�#�"
6�� ��7  � 0��%�'� # � -���� # K/ 	 +� # ��" �-�� 2�  � ��" �� " " %� �%��" # +�� ���
+��� -���� " + 2� @�" # K 6K < �6��77 " ���� � �� �A& �� # �� ��"����  � -�#�/
�"��  " # ��#� � 2� K &�# ��  � %�"� & #��  �  � 2� ��%���  � "�"� &� �� + �# �
%��#��"/ �� " � �� -���� + 2� @�� ��" +��.��%�" �� -�� � ��� ���� +� - ���  "� 5 %5� #�#�
2� "� %�"� � " $A�  � &�# ���  " ��9�/ 	 $A� ��& ���  � -���� # K�  � �A& �� # %��#��"
+ �#�#�" " -� � #�%� �#� 4� 2� ��" +��.��%�" ��� ��#�" ��� ���� +� - ��� �� +(�#�#� # 
%��#��" # ��#� �� &�4�� %�"� 2� � " "�+�� /

��� ���� ��#��  � -���� & #�� # �	�� # ��" %��#��" ����"&���#�" %��� %��& �� 
6�	�� ��7 #�"&���4 �� ��& ����  � -���� # K/ ���� -���� " + 2� @�" # K ��" +��.��%�"
��� ��#�" "�� & ��" >%��" �-�#���"?�  " # %��� %�#�,%�� ��" %��#��" %�� %�����,%�#�� "
,��" 4� 2�  � %�"� �"�%��#� � �� +(�#�#� # � %��#��  " ��9�/ ��� ������ "�  � %��#�� �� $�
,���& �� �� � % +��� �� #�"���"�'� �"�%��#� " �� + 2� @�/ �� ��& ����  � -���� # K ��"
+��.��%�" %�#�,%�� ��" %��#��" %�� %�����,%�#�� " &�" $��" ��" %��  � ��9 ��-� # � #�%��
 � �A& �� # ���" # %�#� %��#�� 4 ��& ���� �� +��������#�# # (8���  � �� ����"&�"�'�/
��� ������ ��" %��#��" � %���#�"  �  � � % +��� "�� # & ��� %���#�#/

�� %����� �� �A& �� # +�2� � " # � �� �� 6R ��7 �����3�#�" #����� �� ����"&�"�'�
# ��� " %� �%��� " ��" �-� 2� +��� -���� "  8�� &�" # K  � +��% ���9 %� % / �"��  "
# ��#� � #�" 0�%��� " #�"�����" 2� +��-�%�� �� &�"&� %��"��  � -�%��&� ��� # � ��< � # �
%�#�,%�#�� ��� " # 2�  "�( #�"+�����  � %��#�� "�$�� �� / ��� �� ��#�� "� K  " + 2� @�
�� +��������#�# # 2�  � %��#�� " +� �#�  "  � -�#�/ ��� +����� %�&�  � "�"� &� # � %��
2�  � %��#�� �� +� # �� $�� � �� &+� " # "%����� ��" +�2� � " %��� "+��#� �� " ��
%��#��/ ��� ���� ��#�� "� K  "  � -�#� " �"�� %�#�,%�#�� " &�" $��" ��" 2� $ � ��� ��
& ��� �A& �� # ���" 4 +�� ����� ��� & ��� �%�+�%�'� # � ��< � # � %�#�,%�#��/

	 $A� " 5� 0��&���#�  � +���� &� # %������ # � %�#�,%�#���  � +���& ��� &�" � +� 1
" �����-� +���  -�����  � � �#�&� ��� # ��� +��.��%�  "  � -���� # � �	�� # �� " %� �%��
# %�#�,%�#� %�&+� ��/ �� �� 0��&���%�'� # � +���� &�� �� 0��%�'� # %�"� � &���&�3��
� +� " ��� +� %�"�& �� �� #�"���"�'� ����� # �� " %� �%��  � ��" �� &�# �� # 0� �� 4 ��
&�# �� # #�"���"�'� # ��" %��#��" + �#�#�"/ S�4 2� � � �  � %� ��� 2� +��� %���2�� �
-���� # K ��" +��.��%�" ��� ��#�" "�� '+��&�" %�� � "+ %�� � ��" &�# ��" �"�#�"� +�� ��
2� ��" � "����#�" ��� ��#�" �� �+��%����" �� "�"� &� � �� # + �# � # %'&� " �9�"� � ��"
&�# ��" � �� � ���#�#/ ��  � %�"� # �� 0��%�'� # %�"� � ��" +��.��%�" ��� �#��� & 9�� "
� "����#�"  �  � "�"� &� � �� %���#� ("�� " �+��8�& &�" �� %�"� � �� 2� � "����  � ��"
 8+ ��& ���"/
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����&�
3
	,7&��
� ⇒ d(31) = 79 ��8��

� ��8�� �8'4 �8'4 !! '� !� � �4 9�!����8��

�" �"�"� ����� �����# ���# �"����

�� �"��� ���"� �"���� ���# �"��"�

�"" �"��� ����� �#��� "��� ����#�

��� �"��� ����" ����� "�"� ������

��" �"��" ����� ����" "�"� ����#�

��� �"��� ����� �"��� "��� ����#�

�"" �"��� ����� ����# "��� ������

��" �"��� ����� ����# "��� �����#

�"" �"��" ����� ���"" "��� ������

��" �"��� ���"� ����� "��# �����#

�	$�%�� ⇒ d(31) = 88 ��8��

� ��8�� �8'4 �8'4 !! '� !� � �4 9�!����8��

�� �"��� ����� �"��#� �"��� �"���

�" �"�#� ���#" ������ ���# �����

�� �"�#� ����� ����"� ���� �����

�" �"�#� ����# ������ ���� �����

#" �"�#� ����" �"���� ���� �#���

�"" �"�#� ����" �"���� ���� �����

��" �"��� ����� ���"� "��� �����

��� �"��� ����" ���#� "��� ���#�

��" �"��� �"��� ����� "��" #����

�"" �#�#� �"��� ���#� "��� �""���

�������� ⇒ d(31) = 128 ��8��

� ��8�� �8'4 �8'4 !! '� !� � �4 9�!����8��

��� ����� �#��� #��#� "��� �����"

�"" ���#� ����� ����� "��� �����#

��" ���"# ���"� ����� "��� �"��"�

�"" ���"# ���#� ����� "��" �"����

��� ���"# ���#� ����� "��" �"����

��" ����" ���#� ����� "��� �"���"

�"" ����� ����� �"��� "��� �"��"�

�"" ����� ����� �#�"� "��� �"����

�"" ����� ����� ���"" "��� �"����

�"" ����� ����" ����� "��� �"����

�""" ����� ����� ����� ���� ������

����� I/H� �	�� # �� " %� �%�� # %�#�,%�#�� �	�� # ��" %��#��" %��� %��& �� � %���1
#�" 6�	�� ��7� �A& �� # %��#��" + �#�#�" 6�� ��7� +��% ���9 # +�2� � " # � �� ��
6R ��7� 4 #�"���"�'� & #�� # ��" %��#��" + �#�#�" 6�6��77 +��� #�"�����" -���� " # K/
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� ��" � "����#�" # �� ����� I/H " ��" �-� 2� �� -����%�'� # � �	�� %�� K +� " ���
�� &�8�&�/ 	� ��&�&�" %�&� -���� " # � 0 � �%�� +��� K  � -���� & #�� �	� # ��" %��1
#��" + �#�#�" 6�6��77� " �� � 2� +��� -���� " # K �� 9�#�" # �6��7 6K << �6��7
4 K >> �6��77  � �	�� ��� ��#� #�"&���4 / ����#� K  " + 2� @�� %�&� 4� " 5�
%�& ���#� ��� ����& �� � ��" +��.��%�" # %������ 5�% � 2� " +� �#� �� �A& ��  � -�#�
# %��#��" �� 2� # $��#�  � �	�� ,��� # �� " %� �%��/ �� %�&���� +��� -���� " ����"
# K ��" +��.��%�" �"�� %�����,%�#�� " &�" $��" ��" # &�#� 2� ��" %��#��" %�#�,%�#�"
$ � � � & ��" ���" 4 �". "  -�� �� +(�#�#� # %��#��"/ ��� ������ ��" %��#��" � %���#�"
-�� � " � # & ��� %���#�# ��� ��(�#�" �� -���� # �	�� $����� &�" ��9�/ ���� -���� "
��� �& #��" # K " ��%��3�  � &�8�&� # �	��/

�� �� ,$��� I/) " 5� � +� " ���#� �� -����%�'� # � �	�� %�� � "+ %�� � K +��� ��"
�� " " %� �%��" # +�� ��/ 	 5� ��#�%�#� ��&��(�  � ���$� # -���� " # �6��7 ��� ��#�
 � ��" #�"�����" "�&���%��� "/ ��&� " +� # ��" �-��� ��" +��.��%�" +��+��%����� �� -����
# �	�� % �%��� �� &�8�&� +��� ��" -���� " # K # ���� # � ��� �-��� # -����%�'� # 
�6��7/ �"� � "����#� ��#�%� 2� � "�  � ��9 ��-� # � %������ # � %�#�,%�#��  " &�8�&�3��
 � �	�� # �� " %� �%�� # %�#�,%�#��  � -���� �"�$��#� � K # � " � "�&���� �� -����
� �� # �� #�"���"�'� & #�� # ��" %��#��" + �#�#�"/ ��� ���� ��#��  "� %�&+����&� ���
�� "��$�� ��&��(� �� %��"�"� �%�� # � &�# �� +��+� "��� 4� 2� K � +� " ��� ��  "+ ���3�
&�� &���%� # �� -������ �� ������ �"�#� +��� &�# ��� �� #�"���"�'� 6�	�7 # ��" %��#��"
+ �#�#�"/

�� ��"���� � �� 0��%�'� # %�"� �����3�#� +� " ��� %� ���" ��&���%��� " 2� " +� # �
�+� %���  � ��" � "����#�" ��� ��#�" %�� �� " %� �%�� >�=�4�?/ � ��#� �  "�� 0��%�'� # 
%�"� � ��" +��.��%�" ��"%�� &�8�&�3��  � -���� # �	�� # �� " %� �%�� # %�#�,%�#�/ ��
��"���� �  "� %��� ��� +� # �%��� ��  0 %��" ��� ��� " %�&� ��" 2� " ��" �-��  �  � %�"�
# >�=�4�?/ �� �� ����� I/H " ��" �-� 2� +��� K ∈ [50, 75] " ��%��3�  � &�8�&� # 
�	��� "����%�'� 2� ��&��(� " %��� "+��# %�� �� �A& ��  � -�#� # %��#��" + �#�#�"
6&�" # E** %��#��" + �#�#�"  � & #�� # �� ����� # H**7/ �"��  " # ��#� � 2� ��
�%��-�#�# +� " ��  �  "�� " %� �%��  " + 2� @� 6��"�%�& �� �� 2� %�&���  " �� %��� # 
�� +� " ���#��� �� 5�����7/ �"�� "�+�� 2� �� #�"���"�'� � "������ # + �# � �� %��#��
6��9� ��" %��#�%��� " # ����"&�"�'�  "+ %�,%�#�" +��� ��" +�� ��"7 +� # �� $�� � " �
& ��� 2� �� ��� ��#� %�� ��$���" %�����,%�#�� "�  " # %��� �6��7 < d(31)/ ���2� 
# "#  � +���� # -�"�� # � �	�� " 5� ��$��#�  � &�8�&�� # "#  � +���� # -�"�� # ��
%�������#�# # �� " %� �%�� +� # � "����� ���% +���� � � � �����" +(�#�#�" # %��#��/

����  -����  "�� "����%�'� 5���.� 2� � 0��&����  � +���� &� # &�#� 2� " # ,�� " 
��� �� -� 0��%�'� # %�"� 2� ��-� "  � %� ���  "� 5 %5� 2� " +� � �#  -����/ �
&�#� #  9 &+��� -�&�" � ��#�%�� %�&� " �.� +�"��� + ����3�� �� +(�#�#� # %��#��" �
���-(" # �� 0��%�'� # %�"� �"�#�  � �� "��� 0��&���%�'�/ ��&� 5 &�" -�"��� � &�4��
-���� # K & ��� �A& �� # %��#��" + �#�#�" %�� �� 2�  ��$� �#� �� -���� �# %��#� # 
K " +� # � #�%��  � �A& �� # %��#��" + �#�#�"/ �  "� &�#�� �� #�� �� &�4�� -���� �
K "  "�� ��%��4 �#��  � %� ��� & #�#��  � �� 0��%�'� # %�"� �� + ����3�%�'� "��9 ��-� # 
�� #�"%�������#�# +��#�%�#� +�� ��" %��#��" + �#�#�"/ � �$��� &�� ��� " +�#�.�� # ,���
����" 0��%��� " # %�"� ��"�#�"  � +���& ���" # %���#�# "��9 ��-�"/ �� 0��&���%�'�
+��+� "�� # � +���� &� # %������ # � %�#�,%�#��  "�� ��� ��� �� �"� # %���2�� � 0��%�'�
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# %�"� "� &+� 2� %�&+�� ��" %���%� �."��%�" # " � �� %�"� �#���-�  �  � �� &+�� 4 2� 
# + �#� # ��" -������ " #  "��#� # � "�"� &� 4 # � %�����,%�#�� �"�#�/
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6�7 6%7

:�$��� I/)� M����%�'� # � �	�� %�� � "+ %�� �� -���� # K/ 	 5� ��#�%�#�  � ��� �-�1
�� %��� "+��#� �� � ��" -���� " # K �$��� " � ��" -���� " # �6��7 ��� ��#�"  � ��"
"�&���%��� "/

&����� +��%$���� �  � �� ���*��,� � 

� ��" -������ " # 2� %�&+�� �  �  "��#� # � &�# �� # � "�"� &��  "��#� # � %���� 6ck7�
�A& �� # ��� �-���" # +�2� � #�"+����� " 6tk7� 4 %�&+� 9�#�# # %��#�� 6sk7�  "  "��
A���&� �� 2� " %���%� ��3� +�� +�"  � ��  "+�%�� #  "��#�" &�" ��& ��"�� � + "�� # 
�� ��&���%�'�  �  � ���$� # -����%�'� # ,��#� +��  � ��� �-��� [smin, smax]/ �"�� %���%� 1
�."��%� 5�% 2�  � �A& �� ����� #  "��#�" # � "�"� &� # + �#� 0� �� & �� # � ���$� # 
-����%�'� # sk/

�� ����� I/I � %�$ � &�#� #  9 &+�� ��" %�������%��� " # ��" -������ " �� �A& ��
����� #  "��#�" " $A� ��" %��#�%��� " # ��"  8+ ��& ���" � ���3�#�" +��� �� " %� �%��
>"�� ��?/ ��" -���� " smin 4 smax " 5��  "��&�#� � +����� # ��" & #�#�" # �� %�&+� 9�#�#
# %�#� ��� # ��" %��#��" # �� " %� �%��/ ��&� " +� # ��" �-��� �� %�������%�'�
&�4�� %��� � %��$� # �� %�&+� 9�#�#� "� �#� �� #�0 � �%�� %�� ��" ����" -������ " ��"���� 
�+� %���� /
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>"�� ��? ∆T = 2Tf ∆T = 3Tf ∆T = 4Tf

�"��#� %���� ) ) )
�� # +�2� � " #�"+����� " HI GK E**

��&+� 9�#�# J/*** J/*** J/***
�� �����  "��#�" GE)/*** E/)*G/*** E/L**/***

����� I/I� ��������%�'� �� �A& �� #  "��#�" # � "�"� &� # ��" #�"�����" -������ " # 
 "��#� +��� �� " %� �%�� >"�� ��? 4 +��� ��" -���� " # � � ���#�  8�� &� �  8�� &� �"�#�"
 � ��"  8+ ��& ���"/

�� %�"� %�&+���%����� � 2� ��#� +���  � %��%��� # ��" +��.��%�" # %������ # + �# 
# � �A& �� #  "��#�" # � "�"� &� 4� ���2�  � +��% "� # %��%��� " � ���3�  � #�0 ��#�
%�� � "+ %�� � �� ����"&�"�'� # ��" " %� �%��" # -.# �� �� �A& ��  8% "�-� #  "��#�"
+� # 5�% ��� �&+��%��%��� / �". +��  9 &+��  � ��" +�� ��" � ���3�#�"�  � %��%��� # ���
+��.��%� # %������ # �� "�"� &� %�� ���" %�����" &�� " #  "��#�" � 2�� � 5���" # 
+��% "�&� ����� %�� �� 2�  � %��%��� # �� +��.��%� # �� "�"� &� %�� %� ���" # &�� " # 
 "��#�" +� # � "����� ������#��� /

�� �+%�'� &�" ��& #���� 4 " �%���� +��� � #�%��  � �A& �� #  "��#�" # � "�"� &�  " ��
�+��%�%�'� # �� +��% "� # %�����,%�%�'� � ��� � &�" -������ " #  "��#�/ �� ��"���� �
�� %�����,%�%�'�  � ��" -������ " #  "��#� +� # �0 %��� �� � �#�&� ��� # ��" +��.��%�" 4�
+�� ������ � �� %���#�# # �� " %� �%�� # %�#�,%�#�/ �". +� "� " �� � % "����  -�����  "� 
 0 %�� +���  "���� % � �� %��� ��� # %�&+��&�"�  ��� �� � #�%%�'� # � �A& �� #  "��#�"
4 �� +�"��� #�"&���%�'� # �� %���#�# # �� " %� �%�� # %�#�,%�#�/

��#� 2�  " �� -������ 2� &�" %�������4 �� �A& �� #  "��#�" # � "�"� &�  " ��
%�&+� 9�#�#�  � +��% "� # %�����,%�%�'� " -� � �+��%�� "��� "� ��� �-��� # # ,��%�'�
[smin, smax]/ 	 -� � �����3��  � � �#�&� ��� # ��" +��.��%�" %��"�# ���#� #�- �"�" ��� �-���"
# %�����,%�%�'�/

�� ����� I/F %���� � ��" � "����#�" ��� ��#�" "��� ��" " %� �%��" >&��5 �1#��$5� �?�
>�=�4�?� 4 >"�� ��?/ 	 5� �����3�#� %�&� -���� # � %��"���%%�'�  � -���� % ����� # %�#�
��� �-��� # %�����,%�%�'�/ ��" -���� " smin 4 smax # %�#� " %� �%�� " 5��  "��&�#�  �
��" � ��" & #�#�" # �� %�&+� 9�#�# ��� ��#�" "��� ��" %��#��" # %�#� " %� �%��/ ��
 "�  8+ ��& ��� 5 &�" %��"�# ��#� �� � ���#�  8�� &� �  8�� &� ∆T W HHH &" 62Tf 7
4 " 5� �"�#� %�&� &�# �� # %����  � &�# �� S1�����/

�� +��& �� 2� " ��" �-�  " 2� 5�4 +�%� -�����3�  � �� %���#�# # ��" � "����1
#�" ��� ��#�"� ��%��"� %���#� " �����3� �� A��%� ��� �-��� # %�����,%�%�'�/ �'� " 2� 
%�� �� A��%� ��� �-��� # %�����,%�%�'� " "�&+��,%� �&+�.%���& ��  � &�# �� # " 1
%� �%��� 4� 2� "  "�� %��"�# ���#� 2� ��" %���%� �."��%�" # ��"�1#�"���"�'� # ��#�"
��" %��#��" "�� �$��� "/ �"� � "����#�  " %��"�"� �� %�� �� +� &�"� �#�+��#� �% �%�
# �� "�&�����#  � ��" %���%� �."��%�" # ��"�1#�"���"�'� # ��" %��#��" # �� " %� �%��/
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>&��5 �1#��$5� �?
�� 
�� �-���

��� �-���" 6���"7
�	�� �� ��

E G/*** H*�L* HF�G)
) H/*** H*�L) HH�GI
I E/F** H*�L) HH�LF
L KF* H*�LE HH�I*
EG HKF H*�LE HI�*)
G* E** H*�LE HH�JL

>�=�4�?
�� 
�� �-���

��� �-���" 6���"7
�	�� �� ��

E )/*** H*�LJ E*F�GG
) E/*** H*�JL E*F�LL
I F** H*�LK JK�EK
L )F* H*�LJ E*E�G)
)* E** H*�J* E*E�EI

>"�� ��?
�� 
�� �-���

��� �-���" 6���"7
�	�� �� ��

E J/*** )K�EE HE�LG
) I/F** )K�EE H)�HL
I )/)F* )K�E) H*�LL
L E/E)F )K�EH HE�E)
EL F** )K�EE HE�FE
HG )F* )K�EH HE�LF
J* E** )K�EH HE�LF

����� I/F� �	�� 4 �A& �� # %��#��" + �#�#�" 6��7 ��� ��#�" +��� #�"�����" %�����,%�1
%��� " # �� -������ %�&+� 9�#�#/
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� ��#� �  "�� 5�&�$ � �#�# �� $��������#�# # �� %�����,%�%�'� # �� %�&+� 9�#�# ��
��T�4 0� �� & ��  � �� %���#�# ,��� # ��" � "����#�"/

�� ��"���� � " +� # ��" �-��  � ��" �� " " %� �%��" 2�  � �"� # &�" # �� ��� �-���
# %�����,%�%�'� " ���#�% �����  � ��� ��$ �� & 9��� # � �	�� %�&�  � ��� &�" ������ 
#�"&���%�'� # � �A& �� # %��#��" + �#�#�"/ ��" � "����#�" ��&��(� %��"����� 2� � ���
- 3 ��%��3�#� �� # � �&���#� ��- � # $��������#�# # �� %�&+� 9�#�#� �� %���#�# # ��
" %� �%�� # %�#�,%�#� �� ��& ��� ���2� " "�$� ��%� & ����#�  � �A& �� # ��� �-���"
# %�����,%�%�'�/ � 5 %5��  � ��"  8+ ��& ���" � ���3�#�" " ��" �-� 2� ��" & 9�� "
� "����#�" " ���� � � +��� ��� $��������#�# # )1I ��� �-���" # %�����,%�%�'�/

�"��" � "����#�" # &� "���� 2� � %��  � &�# �� # 0� �� �#�+��#�� �� %�����,%�%�'�
# �� %�&+� 9�#�# �� -� � "�+�� � ��� # $��#�%�'� �&+������ # �� %���#�# # �� " 1
%� �%�� # %�#�,%�#��  " &�"� ��&��(� ��#�%�� 2�  � �"� # ��� $��������#�#  � -�#� ��
"�+�� ��� & 9��� # �� %���#�#/ ��� ������ +�# &�" %��%���� 2� �� %�����,%�%�'� # ��
%�&+� 9�#�# ��" + �&�� � #�%��  � �A& �� #  "��#�" # � "�"� &� %��"�# ���� & �� "��
# $��#�� �� %���#�# # �� " %� �%�� ,��� 6�'� " 2� ��" & 9�� " � "����#�" # %���#�# " 
���� � � +��� �� �A& �� + 2� @� # ��� �-���" # %�����,%�%�'�7/ �� ��" "�&���%��� "
%��� "+��#� �� " �� � "�� # � %�+.���� �����3�� &�" ��� $��������#�# # ) ' I ��� �-���"
# %�����,%�%�'�/

&���#� ��% ����%!�  �� ��-���!��

���� %�����"���  � � �#�&� ��� # ��" +��.��%�" # %������ %��%���#�" " 5�� �&+� & �1
��#� ����" #�" & %���"&�" # %������ # � %�#�,%�#�� 4 5 &�" %�&+���#� ��" � "����#�"
��� ��#�"/ ��" � 0 ��� &�" � �� "��� �+��8�&�%�'� %�&� ��$����&� ���� &� ����" 2� 
��" ����" #�" ��$����&�" �&+� & ���#�" "���

��$����&� # ���$��&�%�'� ����&�%� � � �&���"�� 6���7 ��"�#�  �  � &(��#�
# %������ +��+� "��  � P)IQ/ ���� %�#� %��#��  � %�����,%�#�� " # � �&��� +��
& #�� # �� � "���%�'� # �� +���� &� # ��� %��  � ��9 ��-� # &���&�3�� ��
#�"���"�'�  "+ ��#�/ 	� 0��&���%�'� %��"�# �� "'�� �2� ���" %��#��" 2� 4�  "���
#�"+����� "  �  � %�#�,%�#��� 4 %�4� �A& �� -� � # + �# � # � -���� # ∆T 4
# � %�&+����&� ��� # � %����/ �� #�0 � �%�� +���%�+�� %�� �� "��� �+��8�&�%�'�  "
2� #����� �� ����"&�"�'� # �� " %� �%�� +��� %�#� %��#�� " �� � 2� � "��- �
+� -��& �� �� +���� &� # ���/ �� %�&���  � �� "��� �+��8�&�%�'�� ��� +��.��%�
'+��&� %��%���#� +�� & #�� # ���  " -���#� +��� ��#� �� " %� �%�� 4 " +� # 
%��%���� +� -��& ��  � #�0 ��#� $��%��" �� &�# ��#� # � "�"� &�/ ��� ���� ��#��  �
 "�  �0�2� ��� �� " �����3� ���$A� &�# �� +���  � %��%��� # ��" %���%� �."��%�"
# ��"�1#�"���"�'� "��� 2�  "��" -���� " " &�# � #�� %��& �� "��� ��" %��#��"/

������� ��� �
����� �� ���

���
�� 
���������� ��



������� �����	��
�� �� ���

������� �� ����� ���� ������� �� �����
��� �
���
� ���
����

��$����&� ��"�#�  �  � & %���"&� �"�#�  � ���L PIKQ 6���7/ ��  "� %�"��
5 &�" �"�#� ��  "���� $�� +��+� "��  � ���L +���  � %������ # � �($�& � �������
 � �� %�+� # %��#���  " # %��� �"�&�" "� 0��&���%�'� +��� +� # %��  � �A& �� # ���"
��9 ��-� +��� %�#� %��#��/ � +����� #  " -���� "  ��$  � %�����,%�#�� 2� �+��%�#�
"���  � %��#�� +��#�3%�  � -���� &�" % �%���� +�� # 0 %��� �� -���� ��9 ��-�/ �"� 
��$����&� �� �"� ���$��� ��0��&�%�'� �% �%� # � %���� 6 " �� ��$����&� + �"�#�
+��� �� %���� # - ��%�#�# %��"���� 7 � # �� " %� �%�� # -.# �� %�� �� 2� +� # 
" �-�� # � 0 � �%�� +��� & #�� �� & 9��� ��� ��#� %�� �� ��%��+���%�'� # &�# ��"
� +����� # 0� �� 4 %����  � ��  "���� $�� # %������/

��� ��" �� " ��$����&�" " 5�� � ���3�#� "�&���%��� " "���  � &�# �� # %���� S1�����
��� �� �#� ��" � "����#�" &�"���#�"  � �� ����� I/G/ 	 +� # ��" �-���  � +��& � ��$���
2�  � ��$����&� ��� ���� � � "����#�" "�&���� " �� ��$����&� ���� &� ����" 2� � %�1
&�  �� +� -�"��� � ���� � & 9�� " � "����#�" 2�  � ��$����&� ���� �����  � -���� " # 
�	�� %�&�  � %��#��" + �#�#�"/ �"�� #�0 � �%��  " &�" &��%�#� +��� ��" -���� " & ��� "
# � � ���#�  8�� &� �  8�� &� # ��#� � 2�  �  "��" %�"�"  � #�"+�� � # �� &�# �� # �
%�&+����&� ��� # � %���� + �&�� ����%�+�� ��"  ���� " # ����"&�"�'�/ �� %�&���� %��
�� � ���#�  8�� &� �  8�� &�  � -�#�  � %���%�&� ��� � +����� # � %�&+����&� ��� # �
%���� ��  " ��� %�.��%� 4� 2�  � "�"� &�  " %�+�3 # ��"��� � ��"  ���� " # � %����/

����&�
3
	,7&��
�

∆T = 2Tf ∆T = 3Tf ∆T = 4Tf

:�7�
���� �8'4 '� !� �8'4 '� !� �8'4 '� !�

�9� �"��" ����" �"�#� �#��� ���"� ����#

�99 �"��� ���#� �"��# �#�#� �"��� �����

;�' ����� ������ �#��� �"�#� �"�"# �#���

�	$�%��

∆T = 2Tf ∆T = 3Tf ∆T = 4Tf

:�7�
���� �8'4 '� !� �8'4 '� !� �8'4 '� !�

�9� �"�"� ����� �"��" ���#� �"��� ���#"

�99 �"�"� ����� �#�#� ����� �#�#" �����

;�' ����� ��#��# �#�"� �"��� �#��# ���#�

��������

∆T = 2Tf ∆T = 3Tf ∆T = 4Tf

:�7�
���� �8'4 '� !� �8'4 '� !� �8'4 '� !�

�9� ����� ���"" ����" ���"� ����� ���#

�99 ����� ���#� ����� ����� ����� ����

;�' ����� ������ ����� �"��" ����� ����#

����� I/G� �	�� 4 �A& �� # %��#��" + �#�#�" 6��7 +��� #�0 � �� " -���� " # ∆T /

�� ������� ��� �
����� �� ���

���
�� 
����������



������� �����	��
�� �� ���

������� �� ����� ���� ������� �� �����
��� �
���
� ���
����

��� � "+ %�� �� %�"� %�&+���%����� � 2� ��#� #����� �� ����"&�"�'� # �� " %� �%���
 8�"� ��� #�0 � �%�� "�$��,%���-�  ��� ��" ��$����&�" ��� 4 ���/ �� %�"� � 2� ��#�
#����� �� %�#�,%�%�'� +��� " � %%�����  � %�����,%�#�� �+��+��#�  � %�#� %�"�  "�

���� HE �+ ��%��� " # %�#�,%�%�'� +��� ��" & #�#�" # ��" -���� " # ��"�1#�"���"�'�
# � %��#�� 4 �� � "���%�'� # �� +���� &� # ���/

���� ) �+ ��%��� " # %�#�,%�%�'�� ��� +��� %��%����  � -���� # �� %�&+� 9�#�# # �
%��#�� 4 ���� +��� �� +��+�� %�#�,%�%�'� # � %��#�� %��  � %�����,%�#�� " � %%����#��
4 ��� %��"���� � ��� ����� +��� " � %%�����  � %�����,%�#�� �+��+��#� ��  "��#� # �
"�"� &� 2� " 5� �# ���,%�#�/

��� ������ �� � #�%%�'� # � %�"� %�&+���%����� #����� �� %�#�,%�%�'�  " �&+������ 
&� ����" 2� �� %���#�# # ��" � "����#�" " &���� � / �� #�0 � �%��  �  � %�"� %�&+���1
%����� " �.� &�" "�$��,%���-�  �  � %�"� # %��"�# ��� %�#�,%�%�'� ��� �%��#��� #�#� 2� 
 � %��� "+��#� �� +���� &� ��� " - &�%5� &�" �0 %��#� PIIQ� &� ����" 2�  �  � %�"�
# �� "���  �0�2� �  "� ��%� & ��� # %�&+� 9�#�# �0 %���.� ��� "'�� � �� %��$� %�&+�1
��%����� # � %��%��� � +����� # ��" +��.��%�" %�� �� 2� "� �&+�%�� " �.� & ��� 6-(�" ��
" %%�'� G/G7/

&���&� ��!$ ��  �� �(��!�  ��  ���,$�!� �% �� �� ���  � ($�%!�

��  "�� " %%�'� -�&�" �  "��#���  � %�"� +����%����  �  � 2�  � &�# �� � +����� # 
0� �� �"�#� ��� "'�� " �9�"�� � ��" %���%� �."��%�" # ��� +��� # �� " %� �%��/ ����
 "�  8+ ��& ��� 5 &�"  � $�#� �� " %� �%�� >0�� &��? 2� +� " ��� �� %�&��� #  "% ��/
��" %��#�%��� " # "�&���%�'� "�� ��" &�"&�" 2� " 5�� # "%���� �� ���%�� # �� " %%�'�
I/G �  8% +%�'� # �� %�+�%�#�# # � %����/ ��#� 2�  "�� " %� �%�� " %���%� ��3� +��
���  � -�#� %�&+� 9�#�# 64 +�� ����� "� %�#�,%�%�'� � 2�� � �� &�4�� �A& �� # ���"7
5 &�" �"�#�  � ��" "�&���%��� " �� %���� # ��� - ��%�#�# ������� &�4��/ �� %��$� A���
# ��" +�2� � "  �  "� %�"�  " # GFG ���"  � - 3 # ��" H)L ���"/ �� %����� �� &�# �� # 
%����� " 5� �����3�#�  � &�# �� S1�����/ ��" � "����#�"  "��� � T 9�#�"  � �� ����� I/K/

�<�
��	��

∆T = 2Tf ∆T = 3Tf ∆T = 4Tf

:�7�
���� �8'4 '� !� �8'4 '� !� �8'4 '� !�

�9� ���#� ����� �#�#� ���� �"��� ����

�99 ���� ����� �"��� ���" �"��� ����

;�' ����� �����" ����� ����� ����� ����#

����� I/K� �	�� 4 �A& �� # %��#��" + �#�#�" 6��7 +��� #�"�����" -���� " # ∆T /

�� $ � ���� " +� # ��" �-�� 2�  � ��$����&� ��� +��#�% � "����#�" "�&���� " �
��" # � ��$����&� ���� ���2� " �+� %�� 2�  � -���� # �	��  " ��$� &�" ��9�  �
��#�" ��" %�"�"/ ���� �����3��  � # ����  "� 5 %5� 5 &�" � +� " ���#�  � �� ,$��� I/H  �

������� ��� �
����� �� ���

���
�� 
���������� ��



������� �����	��
�� �� ���

������� �� ����� ���� ������� �� �����
��� �
���
� ���
����

-���� & #�� # �	�� +��� %�#� ��� # ��" %��#��" # �� " %� �%�� # %�#�,%�#�/ �"��"
� "����#�" %��� "+��# � �� -���� ∆T = 3Tf /

Foreman

28
28,5

29
29,5

30
30,5

31
31,5

32
32,5

33
33,5

0 25 50 75 100 125 150 175 200 225 250 275 300

Cuadro

PS
N

R
 (d

B
)

PDD
PDE

:�$��� I/H� M���� & #�� # �	�� # ��" %��#��" # %�#�,%�#�" # �� " %� �%�� >0�� &��?
 � ��" "�&���%��� " %��� "+��#� �� " � ∆T = 3Tf /

	 +� # ��" �-�� %�&� ��" � "����#�" ��� ��#�" +�� �&��" ��$����&�" "�$� � �� +�1
��'� "�&���� 5�"��  � %��#�� ))*/ � +����� #  " &�& ����  � -���� # �	�� ��� ��#� +��
 � ��$����&� ���  " ��$ ��& �� & ��� 2�  � ��� ��#� +��  � ��$����&� ���/ � 5 %5��
"� #�-�#�&�" �� " %� �%��  � #�" " $& ���"� ��� #  ���" 0��&�#� +�� ��" ))* +��& ��"
%��#��" 4  � ���� %��  � � "�� # �� " %� �%��� 4 %��%���&�" "� -���� # �	�� & #��
- &�" 2� " %��,�&�  "� 5 %5� 6-(�" �� ����� I/L7/ ����  � +��& � " $& ���  � -����
 " +��%��%�& ��  � &�"&� +��� ��" #�" ��$����&�"� &� ����" 2� #�����  � " $��#� " $1
& ���  � ��$����&� # ��� ���� � �� -���� & ��� # �	��/ �"��  " # ��#� �� # "�9�"� 
 8�"� ��  ���  � &�# �� # �� 0� �� # -.# � 4 ��" %���%� �."��%�" � �� " # �� " %� �%��/
S�4 2� � � �  � %� ��� 2�  � &�# �� # 0� �� " %��%��� � +����� # � +��& � %��#�� # 
�� " %� �%�� %�� �� 2� " �9�"�� &�4 �� � � ��" %���%� �."��%�" # � +��& � " $& ���/ ��
%�&���� ��  "% �� %�&���  �  � " $��#� " $& ��� %�� �� 2�  � &�# �� # 0� �� 4� ��
 " ��� +� %�"�/ ��� ���� ��#�� �� +��.��%� # %������ " 5� %��%���#�  � ��" �� &�# �� # 
0� �� %�� �� 2�  � ��$����&� ��� ���� � & 9�� " � "����#�" #����� �� +��& �� +��� 
# �� " %� �%�� 2� #����� �� " $��#�/ ��� ������ +�# &�" %��%���� 2� � %�&�  �� # 
 "+ ���� �� # "�9�"�  �  � &�# �� # 0� �� +��-�%� ��� #�"&���%�'�  � �� %���#�# # ��
" %� �%�� # %�#�,%�#�/ �� ��"���� � 5�4 2� # "��%�� 2� ���2� 5�4 ��� ��$ �� +(�#�#�
# �	�� %�� � "+ %�� �� ��$����&� ���� ��" � "����#�" ��� ��#�" "���  � %���2�� � %�"��
������ & �� & 9�� " 2� ��" ��� ��#�" %��  � ��$����&� ���/

�� ������� ��� �
����� �� ���

���
�� 
����������



������� �����	��
�� �� ���

������� �� ����� ���� ������� �� �����
��� �
���
� ���
����

��7����� �8'4 �9� �8'4 �99

="3��"> �"��� �"���

=���3�##> �#��� �#���

����� I/L� M���� & #�� # �	�� # �� ����"&�"�'� # #�" " $& ���" #�"�����" # ��
" %� �%�� >0�� &��? �"��#� ��" ��$����&�" ��� 4 ���/ ��#� " $& ��� " %��� "+��# 
%�� ���  "% �� # �� " %� �%��/

&���)� ��!$ ��  �� �(��!�  ��  ���,$�!� �% �� �� ���  � ��%��

��  "�� " %%�'� -�&�" � �����3�� �� "����%�'�  � �� 2�  � &�# �� # %���� �"�#� +���
%��%���� ��" +��.��%�" �� � +� " ��� �# %��#�& ��  � %�&+����&� ��� # � %���� "��� 
 � 2� " � ���3� �� ����"&�"�'�/ ����  ��� 5 &�" %��%���#� +��.��%�" # %������ +��� ��
" %� �%�� >&��5 �1#��$5� �? �"��#� ��" #�" &�# ��" # %����  "+ %�,%�#�"  � �� ����� I/)/
� ��&���&�" ���1S 4 ���1� � ��" +��.��%�" # %������ ��� ��#�" %��  � &�# �� # %����
S1����� 4 �1����� � "+ %��-�& �� / ��#� +��.��%� " 5� �����3�#�  � "�&���%��� "
%�� �&��" &�# ��" # %����/ ��  "�  8+ ��& ��� " 5� �"�#� �� -���� # ∆T = 2Tf /

�� ����� I/J %���� � ��" � "����#�" ��� ��#�"/ ��  � %�"� # ����"&���� � ���-(" # �
%���� S1������ %�� �� +��.��%� ���1� " ���� � �� -���� "�&���� # �	�� �� +��+��%��1
��#� +�� �� +��.��%� ���1S� + �� " +� �# �� &�4�� �A& �� # %��#��"/ �"��  " # ��#�
� 2�  � &�# �� �1����� � +� " ��� � �� %���� %�� ��� +��������#�# #  ���� + 2� @�/
��" +��.��%�" # ��-�#�" #  "� %����� �� �"��" "��� �� %���� %�� ��� &�4�� +��������#�#
#  ����� +��-�%�� ��� &�4�� +(�#�#� # %��#��"/ ��� ���� ��#�� %���#� " ����"&�� �
���-(" # � %���� �1������ �� +��.��%� ���1S ���� � �� & ��� -���� # �	��/ �"��
 " # ��#� � 2�  "�� +��.��%� " 5� %��%���#�  � ��" � �� %���� # ����"&�"�'� %�� ���
+��������#�# #  ���� &�4��/ ��� ������ �� �+��- %5� ��" � %��"�" #�"+����� " # �� %����
2� � �$� ��� & ��� +��������#�# #  ����/

23�4454 63�4454
���?��(	

�8'4 '� !� �8'4 '� !�

�5632 �"��� ���"# ����� ��#�

�5636 �"��� ����� ���#� ����

����� I/J� � "����#� # ��" "�&���%��� " �"��#� #�" &�# ��" # %���� #�"�����"/ ���� %�#�
&�# �� # %���� " 5� %��%���#� "� +��.��%� '+��&� # %������ 6���1S 4 ���1�7 4 %�#�
+��.��%� " 5�  -����#� ��9� ��" #�" &�# ��" # %����/

��� ������ +�# &�" %��%���� 2� �� +�"��� # "�9�"�  �  � &�# �� # %���� %�� � "1
+ %�� � "� %�&+����&� ��� � �� " -� � ���#�%��� %�&�  �� #  "+ ����  � ��� #�"&���%�'�
# �� %���#�# # �� " %� �%�� # %�#�,%�#� %�� � "+ %�� � �� 2� " +�#�.� ��� � � %�� ��
&�# �� # %���� &�" �# %��#�/ �� � �#�&� ��� # ��" +��.��%�" " - �0 %��#� +�� �� #�"1
%� +��%�� # � &�# ��� �� � +��  �%������" %�� �� %���� %�� &�4�� +��������#�# #  ����
%�� �� 2� +� �# � �� �A& �� &�4�� # %��#��"� �� � +��  �%������" %�� �� %���� %��
��� & ��� +��������#�# #  ���� %�� �� 2� �� �+��- %5�� ��#�" ��" � %��"�" #�"+����� "
# � %����/

������� ��� �
����� �� ���

���
�� 
���������� ��



������� �����	��
�� �� ���

������� �� ����� ���� ������� �� �����
��� �
���
� ���
����

&����� ��!�� �  �� ��$��  � ������ .��/0��/1

S�"�� �5��� 5 &�" %��"�# ��#� ��  "2� &� 2�  �  � 2�  � � ���#�  � �� �� $�#� # 
��" �%�" " # � %��� # ��" +�2� � " ����"&���#�" 6� ���#� # � ��ND��N7  " # "+� %���� �
 "��  "� 2�  � %�#�,%�#�� %���% ��& #����& ��  � � "����#� # �� ����"&�"�'� # %�#�
+�2� � / 	��  &���$��  � �� "�"� &� � �� ����"%��� %� ��� �� &+� # "#  �  �-.� # �
+�2� � 5�"�� �� � % +%�'� # � �%�" # � %���/ � ��#� �  "� � ���#�� %���#�  � &'#���
# %������ # � %�#�,%�#�� ���� �  � -���� # �  "��#� # � %����� ("� �� � T 9� �� ��0��&�%�'�
# � %����  �  � &�& ��� �%���� "��� 2� � +� " ��� "�  "��#�  � �� ��"���� ��� ����/

�#�%�����& �� � #�#� 2� ��" �%�" " # � %��� " � %�� � %�� �� %� ��� � ���#�� ��"
+�2� � "  �-��#�" �� � � 2� ��&�% ���" 5�"�� 2� " � %��� "� %��� "+��#� �� ��N �
" �� # "%����#�" +��2�  � %��#�� 4� �� -� � �� $�� � �� &+� �� # %�#�,%�#��/ ��� ������
%���#� %�&� �% �� ����"&�"�'� # �� �� -� %��#�� 6k + 17 +� # 2� 5�4� +�2� � "
# � %��#�� ��� ���� 6k7 + �#� �� " # � %����  � �%�" # � %���/ �� %�"� # 2� " � %���
�� ��N 6�%�" � $���-�7 4 &� ����" �� 5� �� $�#�  � �� &+� #  8+���%�'� # � %��#��
k�  � %��� "+��#� �� +�2� � " �  �-.� %��"�&� �#� �� ��� �-��� # +�2� � 2�  "����
# #�%�#��  � +���%�+��� �� %��#�� k+1/ ��#� 2�  � ��" "�&���%��� " � ���3�#�"  � &'#���
# %������ �� %��"�# ��  � �A& �� # +�2� � " + �#� �� " # � %��#�� ��� ���� +���  �
%��%��� # � �� &+� #�"+����� # � �� -� %��#��� +� # �%����� 2�  � �A& �� ,��� # 
��� �-���" # +�2� � #�"+����� " " � & ��� 2�  � %��%���#�/

����  -�����  � �&+�%�� #  "��"  0 %��" +��#�%�#�" +��  � � ���#� # � ��ND��N
5 &�" "�&���#� �� ����"&�"�'� # �� " %� �%�� >&��5 �1#��$5� �?  � ��" %��#�%��� " 2� 
" 5�� # "%����  �  � %�&� �3� # �� " %%�'� I/G "���  � %���� S1����� 4 %��"�# ���#�
�� -���� # ∆T = 2Tf � + �� � �� �#�  � %� ��� ��  8�"� �%�� # �� � ���#� # � ��ND��N
%��"���� 6�$��� +��� ��#�" ��" +�2� � "7/ 	 5�� %��"�# ��#� #�"�����" -���� " # � � ���#�
4 ��" � "����#�" " � %�$ �  � �� ,$��� I/I/
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6�7 6�7

:�$��� I/I� 6�7 �	�� 4 6�7 �A& �� # %��#��" + �#�#�" 6��7 ��9� #�0 � �� " -���� " # �
� ���#� # � ��ND��N/

��# &�" ��" �-�� 2� " $A� ��& ���  � � ���#� # � �%�" # � %����  � -���� # �	��
# �� " %� �%�� # %�#�,%�#� #�"&���4 4  � �A& �� # %��#��" + �#�#�" ��& ���/ ��
��"���� � +��� -���� " ��9�" # � � ���#� 6≤ 5 ��� �-���" # +�2� � 7 " +� # %��"�# ���

�� ������� ��� �
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2� �� %���#�# # ����"&�"�'�  " �$��� � �� ��� ��#�  � ��  "% �����  �  � 2� #�%5� � ���#�
 " # "+� %���� / �"� � "����#�  " ��3����� "� " �� �  � %� ��� 2� �� ���$���# & #�� # 
�� ��0�$� #  ���� "  " # EJ +�2� � "/ ��� ������ �� � ���#� + 2� @� %�&+���#� %��  "� 
-���� + �&�� 2� �� ��0��&�%�'� 2� � �� $� �� &'#��� # %������ " � "�,%� �� & �� 
� +� " �����-� # �  "��#� � �� # � "�"� &�/ ���� � ���#�" &�4�� " �� �# ���,%�%�'� # �
 "��#� # � "�"� &� +� �# +� %�"�'� %�� �� 2� �� %���#�# # ����"&�"�'� " # � �����/

��� ������ +�# &�" %��%���� 2� �� 0��&���%�'� +��+� "�� 62� %��"�# �� �� � ���#�
# � ��ND��N # "+� %���� 7  " -���#� ��&��(� +��� �2� ���"  "% �����"  � ��" 2�  �
� ���#�  " + 2� @� � "+ %�� � �� ���$���# & #�� # �� ��0�$� #  ����/
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+��� ��� �"!�����

�� &�# �� # � "�"� &� # ����"&�"�'� # -.# � %��"�# ���#�  � �"� # %�#�,%�%�'�
��� �%��#�� %�&+��� #�" # ��" �� "  � & ���" # � &�# �� # � "�"� &� +��� �� %�#�,%�%�'�
�����%��#���

�� %���� # ����"&�"�'�/ �" ��  � & ��� 2� �� # + �# # � %�#�,%�#�� %�� �� 2� 
" -� � �#�+���  � &�# �� # %���� # "%����  � �� " %%�'� H/H/

�� #�"���"�'� # ��" %��#��" + �#�#�"/ � �� -� " -� � &�# ��� � ���-(" # -����1
�� " �� ������"� ��# + �#� �� "  �#(���%�& �� #�"������#�" # & #�� K 6-(�" ��
" %%�'� H/I7/ ��&+����� &�" 2� � � + "�� # �� "�&+��%�#�# # � &�# ��� ��" +��.��%�"
��� ��#�" +��+��%����� � "����#�" "���"0�%�����" %�&� &� "��� �� " %%�'� G/G/)/

�� %�&����  � �"� # %�#�,%�%�'� ��� �%��#�� 5�% 2�  � &�# �� # 0� �� +���  � %�"�
�����%��#��� # "�������#�  � �� " %%�'� H/)� �� " � -���#� # ��#� � ��" #�0 � �%��"  ��� 
�&��" ��+�" # %�#�,%�%�'�/ ��� ������ �� 0��&���%�'� # � +���� &� # %������ � 2�� � 
 � # "������� # �� �� -� &�# �� # 0� �� �#�+��#� �  "� ��+� # %�#�,%�%�'� 4 2� 
%�&+�� %�� ��" � 2��"���" �&+� "��" +�� �� ���/

+��� ��"�#� "� #� 0!���� "� �%"��

��  "�� " %%�'� " -� � # "%�����  � &�# �� +��+� "�� +��� %���%� ��3�� ��" %��-�" # 
��"�1#�"���"�'� # ��� " %� �%�� %�#�,%�#�  � &�#� ��� �%��#�� 6&�# �� # 0� �� ��� �7�
" $A� " 5�  "+ %�,%�#�  � �� 0��&���%�'� # � +���� &��  " # %��� $ � ���#� A��%�& �� 
%��#��" P / �"� &�# �� "�$� ��  "���%���� $ �(��%� # "%����  � �� " %%�'� H/)� +�� �� 2� " 
-� � ��"��  � �� +���& ��� %���%� �."��%� # %�#� %��#�� 2� # ��&���&�" %�&+� 9�#�#
# %��#��� sk�  � %��� # � #�"0����� # ��" +��+� #�# " "�$�� �� "�

GH



������� �����	��
�� �� ���

������� �� ����� ���� ������� �� �����
��� �
���
� ���
����

E/ sk # � �&��� ��" %���%� �."��%�" # ��"�1#�"���"�'� # � %��#���  " # %��� %��  � -����
# sk  " +�"��� # � �&����  � �A& �� # ���"� rk� 4 �� #�"���"�'�� dk� � "������ ��
%�#�,%��  � %��#�� %�� %���2�� � %�����,%�#�� qk� # �%� �#� � %� ���" � ��%��� "
0��%����� "�

rk = fr(sk, qk, qk−1),

dk = fd(sk, qk, qk−1).

)/ �� " %� �%�� {sk} +� # " � &�# ��#� %�&� ��� %�# �� # ���=�- %�������#��
%���%� ��3�#� +�� ��� 0��%�'� # +��������#�# # ����"�%�'� P [sk+1|sk, qk]� 4 #��# 
 � +���& ��� # %������ �� %��"����4  � %�����,%�#�� �+��%�#� qk/

� �� -��  "��" #�" �"+ %��" -�� � #�� ��$�� � #�" +��� " #�0 � �%��#�" # ���� # � &�# ��
# 0� �� � 6�7 &�# �� # %��#�� 2� "  �%��$� # &�# ��� ��" %���%� �."��%�" # ��"�1
#�"���"�'� # %�#� %��#�� � ���-(" # �� # ,��%�'� # ��" � ��%��� " 0��%����� " fr 4 fdB 6��7
&�# �� # " %� �%�� 2� "  �%��$� # � &�# ��#� # ��  -���%�'� # #�%5�" %���%� �."��%�"
# �� %��#�� � ���� � �� �#�  � %� ��� �� # + �# �%�� ��� �%��#��  8�"� ��  �  "� ��+�
# %�#�,%�%�'�/

�� +��% #�&� ��� # #�" @� " $��#�  " "�&���� �� +� " ���#�  � �� " %%�'� H/)� +���� �#�
# � �����"�" # & #�#�" � �� " # ��"�1#�"���"�'� 5 &�" ��"%�#� � ��%��� " 0��%����� "
 ��� ��" -���� " 2� + �&���� ��� %���%� ��3�%�'� &�� &���%� # � &�# ��/ �� ��"���� �
�� # + �# �%��  ��� %��#��"� %���%� �."��%� # �� %�#�,%�%�'� ��� �%��#��� +���� � ��
�� -� +���� &� %�� � "+ %�� � �� %�#�,%�%�'� �����%��#��� �� �&+�"�����#�# # %��%����
��#�" ��" +�"��� " %�#�,%�%��� " 2� " +� # � � ���3�� "��� ��#�" ��" %��#��" # ���
" %� �%��/ ���  9 &+��� +��� ��� " %� �%�� # N %��#��" 4 "�+��� �#� 2� 5�4 #�"+����� "
HE %�����,%�#�� " #�"�����" " �� � � N31 #�"�����" +�"�����#�# " # %�#�,%�%�'�/ ���  ����
� �� 5��� # # "��������  � &�# �� # 0� �� ��� � 4 # & #�� "� +� %�"�'� ��" - &�"
��&���#�" � �+ ��� %�� ��� "'�� �� "��%��9���� # ��#�" ��" +�"��� " %�#�,%�%��� " # ��"
%��#��"/ ��" � "���%%��� "  �  � �A& �� # & #�#�" � ���3�#�" -�� � - ��� �&+� "��" +��
�� 2� 5 &�" # ��&���#� ��" ��-����� 
� 	��	������������/

��#� 2�  � &�# �� # 0� �� +��� ��� " %� �%�� 6� ��+� # " %� �%��7 " -� �
# "�������� "��� �� "��%��9���� # #���" ��� ��#�"  � ���" # � �&���#�" %��#�%��� "�
 " #  "+ ��� 2�  � +��% #�&� ��� # ��� �%�'� # #���" 6 "2� &� # +� +��% "�&� ���7
�0 %� 6�7 � �� +� %�"�'� # � &�# �� %���#� " �����3� +���  "��&�� -���� " # ��"�1#�"���"�'�
"�$�� �#� ����"  "2� &�" # +� +��% "�&� ���� 4 6��7 �� � �#�&� ��� # ��" +��.��%�" ��1
� ��#�" � ���-(" #  ���"/ �"��" � &�" " ��������  � # ����  � ��" " %%��� " F/)/I 4 G/G/E
� "+ %��-�& �� /

)����� ��2$����  � *��*���������%!�

��#� �� %��#�� k�  "��&�" ��� � "�#�"  � & #�� ��" -���� " # ��"�1#�"���"�'� # 
�� %�#�,%�%�'� # #�%5� %��#�� %�� �� # � �&���#� %�����,%�#�� qk/ �� �� %�#�,%�%�'�
�����%��#��  "��" -���� " # + �# � # ��" %���%� �."��%�" # � %��#�� k 4 # � %�����,%�#��
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�+��%�#� qk� # &�#� 2�  � �A& �� # ���" 4 �� #�"���"�'� " +� # �  8+� "�� %�&�
0��%�'� #  "��"  � & ���"�

rk(qk), dk(qk).

�� %�&����  � �� %�#�,%�%�'� ��� �%��#�� # ��#� � ��" �(%��%�" # %�&+ �"�%�'� 4
+� #�%%�'� # &�-�&� ���� ��" -���� " # ��"�1#�"���"�'� # �� %��#�� " - � �0 %��#�" +��
�� %���#�# # �� �&�$ � # � 0 � �%�� �"�#�� 2� � "� - 3  " �� %��#�� %�#�,%�#� +� -��/
�"�� # + �# �%�� %�� ��" %��#��" +� -��" +� # &�# ���" � ���-(" # ��" %�����,%�#�� "
�+��%�#�" �  "��" %��#��" 6qk−1� qk−2� ///� q07� %�� �� 2� ��" -���� " # ��"�1#�"���"�'� # 
�� %��#�� +� # �  8+� "��" %�&�

rk(qk, qk−1, qk−2, ..., q0),

dk(qk, qk−1, qk−2, ..., q0),

#��# -�&�" � # ��&���� ��������
 
� ��
������&� �� %��9���� # %�����,%�#�� "
qk−1� qk−2� ///� q0/

��#� ��� " %� �%�� # N %��#��" # ,��&�" �� ��-���� 
� 	��	������������ %�&� ��
 "+ %�,%�%�'� # N − 1 %�����,%�#�� " 2� " �+��%�� "��� ��" N − 1 +��& ��" %��#��"/
� ����� &�" � ��  "2� &� # +� +��% "�&� ��� +�� qsq/

���� ��� � � ��" -���� " # ��"�1#�"���"�'� # �� # � �&���#� %��#�� k� +��� �� %���1
��,%�#�� qk� 4 " $A� ��  "2� &� # +� +��% "�&� ���� 5�4 2� %�#�,%�� ��" %��#��" ��� 1
���� " � k %�� ��" %�����,%�#�� "  "+ %�,%�#�" +��  �  "2� &�� # &�#� 2�  "��" -���� "
# ��"�1#�"���"�'� " +� # �  8+� "�� %�&��

rk(qk, qsq[k − 1], qsq[k − 2], ..., qsq[0]),

dk(qk, qsq[k − 1], qsq[k − 2], ..., qsq[0]),

#��# qsq[i] ��#�%�  � %�����,%�#��  "+ %�,%�#� +��  �  "2� &� # +��% "�&� ��� +���  �
%��#�� i/ ��� ������ �� %�#�,%�%�'� # ��� " %� �%�� "�$�� �#� ��  "2� &� # +� +��% 1
"�&� ��� � "����$  � �A& �� # +�"��� " %�#�,%�%��� "  � %�#� %��#�� 4� 2�  � 5�"������
# %�#�,%�%�'� # %�#� %��#�� k  "�� +� # � �&���#�/ �# &�"� ��" + �&�� "�&+��,%�� ��
����%�'� # ��"  8+� "��� " ��� ���� " ��#�%��#� A��%�& �� �� # + �# �%�� # ��" -���� "
# ��"�1#�"���"�'� %�� qk� 4� 2� ��" � "���� " %�����,%�#�� " �� -��.���

rk(qk) ≡ rk(qk, qsq[k − 1], qsq[k − 2], ..., qsq[0]),

dk(qk) ≡ dk(qk, qsq[k − 1], qsq[k − 2], ..., qsq[0]).
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��  � # "������� # � &�# �� 5 &�" %��"�# ��#� #�"  "2� &�" # +� +��% "�&� ���
#�"�����"�

���0��& � qsq = cte�  � �� 2� ��#�" ��"  ����#�" # �  "2� &� # +� +��% "�&� ���
�� � �  � &�"&� -����/

�� ������� qsq = al�  �  "� %�"� %�#�  ����#� # �  "2� &� %���� � �� -���� #�"�����
 � $�#� �� ������& �� /

�". +��  9 &+��� "� " "�$�  �  "2� &� # +� +��% "�&� ��� qsq = al � +� " ���#�  �
�� ����� F/E +��� ��� " %� �%�� # E* %��#��"� 4 " 2�� � ��� � �  � �A& �� # ���" # �
%��#�� F %��  � %�����,%�#�� K� r5(7)� �� %�#�,%�%�'� # �� " %� �%�� 5�"��  � %��#�� F
" �.��

q0 = 6, q1 = 7, q2 = 8, q3 = 5, q4 = 25, q5 = 7,

&� ����" 2� "�  � -���� � %��%����  " d3(21) "�$�� �#�  �  "2� &� qsq = 5� �� %�#�,%�%�'�
# �� " %� �%�� 5�"��  � %��#�� H " �.��

q0 = 5, q1 = 5, q2 = 5, q3 = 21.

��+,��	 
� �
��
�(��	������@ qsq = 5
q0 q1 q2 q3 q4 q5 q6 q7 q8

� � � � � � � � �

��+,��	 
� �
��
�(��	������@ qsq = al

q0 q1 q2 q3 q4 q5 q6 q7 q8

� � � � �� �� �� �� ��

����� F/E� �9 &+�� # # ,��%�'� # #�"  "2� &�" # +��% "�&� ��� #�"�����" +��� ���
" %� �%�� # E* %��#��"/

)����� "� ���  � �$� ��

��#� ��� " %� �%�� 6� ��+� # " %� �%��7 4 ��  "2� &� # +� +��% "�&� ����  � ��1
9 ��-� # � &�# �� # %��#��  " +� # %�� ��" -���� " # ��"�1#�"���"�'� � "������ " # ��
%�#�,%�%�'� # �� %��#�� k %�� %���2�� � %�����,%�#�� 2� " � �+��2� � qk�  � 0��%�'�
# ��$��� & #�#� "���  � %��#�� k/ � &�"���� &�"  &+.��%�& �� 2� �� +� #�%%�'� # 
��" -���� " # ��"�1#�"���"�'� %�� "�,%� �� +� %�"�'� +��� �� "���" +��+'"���"  " +�"��� 
� +����� # #�" A��%�" & #�#�" # � 0 � �%��� ��� +��� �� ��"� 4 ���� +��� �� #�"���"�'��
� ���3�#�" "���  � %��#�� 6-(�" �� ,$��� F/E7/ ��" %��%� ��& ��  "��&�" +�"�����#�
� ��%��� " 0��%����� "  ��� ��" -���� " # ��"�1#�"���"�'� # ��" %��#��" # ��� " %� �%��
%�#�,%�#� " $A� �� # � �&���#�  "2� &� # +� +��% "�&� ��� # � ��+��

rk(qk) = fr(rk(qr), qr, qk),

dk(qk) = fd(dk(qd), qd, qk),
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#��# k  "  � .�#�% # ��" %��#��"B rk(qr)  " �� & #�#� # � 0 � �%�� # ��"� %��%���#� %��
 � %�����,%�#�� qrB �����$�& �� � dk(qd)  " �� & #�#� # � 0 � �%�� # #�"���"�'� %��%���#�
%��  � %�����,%�#�� qd/

 
:�$��� F/E� ���$��&� 0��%����� # � &�# �� # %��#��/

���� �����3�� �� � ��%�'�  8�"� ��  ��� ��" -���� " # ��"�1#�"���"�'� 5 &�" %��%���1
#� ��" -���� " rk(qk) 4 dk(qk) # ��" " %� �%��" # +�� �� "�$�� �#� -����"  "2� &�" # 
+� +��% "�&� ���/ �� �����"�" #  "��" & #�#�"  8+ ��& ���� " "�$� �  � �"� # &�# ��"
# � $� "�'� ��� �� +��� %���%� ��3�� ��" � ��%��� " 0��%����� " fr 4 fd� �� �$��� 2� " 5�3�
+���  � &�# �� # 0� �� ������

rk(qk) = a(qk, qr) rk(qr) + b(qk, qr),

dk(qk) = c(qk, qd) dk(qd) + d(qk, qd). 6F/E7

��" ,$���" F/) 4 F/H &� "���� ��" #�"�����" -���� " # � %� ,%� �� # # � �&���1
%�'�� ρ2� ��� ��#�" +��� +�� 9�" # -������ " # 6�7 ��"� (rk(qr), rk(qk))� 4 6�7 #�"���"�'�
(dk(qd), dk(qk)) # �� " %� �%�� >"�� ��? +��� ��#�" ��" %�����,%�#�� " #�"+����� " 4 +���
-����"  "2� &�" # +� +��% "�&� ���/ ��  9 x ��#�%�  � %�����,%�#�� # � 0 � �%�� �"�#�
�� � +��� ��"� 6qr7� �� � +��� #�"���"�'� 6qd7� &� ����" 2�  �  9 y ��#�%�  � %�����,%�#��
# �� -������ 2� " 2�� �  "��&�� 6qk7/
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6�7 6�7

:�$��� F/)� �� ,%� �� # # � �&���%�'� # ��" +�� 9�" # -������ " # 6�7 ��"�
(rk(qr), rk(qk)) 4 6�7 #�"���"�'� (dk(qd), dk(qk))/ ��  9 x ��#�%�  � %�����,%�#�� # � 0 1
� �%�� �"�#� �� � +��� ��"� 6qr7� �� � +��� #�"���"�'� 6qd7� &� ����" 2�  �  9 y ��#�%�
 � %�����,%�#�� # �� -������ 2� " 2�� �  "��&�� 6qk7/ ��#� $��,%� %���� � ��" #�1
��" ��� ��#�" �� %�#�,%�� �� " %� �%�� >"�� ��? �"��#� ��  "2� &� # +� +��% "�&� ���
%��%� ��/
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6�7 6�7

:�$��� F/H� �� ,%� �� # # � �&���%�'� # ��" +�� 9�" # -������ " # 6�7 ��"�
(rk(qr), rk(qk)) 4 6�7 #�"���"�'� (dk(qd), dk(qk))/ ��  9 x ��#�%�  � %�����,%�#�� # � 0 1
� �%�� �"�#� �� � +��� ��"� 6qr7� �� � +��� #�"���"�'� 6qd7� &� ����" 2�  �  9 y ��#�%�
 � %�����,%�#�� # �� -������ 2� " 2�� �  "��&�� 6qk7/ ��#� $��,%� %���� � ��" #�1
��" ��� ��#�" �� %�#�,%�� �� " %� �%�� >"�� ��? �"��#� ��  "2� &� # +� +��% "�&� ���
%��%� ��/
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�� �&��" %�"�"� ��"� 4 #�"���"�'��  " +�"��� ��" �-�� %'&� +��� -���� " # � %�����,1
%�#�� ��9 ��-� qk "����#�"  �  �  ������ # � -���� # � %�����,%�#�� # � 0 � �%���  � -����
# ρ2  " % �%��� � �� ���#�#� #�"&���4 �#� " $A�  � -���� # qk " �� 9� #  ���"/ �� %�����
� ��" $��,%�" � 0 � �� " � �� ��"�  " ��� � "��� ����� 2� " $A� ��& ���  � -���� # qsq

��" %�.#�" # ��" %��-�" " 5�% � &�" ����+��" 4 " ��%��3�� -���� " & ��� " # ρ2/ �"� 
5 %5� +�� % ��#�%�� 2� %����� + �� " � �� �&�$ � # � 0 � �%�� 6qsq &�4��7 & ���  " ��
%��� ��%�'�  ��� ��" -���� " # ��"� ��� ��#�" %�� %�����,%�#�� " �� 9�#�"  ��� "./ ���
���� ��#��  "�  0 %�� " - &�" �% ����#� %���#� qsq = al�  " # %��� 2� �� -��������#�#
 � ��" -���� " # ��" %�����,%�#�� " �+��%�#�" � ��" %��#��" # �� " %� �%�� �0 %�� � $���1
-�& �� �� ��- � # %��� ��%�'�  ��� ��" -������ " # ��"�/ ��� � "+ %�� � �� #�"���"�'��
+�# &�" ��" �-�� 2� +��� -���� " + 2� @�" # qsq " ��%��3�� ��" -���� " & ��� " # ρ2/
��  "� %�"��  � �"� # �� ��" �&�$ � " # � 0 � �%�� 5�% 2� ��" -���� " # #�"���"�'�
��� ��#�" +�� %�����,%�#�� " �� 9�#�"  ��� ". +� " �� � ��� & ��� %��� ��%�'�/

�� +� %�"�'� # � &�# �� " 5� & #�#� "��� ��" " %� �%��" # +�� �� >"�� ��?� >�=�4�?
4 >&��5 �1#��$�5 �? +��� -����"  "2� &�" # +� +��% "�&� ��� 6qsq = 5, 10, 20, 31 4 al7/
��" " %� �%��" 5�� "�#� %�#�,%�#�" � ��� 0� %� �%�� # %��#�� # EF %��#��" +�� " $��#�
� "�����#� +�� ����� �� ����� # EF* %��#��" +�� " %� �%��/ ���� %�#� ��"���%��%�'� # �
&�# �� ��" %� ,%� �� " # ��"  %��%��� " 6F/E7 " 5�� %��%���#� +�� �9�"� # &.��&�"
%��#��#�" �"��#� ��" -���� " rk(qk) 4 dk(qk) # ��#�" ��" %��#��" # �� " %� �%��/ ���
���� ��#�� � �� �#�  � %� ��� �� # + �# �%�� # �� +� %�"�'� %�� ��  � %%�'� # ��" %���1
��,%�#�� " # � 0 � �%��� 5 &�" & #�#�  �  ���� � ����-� & #�� 4 &�8�&� %�& ��#� +��
%�#� ��"���%��%�'� +�"��� # � &�# �� " $A� ��" %�����,%�#�� " # � 0 � �%�� �"�#�"/ ��
��" �� " " %� �%��" �����3�#�" " 5�� ��� �� �#� � "����#�" "�&���� "/ �� ,$��� F/I � %�$ 
��" � "����#�" %��� "+��#� �� " � �� " %� �%�� >"�� ��?/

	 +� # ��" �-�� 2� � ����� +��� �� ��"� %�&� +��� �� #�"���"�'�� ��" %��-�" +� " ����
�� &.��&� +��� ��" -���� " ��� �& #��" # � %�����,%�#�� # � 0 � �%��/ ��� � "+ %��
�� -���� # qsq �����3�#� " ��" �-� 2� ��"  ���� " "�� &�4�� " %���#�  �  "2� &� # 
+� +��% "�&� ��� %���� � -���� "  � $�#�" �� ������& �� / �"� � "����#� %�������� 2� 
 � &�# �� +��+� "�� " �9�"�� + �� � ��" #���" � �� " %���#� �� " %� �%�� " %�#�,%�
"�$�� �#� ��� " � %%�'� # %�����,%�#�� " �� �������  " # %��� 2�  � &�# ��  " &�" +� %�"�
%����� &�" ���0��&  "  � +��% "� # %�#�,%�%�'� # �� " %� �%��/ �� #��� 2� # "��%�  "
 �  � -�#� -���� # �  ���� � ����-� &�8�&� 6�'� " 2�  �  ���� � ����-� &�8�&� %��� "+��# 
� ��� A��%� & #�#�  � �� %��#��7  � %�����"� %�� ��" -���� " &�" ��3����� " # �  ����
� ����-� & #��/ �"�� ��#�%� 2� +��� ��$���" +� #�%%��� "  � &�# ��  " +�%� +� %�"�� + ��
" $A�  � -���� # �  ���� � ����-� & #��  "��" %�"�" "�� +�%� 0� %� �� "/

�� �� ����� F/) 5 &�" � +� " ���#�  � ���$� # -����%�'� # �  ���� � ����-� & #�� 4
&�8�&� # ��" ��"���%��%��� " # � &�# �� %��%���#�"/ ��  ��� " +� # ��" �-�� %'&�  �
�&��" & #�#�"� ��"� 4 #�"���"�'��  � &�# �� # %��#�� +��+� "�� " 2� #� +�� # ��9� # 
�� +� %�"�'� ��� ��#� +��  � &�# �� # 0� �� ����� 6-(�" �� " %%�'� H/)7/
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��� ������ ��" � "����#�" # &� "���� 2� ��� ��"���%��%�'� # � &�# �� # %��#�� ��"
+ �&�� +� # %�� %�� �� ��- � #  ���� ��3����� 6 � ��" +�� ��" � ���3�#�" +� # �� $�� �
" � ��� "'�� # � H�JR7 ��" -���� " # ��"� 4 #�"���"�'� +��� %���2�� � %��#�� 4 %�����,%�#��
� ���-(" # #�" A��%�" & #�#�"� rk(qr) 4 dk(qd)/ � ��&���� &�" �  "��" & #�#�" ���� 
�
���������� 4 
�������&� 
� ���������� # � %��#�� � "+ %��-�& �� /
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:�$��� F/I� ����� � ����-� & #�� 4 &�8�&� # � &�# �� # %��#�� ��� � "��� �� " %� �%��
>"�� ��?  � %����� � 6�7 ��"� 4 6�7 #�"���"�'�/ 	 5� %��%���#� �"��#� %�&� %�����,%�#��
# � 0 � �%�� 6qr 4 qd7 %�#� ��� # ��" %�����,%�#�� " #�"+����� "  �  � %�#�,%�#��/ ��#�
%��-� %��� "+��# � �� -���� # qsq 6qsq = 5, 10, 20, 31, al7/
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)���#� "� ���  � ���$�%���

�� &�# �� # 0� �� ��� � " %�&+� �� %�� �� # ,��%�'� # � &�# �� # " %� �%��� 2� 
"  �%��$� # �� %���%� ��3�%�'� # ��  -���%�'� # ��" %���%� �."��%�" # ��"�1#�"���"�'� # 
�� %��#�� � ���� � ���-(" # ��" -������ " ��"� 4 #�"���"�'� # � 0 � �%��� rk(qr) 4 dk(qd)�
# ,��#�"  �  � &�# �� # %��#��/ �" # %���  � &�# �� # " %� �%�� # "%���  � +�"� # 

rk(qr) ⇒ rk+1(qr),

dk(qd) ⇒ dk+1(qd),

� "� "  ��$ %�&� .�#�% # � %��#�� �%����  � -���� # k − 1 +��� ���,%�� �� ����%�'� %��
� "+ %�� �� &�# �� # %��#���

rk−1(qr) ⇒ rk(qr),

dk−1(qd) ⇒ dk(qd).

�'� " 2�  �  "� %�"�� #�#� 2�  � %��#�� �%���� " %��� "+��# %�� k − 1� ��" %�����,1
%�#�� " 5�"�� qk−2 ��%��"�-  "���.�� ,9�#�" +��  �  "2� &� # +� +��% "�&� ��� �"�#�/

��  � %�"� # %�#�,%�%�'� �����%��#��� ��� - 3  � $�#�" ��" %�����,%�#�� " # � 0 1
� �%�� qr 4 qd� ��" -������ " � "������ " # ��"� 4 #�"���"�'� # � 0 � �%�� # + �# � "'��
# ��" %���%� �."��%�" # ��" %��#��" # �� " %� �%��/ �� %�&���� 5 &�" -�"�� 2�  � ��
%�#�,%�%�'� ��� �%��#�� ��" -���� " # rk(qr) 4 dk(qd) # + �# � ��&��(� # �� �&�$ �
# � 0 � �%��  &+� �#� 4� +�� ������ # �� +��+�� %�#�,%�%�'� # �� " %� �%��/ ��#� 2� 
 "��&�" +� "�+��� �#�  � �"� # �� # � �&���#�  "2� &� # +� +��% "�&� ���� ��" %���1
��,%�#�� " ��� ���� " � qk−1 "�� ,9�" %�� �� 2� +�# &�"  8+� "��  "�� # + �# �%��  �
0��%�'� A��%�& �� # � %�����,%�#�� �+��%�#� �� %��#�� k−1/ �". +� "� +��� #�" %��#��"
%��" %���-�" k − 1 4 k� �%������ 2� %����� & 9�� " �  � %��#�� # � 0 � �%�� k − 1 ��"
-���� " # rk(qr) 4 dk(qd) " ��� & ��� "/ ��� %������ %����� + �� " � �� %���#�# # � %��1
#�� k − 1 �� ��"� 4 #�"���"�'� # � 0 � �%�� # � %��#�� k " ��� &�4�� "/ �"�� � ��%�'�  "
+� "�&��� 2� " %�&+�� "� &+� 4 %���#� ��" %��#��" k − 1 4 k " �� # %���%� �."��%�"
"�&���� "/ ��#� 2�  "��&�" %��"�# ���#� " %� �%��" 2� %�&+� �  "�� +� &�"�� +�# &�"
"�+�� � 2�  � %�&+����&� ��� # ��" & #�#�" # � 0 � �%�� # �� %��#�� %�� � "+ %�� �
�� %���#�# # � %��#�� ��� ���� " $����  "� +���'�/

�". +� "� ��" -������ " ��"� 4 #�"���"�'� # � 0 � �%�� # � %��#�� k " +� # �  8+� "��
%�&��

rk(qr, qk−1),

dk(qd, qk−1).

�� ��� ��"���%��%�'� %��%� �� # � &�# �� # 0� �� ��� � ��" -���� " # ��" %�����,%�1
#�� " # � 0 � �%�� # � &�# �� # %��#��� qr 4 qd� "�� ,9�" +��� ��#�" ��" %��#��" # ��
" %� �%��� +�� �� 2� +���  � &�# �� # " %� �%�� ��" -������ " rk(qr, qk−1) 4 dk(qd, qk−1)
"'�� -�� � # + �# � # ��" %���%� �."��%�" # � %��#�� 4 # � %�����,%�#�� qk−1/ ��� ������
+��� "�&+��,%�� �� ����%�'�� -�&�" � # ,��� #�" �� -�" -������ "� zk 4 pk�  � ��" 2� ��
" %��"�# �� �� # + �# �%�� %�� qr 4 qd # �� "�$�� �� &�� ��� zk(qk−1) = rk(qr, qk−1) 4
pk(qk−1) = dk(qd, qk−1)/
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��  � &�# �� # " %� �%�� 2� +��+�� &�" �� # + �# �%�� %��  � %�����,%�#�� # �
%��#�� +� -�� 4 �� # + �# �%�� %�� ��" %���%� �."��%�" # �� " %� �%�� " -�� � ������
" +���#�& �� / �� +��& � ��$��� " -� � �����3�� 4 &�# ���  � %�&+����&� ��� # ��
��"� 4 #�"���"�'� # � 0 � �%�� %��  � %�����,%�#�� # � %��#�� +� -���  " # %��� #�#� ��
%��#�� k " -�� � %���%� ��3�� ��" -������ " zk(qk−1) 4 pk(qk−1) %�&� 0��%�'� # qk−1/
��"� ����& �� �  � &�# �� " -� � %�&+� ��� %�� �� # "%��+%�'� # �� ��T� �%�� # ��"
%���%� �."��%�" # �� " %� �%��  � ��  -���%�'� # zk 4 pk # �� %��#�� � ����/

���� ��� � � �� +��& �� +��� # � &�# �� -�&�" � " $��� ��  �0�2� "�&���� �� �"�#�  �
 � &�# �� # %��#�� %�� ��" -���� " # ��"� 4 #�"���"�'�/ M � &�" 2� +��� �� # � �&���#�
%��#�� k� ��&��(�  8�"� ��� � ��%�'�  ��� ��" -���� " # zk(qk−1) 4 zk(q

′
k−1)� 4 # pk(qk−1)

4 pk(q
′
k−1)/ �+�4��#���"  �  "�� � ��%�'�� � +����� # �� & #�#� # �� ��"� 4 #�"���"�'� # 

� 0 � �%�� %�� ���" # � �&���#�" %�����,%�#�� " ,9�"� " � &�" %�+�% " #  "��&�� +���
�� %��#�� ��" -���� " #  "��" -������ " %��� "+��#� �� " � %���2�� � ���� %�����,%�#��
6-(�" �� ,$��� F/F7/ ���&�� &�" � #�%5�" %�����,%�#�� " # � 0 � �%��� qz +��� �� ��"�
# � 0 � �%��� 4 qp +��� �� #�"���"�'� # � 0 � �%��/ :��&��& �� �

zk(qk−1) = fz(zk(qz), qz, qk−1),

pk(qk−1) = fp(pk(qp), qp, qk−1).

����  "��#��� �� ������� 3� # #�%5� � ��%�'� 5 &�" � +� " ���#�  � �� ,$��� F/G +�� 1
9�" # -���� " (zk(2), zk(qk−1)) 4 (pk(2), pk(qk−1)) +��� -����" -���� " # qk−1 4 +��� ��#�"
��" %��#��" # �� " %� �%�� >"�� ��?/ �"�� " %� �%�� " 5� %�#�,%�#� �"��#�  �  "2� &�
# +� +��% "�&� ��� qsq = 5� 4 " 5�� ��&�#� %�&� %�����,%�#�� " # � 0 � �%�� qr = 2
+��� �� ��"� 4 qd = 31 +��� �� #�"���"�'�/ ��� �� # � �&���%�'� #  "�" %�����,%�#�� "�
zk(qk−1) 4 pk(qk−1) " 5�� & #�#� +��� ��#�" ��" -���� " +�"��� " # qk−1 # �� "�$�� �� 
&�� ��� #�#� �� # � �&���#� %��#�� k − 1 " %�#�,%� %�� ��#�" ��" +�"��� " %�����,%�1
#�� " �"��#� %�&� �&�$ � # � 0 � �%��  � %��#�� ��� ����� k− 2�  � %��� 0� %�#�,%�#� �
"� - 3 %��  � %�����,%�#�� ��#�%�#� +��  �  "2� &� # +� +��% "�&� ��� qsq[k − 2]/ ��#�
�&�$ � � "������ # %�#�,%��  � %��#�� k − 1 " �"� %�&� �&�$ � # � 0 � �%�� +��� ��
%�#�,%�%�'� # � %��#�� k/ 	���  � %��#�� k " �+��%�  � %�����,%�#��  � $�#� # � 0 � �%��
�� � +��� ��"� 6qr = 27� �� � +��� #�"���"�'� 6qd = 317/ �� # ,����-� %��%���&�" ��" -���� "
rk(2, qk−1) = zk(qk−1) 4 dk(31, qk−1) = pk(qk−1)/

�� �"+ %�� # #�%5�" $��,%�" -� �- � "�$ ���  � �"� # &�# ��" # � $� "�'� ��� ���
%�� �� 2�  � &�# �� # " %� �%�� -� �  "��� %���%� ��3�#� +�� ��" "�$�� �� "  %��%��� "�

zk(qk−1) = e(qk−1, qz) zk(qz) + f(qk−1, qz),

pk(qk−1) = g(qk−1, qp) pk(qp) + h(qk−1, qp). 6F/)7

�"��"  %��%��� " + �&�� �  "��&�� � +����� # #�" A��%�" & #�#�"� zk(qz) 4 pk(qp)�
 � -���� # �� ��"� 4 #�"���"�'� # � 0 � �%�� +��� %���2�� � ���� %�����,%�#��/ �  "��"
-���� " ��" # ��&���� &�" ���� 	���&� 4 
�������&� 	���&� � "+ %��-�& �� / ��&� " +� # 
��" �-��� 5�4 �� $��� +���� ��"&�  ���  � &�# �� # %��#�� 4  � # " %� �%��� "� �� �
" � , � � � & #�#�" #�"�����"�  � &�# �� # %��#�� � ���3�  "��&�%��� " "��� -���� " # 
��"�1#�"���"�'� 2� " ��� �#�.�� �� �+��%�� � �� %��#�� �� # � �&���#� %�����,%�#���
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:�$��� F/F� ���$��&� 0��%����� # � &�# �� # " %� �%�� � 0 � �� � �� %���%� ��3�%�'� # 
�� # + �# �%�� # ��" -������ " zk(qk−1) 4 pk(qk−1) %�� qk−1/
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:�$��� F/G� ��� 9�" # -���� " (zk(2), zk(qk−1)) 4 (pk(2), pk(qk−1)) +��� -����" -���� " # 
qk−1/ ��" -���� " " 5�� & #�#� "��� �� " %� �%�� >"�� ��? �"��#� qsq = 5� qr = 2 4
qd = 31/

&� ����" 2�  "�� +��� # � &�# �� # " %� �%��  "��&� ��" -���� " # ��"�1#�"���"�'� # 
�� %��#�� %��� "+��#� �� " � ���" %�����,%�#�� " # � 0 � �%�� +� -��& �� ,9�#�"� qr �
qd� 2� " ��� �#�.�� �� �+��%�� �� %��#�� ��� ���� �� # � �&���#� %�����,%�#��/

���� - ��,%�� �� -���# 3 #  "�� �+��8�&�%�'� 5 &�" %��%���#�  � %� ,%� �� # # 1
� �&���%�'�  8�"� ��  ��� +�� 9�" -������ " # ��"� # � 0 � �%�� 6(zk(qz), zk(qk−1)7 4 # 
#�"���"�'� # � 0 � �%�� 6pk(qp), pk(qk−1)7 # �� " %� �%�� >"�� ��? 4 +��� ��#�" ��" %���1
��,%�#�� " #�"+����� " 6-(�" �� ,$��� F/K7/ S�4 2� � � �  � %� ��� 2� # ��#� � ��
%�#�,%�%�'� ��� �%��#��� ��" -������ " zk(qk−1) 4 pk(qk−1) �� 2� #�� ��.-�%�& �� # ,��1
#�"  "+ %�,%��#� "���& ��  � -���� # � %�����,%�#�� qk−1/ 	 $A� 5 &�" # "%���� �� "���
 "% ����� # +�� ��"� 5�4 �# &�" 2�  "+ %�,%��  �  "2� &� # +� +��% "�&� ��� " $��1
#�� qsq� 4 ��" %�����,%�#�� " # � 0 � �%�� �"�#�" +��� �� ��"�� qr� 4 �� #�"���"�'�� qd/
6� %�(�# " 2� zk(qk−1) = rk(qr, qk−1) 4 pk(qk−1) = pk(qd, qk−1)7/ �� ��" +�� ��" � ���1
3�#�" 5 &�" �"�#� #�"�����" -���� " # qr 4 qd 6qr = qd = 2, 15, 317� 4 %�&� -���� # �
 "2� &� # +� +��% "�&� ��� 5 &�"  � $�#� qsq = al/ �� ��"���� � 5 &�" %�&+����#�
2�  8�"� �� %�&+����&� ��� "�&���� +��� ��" � "���� "  "2� &�" �"�#�"/

��" � "����#�" # �� ,$��� F/K &� "���� 2� ��" ��- � " # %��� ��%�'� "�� &�4�� "
%����� &�" +�� %�#�" "�� ��" %�����,%�#�� " # ��" -������ "/ ����#�  � -���� # � %���1
��,%�#�� ��9 ��-� qk−1 " �� 9� # � -���� # ��" %�����,%�#�� " # � 0 � �%���  � -���� # 
ρ2 #�"&���4 / ��� ���� ��#�� ��&��(� " ��" �-� 2�  � ��- � # %��� ��%�'� ��%��3�#�
# + �# # ��" %�����,%�#�� " # � 0 � �%�� # �� ��"� 4 �� #�"���"�'� 6qr 4 qd7  � $�#�"/
�� %���2�� � %�"�� ��#�" ��" %�"�" �����3�#�" +� " ���� ��� ������ %��� ��%�'� %�� �� 2� 
��"  %��%��� " 6F/)7 2� #�� 9�"��,%�#�"/

��� � "+ %�� � �� +� %�"�'� # � &�# ���  � �� ,$��� F/L " +� # ��" �-�� ��  -���%�'�
# �  ���� � ����-� & #�� 4 &�8�&� +��� ��#�" ��" +�"��� " -���� " # � %�����,%�#�� # 
� 0 � �%�� # �� ��"� +���'� 6qz7 4 # �� #�"���"�'� +���'� 6qp7/ ��" %� ,%� �� " # � &�# ��
" 5�� %��%���#� +�� �9�"� # &.��&�" %��#��#�" "��� ��#�" ��" & #�#�" # ��� ��#�"
# ��"� 4 #�"���"�'� # � 0 � �%�� # �� " %� �%�� >"�� ��?/ � �� -� " 5�� %��"�# ��#�
�� " +�"��� " -���� " # qr 4 qd/
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:�$��� F/K� �� ,%� �� # # � �&���%�'� # +�� 9�" # -������ " # 6�7 ��"� # � 0 � �%��
6zk(qz)� zk(qk−1)7 4 6�7 #�"���"�'� # � 0 � �%�� 6pk(qp)� pk(qk−1)7/ ��#� $��,%� %��� "+��# 
� �� -���� %��%� �� # � %�����,%�#�� # � 0 � �%�� �"�#� +��� 6�7 ��"� 6qr7 4 6�7 #�"���1
"�'� 6qd7/ ��" & #�#�" %��� "+��# � � �� " %� �%�� >"�� ��? %�#�,%�#� "�$�� �#� qsq = al/
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:�$��� F/L� ����� � ����-� & #�� 4 &�8�&� # � &�# ��  � %����� � 6�7 ��"� # � 0 � �%��
4 6�7 #�"���"�'� # � 0 � �%��/ 	 5� %��%���#� �"��#� %�&� %�����,%�#�� " # � 0 � �%��
6qz 4 qp7 %�#� ��� # ��" %�����,%�#�� " #�"+����� "  �  � %�#�,%�#��/ ��#� %��-� %��� "1
+��# � ��" � "����#�" ��� ��#�" "��� �� %�#�,%�%�'� %�� �� # � �&���#� -���� # qr �
qd 6qr = qd = 2, 15, 317/

	 +� # ��" �-�� 2� ��" -���� " # �  ���� � ����-� & #�� ��%��3�#�" "�� ��9�" ��1
# + �#� �� & �� # � -���� # qz 4 qp �����3�#�/ �� %����� ��  ���� � ����-� &�8�&� " 
��" �-� ��� &�4�� -����%�'�/ �� ��"���� �  � 5 %5� # 2�  �  ���� & #�� " � ��9� ��#�%�
2� ��" -���� "  � -�#�" # �  ���� � ����-� "�� +�%� 0� %� �� "/ �". +� "� +�# &�" %��%����
2� 5�4 ��� � ����-� ��# + �# �%��  ���  �  ���� � ����-� # ��  "��&�%�'� 4 ��  � %%�'�
# ��" %�����,%�#�� " # � 0 � �%�� +��� �� ��"� +���'� 6qz7 4 +��� �� #�"���"�'� +���'�
6qp7/ ��� ���� ��#�� ��&��(� " ��" �-� 2�  "��" � "����#�" "��  8� �"��� " � %���2�� �
 � %%�'� # ��" %�����,%�#�� " # � 0 � �%�� # � &�# �� # %��#��� qr +��� ��"� 4 qd +���
#�"���"�'�/

���� %�&+� ���  � &�# �� # " %� �%��  " � % "���� # "%����� ��  -���%�'� # ��" -�1
����� " ��"� 4 #�"���"�'� +���'� # ��#� � ��" %���%� �."��%�" +��+��" # ��" %��#��" # ��
" %� �%��/ �'� " 2� ��� - 3  � $�#�" ��" %�����,%�#�� " # � 0 � �%�� qr� qd� qz 4 qp� ��
%��%����  � -���� # zk 4 # pk� ��#�" ��" %�����,%�#�� " # "#  � %��#�� ���%��� 5�"��  �
%��#�� k  "��� +� ,9�#�" +��  �  "2� &� # +� +��% "�&� ��� 4 +��  "��" %�����,%�#�� "
# � 0 � �%��/ ��� ������ +�# &�" "�+�� � 2� �� -����%�'� # zk 4 pk � �� ���$� # ���
" %� �%��� +��� �� # � �&���#�  "2� &� # +� +��% "�&� ��� 4 +��� ���" # � �&���1
#�" %�����,%�#�� " # � 0 � �%��� -� � # + �# � A��%�& �� # ��" %���%� �."��%�" # ��"
%��#��"/
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�� ��"���� � ��" -������ " +���'� ��9� # � �&���#�" %��#�%��� " 2� - � &�" � %��1
�����%�'� +� " ���� �� ���� $��#� # %��� ��%�'� 2� -� � + �&����  8+� "�� ��� -������ 
 � 0��%�'� # �� ����/ �� ��" � ��" & #�#�" � ���3�#�"� +��+�� &�" ���  %��%�'� ��� ��
+��� %���%� ��3�� �� � ��%�'�  ��� �&��" -������ "�

pk(qp) = m(qz, qp) zk(qz) + n(qz, qp). 6F/H7

���� 9�"��,%��  � �"� # #�%5� &�# ��� 5 &�" %��%���#�  � %� ,%� �� # # � �&���1
%�'� # +�� 9�" # -������ " 6zk(qz) 4 pk(qp)7 +��� ��#�" ��" +�"��� " -���� " # qz 4 qp

%��� "+��#� �� " � �� " %� �%�� >"�� ��? %�#�,%�#� "�$�� �#� qsq = al/ �# &�"� 5 &�" %��1
"�# ��#� #�"�����" %�&����%��� " # qr 4 qd 6%�����,%�#�� " # � 0 � �%�� # �� ��"� 4 # 
�� #�"���"�'�7 4� 2� � " $A� - � &�"� � "����� # � �&����� "  �  � � "����#� # �� %��� 1
��%�'�/ ���� ���" # � �&���#�" -���� " # qr 4 qd ��" -������ " zk(qz) 4 pk(qp) +� " ����
��- � " ��3����� " # %��� ��%�'� %�� �� 2� �� �#�+%�'� # ��  %��%�'� 6F/H7  " �# %��#�/
�� %�&���� +��� ����" -���� " �� %��� ��%�'�  ��� �&��" -������ "  " %�"� ����/ �� ,$���
F/J &� "��� ��  9 &+�� # �&��" "����%��� "/
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:�$��� F/J� �� ,%� �� # # � �&���%�'�  ��� -������ " # ��"� 4 #�"���"�'� +���'� 6zk(qz)
4 pk(qp)7 %��� "+��#� �� " � �� " %� �%�� >"�� ��?/ ��#� $��,%� %��� "+��# � -���� " #�"1
�����" # ��" %�����,%�#�� " # � 0 � �%�� # ��"� 4 #�"���"�'� 6qr�qd7/

�� �� ����� F/H " &� "���� ��" -���� " # ρ2 # ��" -������ " zk(2) 4 pk(2) +��� ��1
#�" ��" %�&����%��� " # qr 4 qd �"�#�"/ ��  ��� " +� # ��" �-�� 2� ��  � %%�'� # ��
-���� + 2� @� +��� qr 4 �� -����  � -�#� +��� qd +��#�% ��" &�4�� " ��- � " # %��� 1
��%�'�/ �"� � "����#�  " ��3����� "� " �����3�  � %�&+����&� ��� # ��" -������ " %��
��" %�����,%�#�� " # � 0 � �%��/ ����  ���  " %��- �� ��  8+� "�� �� ��"� 4 �� #�"���"�'�
+���'� %�&� rk(qr, qz) 4 dk(qd, qp) � "+ %��-�& �� / ����#� " %�#�,%�  � %��#�� k %��
�� %�����,%�#�� ,��� -���� + 2� @� # qr�  � �A& �� # ���" $ � ��#� # + �# �� 0��#�1
& ����& �� # �� ��0��&�%�'� %��� ��#�  � �� �&�$ �� # &�#� 2� � &�4�� %����#�# # 
��0��&�%�'� &�4�� �A& �� # ���"/ � � &�"&� &�#�� �� �"�� �� %�����,%�#�� $��" ��� qd�
�� #�"���"�'� �%�"����#� # + �# �� ��&��(� # �� %����#�# # ��0��&�%�'� # � %��#��� �
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&�4�� %����#�# # ��0��&�%�'� &�4�� #�"���"�'� �%�"������/ ��� ������ -���� " + 2� @�"
# qr 4  � -�#�" # qd +��+��%����� -������ " zk 4 pk � ��%����#�"  ��� "./

ρ2 qr = 2 qr = 15 qr = 31
qd = 2 "���� "�"�� "�"��

qd = 15 "�#�� "���# "����

qd = 31 "�#�# "�#�� "���#

����� F/H� �� ,%� �� # # � �&���%�'� %��� "+��#� �� � +�� 9�" # -������ "
6zk(2)� pk(2)7 # �� " %� �%�� >"�� ��? +��� #�"�����" -���� " # qr 4 qd/

�� %����� � �� ��T� �%�� # qz 4 qp  �  � ��- � # %��� ��%�'�  �  � %�"� # 2� qr 4
qp %�&+��� ��" %��#�%��� " ��� ���� "� " ��" �-� 2� ��" &�4�� " -���� " # ρ2 �%��� �
+��� ��" -���� " # qz 4 qp "�&���� "  ��� ".� "� �#� % �%��� � ��� +��� -���� " + 2� @�"
# qz 4 qp/ ���  � %���������  � ��- � # %��� ��%�'� # %� %���#� ��" -���� " # qz 4 qp

"�� #�"+�� "�  "+ %���& �� +��� -���� " + 2� @�" # qp/ �"��  " # ��#� � 2� %���#�
��" -���� " # qz 4 qp "�� "�&���� "�  � 5�"������ # %�#�,%�%�'� # � %��#�� k +��� �&��"
& #�#�" " �� "�&���� 6�'� " 2� qz 4 qp " �+��%�� "���  � %��#�� k − 1 4  � 5�"������ # 
%�#�,%�%�'� 5�"��  � %��#�� k − 2  "  � &�"&� +��� �&��" -������ " # ��#� ��  "2� &�
# +� +��% "�&� ���7� %�� �� 2� �� �&�$ � # � 0 � �%�� �"�#� +��� %�#�,%��  � %��#��
k �� & #�� �� ��"� +���'� " �� "�&���� � �� �"�#�  � �� & #�#� # �� #�"���"�'� +���'��
0�-�� %� �#� �� %��� ��%�'�  ��� ��" -������ " zk 4 pk/

��� - 3  "���� %�#�" ��" %��#�%��� "  � ��" 2� ��" -������ " +���'� +� " ���� ���
%� ��� %��� ��%�'�� ��  -���%�'� # ��" %��-�" # ��"�1#�"���"�'� # �� %��#�� � ���� %�&�
%��" %� �%�� # ��" %���%� �."��%�" +��+��" # �� " %� �%�� " +� # &�# ��� � ���-(" # 
�� -������ ��"� +���'� zk(qz)/ ��� ���� ��#�� �� -������ ��"� +���'� " -� �  � $�� %�&�  �
+���& ��� %���%� �."��%� # %��#���  " # %��� %�&� �� %�&+� 9�#�# # %��#��� # &�#� 2� 
 �  � &�# �� # 0� �� ��� � sk = zk(qz)/ �'� " 2� $��%��" � ��"  %��%��� " 6F/E716F/H7� �
+����� # zk(qz)  " +�"��� # � �&���� ��" %���%� �."��%�" # ��"�1#�"���"�'� # � %��#�� k/

�� �$��� 2� " 5�3�  �  � &�# �� # " %� �%�� +��� �� %�#�,%�%�'� �����%��#�� 4 #�#�
2� "  "�� "�+��� �#� 2� ��" %��#��" # �� " %� �%�� "�� # %���%� �."��%�" "�&���� "�
" -� � %���%� ��3�� ��  -���%�'� # {sk}  � k %�&� �� +��% "� �� ������ # &� "���"
��# + �#� �� "� ���0��& & �� #�"������#�"  � �� # � �&���#� ��� �-��� [smin, smax]/ ��"
 8�� &�" # � ��� �-���� smin 4 smax # � ��� " � # � �&���#�" � +�����  � 0��%�'� # ��"
%���%� �."��%�" # �� " %� �%�� 2� " 2�� �� ����"&����/

)���&� ����!����%��  �� ��2$���  � *��*���������%!�

��� ��"���%��%�'� %��%� �� # � &�# �� # 0� �� ��� � + �&�� +� # %�� ��" -���� "
# ��"� 4 #�"���"�'� # ��� " %� �%�� 6� ��+� # " %� �%��7 %�#�,%�#� " $A� ��  "2� 1
&� # +� +��% "�&� ��� # � �&���#� %�� �� ��- � # +� %�"�'� # ���� # ��" &��$ � "
# � �&���#�"  � ��" " %%��� " F/)/) 4 F/)/H/

��  "� �+����#� -�&�" �  "��#��� %'&� �0 %�� � �� +� %�"�'� # � &�# �� �� �����3�%�'�
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# ��  "2� &� # +� +��% "�&� ��� #�"����� �� �"�#� +��� %��%����  � &�# ���  " # %��� ��
��"���%��%�'� # � &�# �� " -� � %��%���� %�� ��" & #�#�" ��� ��#�" "�$�� �#� ��  "2� &�
# +� +��% "�&� ��� qsq� + �� " -� � �"�� +��� +� # %�� ��" -���� " # ��"�1#�"���"�'� # 
�� &�"&� " %� �%�� + �� %�#�,%�#� " $A� ����  "2� &� # +� +��% "�&� ��� q′sq/

���� �����3��  "�� "����%�'�� 5 &�" %��%���#� ��� " �� # ��"���%��%��� " # � &�# ��
# 0� �� "��� �� " %� �%�� >"�� ��? "�$�� �#� ��"  "2� &�" # +� +��% "�&� ��� # ,��1
#�" +�� -���� " # qsq = cte 4 +��� ��#�" ��" %�����,%�#�� " #�"+����� " # � %�#�,%�#��
6qsq = 1� ///� qsq = 317/ ��#� ��� # ��" &�# ��" � "������ " " 5� �"�#� +���  "��&�� ��"
-���� " # ��"� 4 #�"���"�'� # %�#� %�#�,%�%�'� # �� " %� �%�� >"�� ��? "�$�� �#� ��"
 "2� &�" # +� +��% "�&� ��� ��� ���� "� 4 " 5� %��%���#�  �  ���� � ����-� & #�� %�& 1
��#�/ �� ,$��� F/E* � %�$ ��" � "����#�"/ ��  9 x� # ��&���#� >��# �� qsq?� ��#�%�  �
 "2� &� # +� +��% "�&� ��� �"�#� +���  "��&�� ��" %� ,%� �� " # � &�# ��� 4  �  9 y�
>M���� " qsq?� ��#�%�  � -���� # qsq # �� %�#�,%�%�'� 2� " 2�� �  "��&��/
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:�$��� F/E*� ����� � ����-� # ��"  "��&�%��� " # 6�7 ��"� 4 6�7 #�"���"�'� # #�"�����"
��"���%��%��� " # � &�# �� # 0� �� / ��  9 x� # ��&���#� >��# �� qsq?� ��#�%�  � qsq

�"�#� +���  "��&�� ��" %� ,%� �� " # � &�# ��� 4  �  9 y� >M���� " qsq?� ��#�%�  � qsq �"�#�
+��� ��� � � ��" & #�#�" # ��"� 4 #�"���"�'� 2� " 2�� � �  "��&��/

	 +� # ��" �-�� 2�  � -���� # �  ����  " & ���  � �� #��$���� # ,��#� +�� x = y�  "
# %��� %���#� %���%�# � ��" #�" -���� " # qsq�  � �+��%�#� +��� %��%���� ��" %� ,%� �� " # 
��"  %��%��� " # � &�# �� 4  � �����3�#�  � �� %�#�,%�%�'� �  "��&��/ 	 $A� #�, � � #�%5�"
-���� " 4 ��" �� 9�&�" # �� #��$�����  �  ���� %�& ��#� ����� +��� �� ��"� %�&� +��� ��
#�"���"�'� ��& ��� # �� "�$�� �� &�� ��� 6�7  � �� 3��� #��# x > y +��� �� -���� # 
x ,9��  �  ���� ��& ��� # ��� &�� �� ������ " $A� #�"&���4 yB 6��7  � �� 3��� #��# 
x < y +��� �� -���� # x ,9�� � �� ���$� # �  9 y  � ��& ��� # �  ����  " & ��� 4  "��
�%���#� +� " ����#� �� &�8�&� � ����-�/ �'� " 2� 5�4 3���" # �� $��,%�  � ��" 2� 
 �  ���� %�& ��#�  " &�4  � -�#� �����  � ��"� 6XK**R7 %�&�  � #�"���"�'� 6XEH*R7�
&� ����" 2�  � ����" �� �"�  �  ���� %�& ��#�  " "�&���� �� ��� ��#�  � ��" -���� " # ��
#��$���� x = y/
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�"�� # + �# �%�� # �� +� %�"�'� # � &�# �� %��  �  "2� &� # +� +��% "�&� ���
" $��#� +���� � �� +���� &� � �� 5��� # # � �&���� ��� ��"���%��%�'� # � &�# �� # 
0� �� �# %��#� +��� �"��  �  � %��%��� # �� +��.��%� '+��&�/ �" # %��� ��� - 3 2� 
" 5� # � �&���#� �� " %� �%�� 6� ��+� # " %� �%��7 2� " 2�� � ����"&����� 5�4 2� 
# ,���  �  "2� &� # +� +��% "�&� ��� �# %��#� �� +��% "� # %�#�,%�%�'� 2� -� �
"�0��� �� " %� �%�� +��� �". +�# � %��%���� �� &�# �� # 0� �� "�,%� �� & �� +� %�"�/
	��  &���$��  � +��% "� # %�#�,%�%�'� 2� -� � "�0��� �� " %� �%�� �� " %���% � +�����
4� 2�  "�� # � �&���#� +�� �� +��.��%� # %������ 2� " �+��2� �� %�#�,%�#��� 2� � "�
- 3  "  � ��9 ��-� 2� +� � �# &�" # � �&����/

��� ������ " �� � % "����  "���� % � ��$A� ��+� # %��� ��� 2� ��" + �&��� # � �&����
 �  "2� &� # +� +��% "�&� ��� �# %��#� +���  � "�"� &� ��9�  "��#��/ �"� +���� &�
" �����  � # ����  � �� " %%�'� G/G/E #��# " �����3� �� ��T� �%�� # ��"  "2� &�" # 
+� +��% "�&� ��� "���  � � �#�&� ��� # ��" +��.��%�" # %������/

)���)� 	%�!�%�����'%  �� �� ���  � ($�%!�

�� &�# �� %�&+� �� # �� 0� �� +���  � %�"� # �� %�#�,%�%�'� ��� � 2� #� # � �&���#�
+�� ��"  %��%��� " 6F/E716F/H7 2� � +��#�%�&�" # �� -��

rk(qk) = a(qk, qr) rk(qr) + b(qk, qr),

dk(qk) = c(qk, qd) dk(qd) + d(qk, qd),

zk(qk−1) = e(qk−1, qz) zk(qz) + f(qk−1, qz),

pk(qk−1) = g(qk−1, qp) pk(qp) + h(qk−1, qp),

pk(qp) = m(qz, qp) zk(qz) + n(qz, qp),

sk = zk(qz) ⇒ {sk} ∈ [smin, smax].

��" ��&�� " #�#�" � ��" #�"�����" -������ "  "��� � %�$�#�"  � �� ����� F/I/
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� �	 *	
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rk(qk) �	�	
dk(qk) 
����
��)�
zk(qk−1) = rk(qr, qk−1) �	�	 
� 
�<�
��(�	
pk(qk−1) = dk(qd, qk−1) 
����
��)� 
� 
�<�
��(�	
zk(qz) = rk(qr, qz) �	�	 �	�
)�
pk(qp) = dk(qd, qp) 
����
��)� �	�
)�
sk = zk(qz) (�����-�
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%��� "� %�4�" %� ,%� �� " " # � �&����  � 0��%�'� # �� " %� �%�� 6� ��+� # " %� �%��7�  �
 "2� &� # +� +��% "�&� ���� 4 ��" %�����,%�#�� " # � 0 � �%��/ ��� ������ +��� %��%����
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	 %� �%��� " � 2�� � � � � ��� " %� �%�� � +��� # ��� " %� �%�� � +� " �����-�
# � �� 0� �� # -.# � 2� " -� � ����"&����/

�"2� &� # +� +��% "�&� ���� " � 2�� � �� # � �&���%�'� # �  "2� &� # +� +��1
% "�&� ��� � " $��� +��� ��� � � ��" -���� " # ��"�1#�"���"�'� "��� ��" 2� %��%����
��" %� ,%� �� " # ��"  %��%��� " # � &�# ��/

������,%�#�� " # � 0 � �%��� " � 2�� � �� # � �&���%�'� # ��" %�����,%�#�� " # 
� 0 � �%�� � �"�� 6qr +��� �� ��"�� qd +��� �� #�"���"�'�� qz +��� �� ��"� # � 0 � �%��
4 qp +��� �� #�"���"�'� # � 0 � �%��7/ S &�" -�"�� 2�  �  ���� %�& ��#�  � ��"
 "��&�%��� " # ��"�1#�"���"�'�� 4 # ��"� # � 0 � �%�� 4 #�"���"�'� # � 0 � �%��
# + �#  � ��$��� & #�#� # ��" -���� " " � %%����#�" +���  "��" %�����,%�#�� "/

��  � %%�'� # �  "2� &� # +� +��% "�&� ��� �# %��#� " ����#�  � �� " %%�'� G/G/E�
&� ����" 2� +��� # � �&���� ��" %�����,%�#�� " # � 0 � �%��� +�# &�" " $��� ��" "�1
$�� �� " %��� ���"  8���.#�" # ��" #���"  8+ ��& ���� " ��� ��#�"�

������,%�#�� " # � 0 � �%�� +��� �� ��"� 4 �� #�"���"�'� 6qr 4 qd7�

• �� %����� � "�  0 %�� "��� ��"  "��&�%��� " # ��"� 4 #�"���"�'��  �  ����
& #�� +� " ��� �� &.��&� $����� +��� -���� " & #��" # qr 4 qd/ �� ��"���� �
"�  � ��9 ��-�  " &���&�3��  �  ���� %�& ��#� %�� %� ���" %�����,%�#�� "� ��"
%��-�" # %��� ��%�'� ��#�%�� 2� " ���� � � +� #�%%��� " &�" +� %�"�" +���
��" %�����,%�#�� " % �%���" �� -���� # � %�����,%�#�� # � 0 � �%�� 6qr � qd7/

• ��� � "+ %�� ��  0 %�� "��� �� ��"� 4 #�"���"�'� # � 0 � �%��� -�&�" 2� ��
 � %%�'� # qr 4 qd �� �0 %���� "�$��,%���-�& �� ��  ���� # � &�# ��/ �� %�&1
���� ".  �� # � �&�����  � �� %��� ��%�'�  8�"� ��  ��� ��" -������ " zk(qz) 4
pk(qp)/ ��" ��- � " &�4�� " # %��� ��%�'� " ��� �.� +��� -���� " + 2� @�" # 
qr 4 -���� "  � -�#�" # qd/

������,%�#�� " # � 0 � �%�� +��� �� ��"� 4 #�"���"�'� # � 0 � �%�� 6qz 4 qp7�

• ��" ��- � " # �  ���� & #�� %�& ��#� +��  � &�# �� # " %� �%�� "�� � ����-�1
& �� ��# + �#� �� " # ��" -���� " %��%� ��" # qz 4 qp/ �� %�&���� �� %��� 1
��%�'� # ��" -������ " zk(qz) 4 pk(qp)  " &�4�� +��� -���� " ��9�" # �&��"
%�����,%�#�� " # � 0 � �%��/
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�� ��" � "����#�" &�"���#�" 5�"�� �5��� ��" %� ,%� �� " # ��"  %��%��� " 6F/E716F/H7
" 5�� %��%���#� +��� %�#� " %� �%�� � +����� # ��" -���� " # ��"�1#�"���"�'� # ��#�"
"�" %��#��"/ ��  "� �+����#� -�&�" �  "��#��� �� -����%�'� # �� +� %�"�'� # � &�# �� # 
0� �� %��  � �A& �� # %��#��" �����3�#� +���  "��&�� ��" +���& ���" # � &�# ��/

����  ��� 5 &�" %��%���#�  �  ���� � ����-� & #�� # ��"  "��&�%��� " # ��"�� #�"���1
"�'�� ��"� # � 0 � �%�� 4 #�"���"�'� # � 0 � �%��/ ��" & #�#�" " 5�� � ���3�#� "��� ��
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" %� �%�� >"�� ��? %�#�,%�#� � ��� 0� %� �%�� # %��#�� # EF %��#��" +�� " $��#�� 4
%��"�# ���#� #�"  "2� &�" # +� +��% "�&� ��� #�"�����"� qsq = 10� al/ ���� %��%���� ��"
-���� " # ��"� 4 #�"���"�'� # � 0 � �%�� " 5��  � $�#� %�&� %�����,%�#�� " # � 0 � �%��
qr = 2 +��� �� ��"�� qd = 31 +��� �� #�"���"�'�� 4 qz = 2 +��� �� ��"� # � 0 � �%�� 4 qp = 2
+��� �� #�"���"�'� # � 0 � �%��/ ��" ,$���" F/EE 4 F/E) &� "���� ��" � "����#�"/
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&���" # ��� # � +���� &� # %������ # � %�#�,%�#�� %��"�# ���#�  � �"� # %�#�,%�%�'�
��� �%��#��/ �� +��% #�&� ��� � " $���  " "�&���� �� # "%����  �  � %�+.���� I/ �� +��& �
��$��� " -� %���%� ��3�� &�� &���%�& �� �� #���&�%� # � "�"� &� ��%��4 �#�  � 0��&�
# -������ " #  "��#� �� ��0��&�%�'� � � -��� # � "�"� &�/ �� " $��#� ��$��� " %��%����
��" +��������#�# " # ����"�%�'�  ���  "��#�"  � ��" � ��" � ��%��� " 0��%����� "  8�"1
� �� "  ��� ��" -������ " #  "��#� 4  � ��" � ��" &�# ��" # 0� �� 4 %���� �#�+��#�"/
��� A���&�� " -� �  "���� % � �� 0��%�'� # %�"� %�4� & #�� � ���$� +��3� %��"����4  �
��9 ��-� � &���&�3��/

��#� 2�  � "�"� &� +��� �� %�#�,%�%�'� ��� �%��#�� %�&+��� -����"  � & ���" %��  �
"�"� &� +��� �� %�#�,%�%�'� �����%��#���  � # "������� # �� #���&�%� 4  � %��%��� # ��" +��1
������#�# " # � +��& �� -�� � +� " ���� �"+ %��" %�&�� " %��  � " $��#� 4� # "�������#�"
4 # "%����"  �  � %�+.���� I/ �� ��"���� � " -�� � -��- � � ��%����  �  "� %�+.����  � ���"
# ��� &�4�� %����#�#  � �� # "%��+%�'� # �� #���&�%� # � "�"� &�/

�� %�+.���� %��%��4 %�� ��  -����%�'� # ��" +��.��%�" # %������ ��� ��#�" � +����� # 
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�� ��� ������
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Tf
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���� "�&+��,%��  � # "������� # �� #���&�%� # � "�"� &�� + �� "�� +(�#�#� # $ � ����#�#�
"�+��#� &�" 2� ∆N 4 ∆M "��  �� ��"� /

��#� ∆M ��� �-���" # +�2� � �  � %�#�,%�#�� � %�� �� �� -� %��#�� +��� " � %�#�1
,%�#� 4 +�"� ����& �� ����"&���#�/ ���� %�#� %��#�� k  � &'#��� # %������ # � %�#�,1
%�#�� # � �&���  � %�����,%�#�� �+��+��#�/ �� %�#�,%�%�'� # � %��#�� k +��#�% rk ���"�
��" %��� " � 2�� � � �� ����� # nk =

⌈
rk

C

⌉
+�2� � "/

��#� %��#�� k -� � #�"+�� � # tk ��� �-���" # +�2� � +��� "� +��% "�&� ��� 4
����"&�"�'�/ �  "��" tk ��� �-���"� # ��&���&�" wk �� �A& �� # ��� �-���" ,���& �� 
�����3�#�" +��  � %��#�� k/ �� -���� # wk " ��  � &.��&� �A& �� # +�2� � "  �-��#�"
5�"�� 2� ��� # ��" #�"  - ���" "�$�� �� " �%�����

E/ �� ����"&�"�'� # � %��#�� " 5� %�&+� ��#��  " # %��� nk +�2� � " " 5�� � %���1
#� %��� %��& �� # ��" wk +�2� � " 2� " 5��  &+� �#�  � �� ����"&�"�'� # �
%��#�� k/

)/ �� "�"� &� # � %�� 2�  " �&+�"��� 2�  � %��#�� �� $� � �� &+� �� # %�#�,%�#��/
�"�� "����%�'� �%��� %���#�  � �A& �� # ��� �-���" # +�2� � #�"+����� +���  �
%��#�� k " 5�% & ��� 2�  � �A& �� # +�2� � " + �#� �� " # " � ����"&���#�"/
��  " &�& ����  � "�"� &�  ��&��� ��" +�2� � " + �#� �� " # � ��< � # � %�#�,%�#��
4  &+� 3� � +��% "��  � %��#�� "�$�� �� "�  "�� 4� #�"+����� /

�"�� � ��%�'� ��" + �&�� # � �&����  � -���� # tk+1  � 0��%�'� # tk 4 wk � ���-("
# ��  %��%�'� 6I/E7 2� � +��#�%�&�" � %�������%�'��

tk+1 = mı́n{∆N, tk − wk + ∆M}.

�". +� "� tk +� # ��&�� -���� "  ��� ∆M � %���#� �� ����"&�"�'� # � %��#�� +� -�� 5�
%��"�&�#� ��#�" "�" ��� �-���" # +�2� � #�"+����� " 6wk = tk7� 4 ∆N � %���#�  �  �
&�& ���  �  � 2�  � %��#�� �� -�  "�� #�"+����� �� 2� #�� +�2� � " + �#� �� " # �
%��#�� ��� ���� 6-(�" �� ,$��� I/E7/

�� (8��� � 0��%�"� # �� ����"&�"�'� # �� %��#�� k -� � - ��� # � �&���#� +��  �
%�&+����&� ��� # � %���� #����� �� ����"&�"�'� # #�%5� %��#��/ � ��#� � �� +��+� #�#
&��=�-���� # � &�# �� # %���� �#�+��#�� �� A��%� ��0��&�%�'� � � -���  �  � ���%�� # 
�� ����"&�"�'� # %��#�� k  " "� A���&�  "��#� %���%�#� # � %����/ 	� # ,��&�" lk %�&�
 � �A& �� # � +��& � ��� �-��� # +�2� � 2� "  &+� � +��� ����"&����  � %��#�� k�  �
A���&�  "��#� %���%�#� # � %���� - �#�� # � �&���#� +�� c(lk−1)� 2� � +� " ���&�"  �
0��&� &�" %�&+�%�� ck = c(lk−1)/
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��� - 3 �����#�%�#�" ��"  � & ���" 2� %���%� ��3�� �� #���&�%� # � "�"� &�� -�&�" �
+�"�� � # ,��� ��" %�&+�� �� " # �  "��#� # � "�"� &� xk/ � %��#�&�" 2�  �  "��#� # �
"�"� &� # � %��� � � ��#� �2� ��� ��0��&�%�'� "���  � "�"� &� 2� " � � � -��� +���
 � +��% "� # # %�"�'�� 4 2� + �&��� 9���� �� +���& ��� # %������  � $�#� # � �&����
+�������."��%�& �� ��  -���%�'� # � "�"� &� 4 ��" %�"� " 0�����" �"�%��#�"/ ��  "� %�"��
 � - %��� xk  "�� 0��&�#� +���

%�&+� 9�#�# # � %��#�� �%����� sk� 2�  �  "� %�"� " %��� "+��# %�� �� -������ 
��"� +���'� # ,��#�  � �� " %%�'� F/)/H�

A���&�  "��#� # � %���� ��" �-�#�� ck�

�A& �� # ��� �-���" # +�2� � #�"+����� " ��� " # � �� &+� �.&�� # � %��#��
�%����� tk�

%�����,%�#�� �+��%�#� �� %��#�� ��� ���� 2� � +� " ���� &�" %�&� ak� #�#� 2�  �
&�# �� # 0� �� ��� � %���%� ��3� �� # + �# �%��  ��� %��#��" � ���-(" # #�%5�
%�����,%�#���

%�� �� 2� xk = (sk, ck, tk, ak)/ � �� -��  "� - %��� #  "��#� " %��� "+��# %�� ���
%�# �� # ���=�- %�������#� %�4� +���& ��� # %������  "  � %�����,%�#�� �+��%�#� ��
%��#�� k� qk/ �"�� %���%� �."��%� + �&�� 2�  � +���� &� # %������ " +� #� 0��&����
%�&� �� +���� &� ��� 4� 2� %�&+� � 6�7 #�#� (sk, ck, tk, ak) 4 �� # � �&���#� %�����1
,%�#�� qk +�# &�"  �%������ ��" +��������#�# " # ����"�%�'� � ��#�" ��" +�"��� "  "��#�"
"�$�� �� " (sk+1, ck+1, tk+1, ak+1) 6-(�" �� " %%�'� "�$�� �� 7� 4 6��7  � %�"� +��  ��+�  "
��� 0��%�'� # �  "��#� (sk, ck, tk, ak) 4 # � +���& ��� # %������ qk 6-(�" �� " %%�'� G/I7/

.�&� 	 �����#�"�" "� � �������� "� ����"��

� �� �#�  � %� ��� ��" %�&+�� �� " # � - %��� #  "��#� xk� ��" +��������#�# " # 
����"�%�'�  � 0��%�'� # � %�����,%�#�� qk " +� # � 0��&���� %�&�

P [xk+1|xk, qk] = P [sk+1, ck+1, tk+1, ak+1|sk, ck, tk, ak, qk] .

��#� 2� sk  " ��# + �#� �� # ��" ����" -������ " #  "��#� 4 # � %�����,%�#��  � $�#��
" $A� 5 &�" # ,��#�  � &�# �� # 0� �� � +�# &�"  8+� "�� ��  %��%�'� ��� ���� %�&�

P [sk+1, ck+1, tk+1, ak+1|sk, ck, tk, ak, qk]

=P [sk+1|sk] P [ck+1, tk+1, ak+1|sk, ck, tk, ak, qk] .

�� &�# �� # 0� �� +��+��%����  � +��& � 0�%��� # ��  %��%�'� ��� ����� &� ����" 2�  �
" $��#� � 2�� � ��� &�4��  ������%�'�/ �� -������ ak+1 ��� "'�� # + �# # qk %�� ��
2� " +� #  "+� "�� %�&�

P [ck+1, tk+1, ak+1|sk, ck, tk, ak, qk] = P [ak+1|qk] P [ck+1, tk+1|sk, ck, tk, ak, qk] , 6G/E7
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#��#  � -���� # P [ak+1|qk] -� � # � �&���#� +���

E "� ak+1 = qk�

* "� ak+1 
= qk/

�� " $��#� �(�&��� # ��  %��%�'� 6G/E7 � 2�� � # �� -� �� �����3�%�'� # � &�# �� # 
0� ��  &+� �#�/ ��� (� +�# &�" %��%����  � �A& �� # +�2� � " � ����"&���� +��� %�#�
%��#��� nk�  � ��" �� -���� # sk� # � %�����,%�#�� �+��%�#� �� %��#�� +� -�� ak� 4 # �
%�����,%�#�� �+��%�#� �� %��#�� �%���� qk # �� "�$�� �� &�� ���

nk = n(sk, ak, qk) =

⌈
fr(sk, qk, ak)

C

⌉
.

��#� 2� sk� qk� 4 ak �0 %��� � ��  -���%�'� # � "�"� &� "'�� � ���-(" # � -���� # nk

+�# &�"  "%�����

P [ck+1, tk+1|sk, ck, tk, ak, qk] = P [ck+1, tk+1|n(sk, ak, qk), ck, tk] .

�". +� "�  � �(�&��� 2� 0���� +�� # � �&����  " �� +��������#�# %��9����
P [ck+1, tk+1|nk, ck, tk]/ � +����� #  "� +����  � %��%��� # ��" +��������#�# " # ����1
"�%�'� # ��" #�" +���� &�" %��"�# ��#�" 6%�#�,%�%�'� �����%��#�� 4 %�#�,%�%�'� ��� �1
%��#��7 %��- �$ � 4� 2� ��"  � & ���" ��-���%��#�" "�� ��" &�"&�"� �A& �� # ��� �-���"
# +�2� � #�"+����� " +��� ����"&���� �� %��#��� tkB �A& �� # +�2� � " 2� �%�+� ��
%�#�,%�%�'� # � %��#��� nkB 4  �  "��#� # � %���� ck/ �� %��%���  8�%�� #  "�� +��������#�#�
+�� ������ "  �%� ���� # "%����  � �� " %%�'� I/H/ �� ��"���� �  � �� ����� G/E " 5� -� ���
� ��%���� ��" � "����#�" ,��� " # #�%5� %��%���/

.�(� ,!����� "� �����

�� 0��%�'� # %�"� �����3�#�  "  8�%��& �� �� &�"&� 2� �� �"�#� +���  � +���� &�
%�� %�#�,%�%�'� �����%��#��/ �" # %���  � %�"�  � %�"� gk �"�%��#� � �� # %�"'� ��&�#�
+���  � %��#�� k " # ,� %�&�  � -����  "+ ��#� # �� #�"���"�'� � "������ � � �� �#�  �
%� ��� �� +�"�����#�# # 2�  � %��#�� %�#�,%�#� �� �� $� � �� &+� �� # %�#�,%�#���  "
# %��� %�&�

gk(sk, tk, ck, ak, qk) =fd(sk, qk, ak) · Ptx(sk, tk, ck, ak, qk)

+ E[dlf,k] · (1 − Ptx(sk, tk, ck, ak, qk)),

#��# E[dlf,k]  " ��  "+ ���3� # ��" -������ " dlf,k � �� 2� 5 &�" # ��&���#� K  �
 � &�# ��#� # � "�"� &� 6E[dlf,k] = K7� 4 Ptx  " �� +��������#�# # 2�  � %��#�� " 
����"&��� %��� %��& �� / Ptx " +� # %��%���� � +����� # ��" +��������#�# " # ����"�%�'�
 ���  "��#�" # �� "�$�� �� &�� ���

Ptx(sk, tk, ck, ak, qk) =
∑

xk+1∈S
P [xk+1|xk, qk],

#��# S  "  � %��9���� #  "��#�" � ��" 2�  � "�"� &� +� # +�"�� "�+��� �#� 2�  �  "��#�
��� ����  " xk� 2� " �+��%�  � %�����,%�#�� qk 4 2�  � %��#�� " ����"&�� %��� %��& �� /
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P [sk+1, ck+1, tk+1, ak+1|sk, ck, tk, ak, qk] = P [sk+1|sk]P [ck+1, tk+1, ak+1|sk, ck, tk, ak, qk]
P [ck+1, tk+1, ak+1|sk, ck, tk, ak, qk] = P [ak+1|qk] P [ck+1, tk+1|sk, ck, tk, ak, qk]
P [ck+1, tk+1|nk, ck, tk] =

∑
wk

P [ck+1, wk|nk, ck, tk]
P [ck+1, wk|nk, ck, tk]
=

∑
i=0,1 P [c(lk+wk+npp) = ck+1|c(lk+wk) = i]P [c(lk+wk) = i, wk|nk, c(lk−1) = ck, tk]

P [c(lk+wk) = 1, wk|nk, ck, tk] = P [v(lk ,lk+wk) = nk, c(lk+wk) = 1|c(lk−1) = ck]
P [c(lk+wk) = 0, wk|nk, ck, tk]
= P [v(lk,lk+wk) = wk − (tk − nk + 1), c(lk+wk) = 0|c(lk−1) = ck]
P [v(lk ,lk+wk) = h, c(lk+wk)|c(lk−1)]
= P [v(lk,lk+wk−1) = h, c(lk+wk−1) = 0|c(lk−1)]P [c(lk+wk)|c(lk+wk−1) = 0]
+P [v(lk,lk+wk−1) = h − 1, c(lk+wk−1) = 1|c(lk−1)]P [c(lk+wk)|c(lk+wk−1) = 1]

����� G/E� � "�& � # �� ����%�'� ���3�#� 4 # ��"  %��%��� " # ��" +��������#�# " # 
����"�%�'� +���  � +���� &� # %�#�,%�%�'� ��� �%��#��/

.�+� �/#�!#� "� #� -�#%����

��" +��.��%�" # %������ '+��&�" " +� # � ��� � � � ���-(" # ��" ��$����&�" # "%����"
 � �� " %%�'� )/G/)/ � �� -��  � +���� &� # %������ �"�%��#� �� "�"� &� ��9�  "��#�� " 
%���%� ��3� +�� � � � �� - %��� #  "��#� %�4�" %����� %�&+�� �� " "�� #�"%� ��" %�� ��
2�  " +�"��� �� �+��%�%�'� #�� %�� # #�%5�" ��$����&�"/ �� ��"���� � �� -������ sk " 
%���%� ��3� +�� � � � ��  "+�%�� #  "��#�" &�4 ��& ��"� 2� #�,%���� �� �+��%�%�'� # ��"
��$����&�" # ��#� ��  � -�#� �A& �� #  "��#�" # � "�"� &� 2� �%�"����/ ����  -����  "� 
 0 %��� # � &�"&� &�#� 2� " 5�3�  �  � %�"� �����%��#�� " 5� +��% #�#� � %�����,%��
 � ��� �-��� # # ,��%�'� # sk %��  � ��9 ��-� # � #�%��  � �A& �� #  "��#�" � "������ /
��  0 %�� # �� %�����,%�%�'� # sk "���  � � �#�&� ��� # ��" +��.��%�" "  "��#��  � ��
" %%�'� G/G/H/ ���  "�� A��%� "�&+��,%�%�'�� +��� ��� � � �� +��.��%� '+��&� " 5� -� ���
� �+��%�� "���"0�%�����& ��  � ��$����&� # �� ��%�'�  � �� +��.��%�/
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.�.� ���!#��"�� �1-� �'����#�� � ����#!������

�� 0��%����&� ��� # �  "2� &� # %������ # � %�#�,%�#�� +��+� "�� +��� �� %�#�,1
%�%�'� ��� �%��#�� " 5� %�&+����#� 4 - ��,%�#� � ���-(" # #�0 � �� " "�&���%��� " 4
 8+ ��& ���" %�� ��" " %� �%��" # +�� �� >&��5 �1#��$5� �?� >�=�4�?� >"�� ��? 4 >0�� &��?/

�� "�&���#�� # � %���� �+ �� ��9� ��" &�"&�" %��#�%��� " 2�  �  � %�"� # %�#�,%�%�'�
�����%��#���  " # %���  � %���� ����"&�� �� +�2� � %�#� F &" %�� ��� %��$� A��� # IE
�4� " 6Tp = 5 &" 4 C = 328 ���"7/ ��" %���%� �."��%�"  "��#."��%�" # ��" &�# ��" # %����
�����3�#�"  "��� � %�$�#�"  � �� ����� I/)/

��#� �� - ��%�#�# ������� ��&���� # � %���� 6GF/G** ���"D"7 �� "��� +��+'"��� +���  �
%�"� # %�#�,%�%�'� ��� �%��#��  " ����"&���� � ��� 0� %� �%�� # %��#�� # EF %��#��"
+�� " $��#�� +�� �� ����� " "��&� "�� � �� " %� �%�� ���$���� 6# H* %��#��" +�� " $��1
#�7 +��� �%�&�#���� � �� 0� %� �%�� # ����"&�"�'�/ ��  "��" %��#�%��� "� %�#� %��#��
# � %�#�,%��"  � & #�� %�� I/HKH ���"/ ���� %��" $��� ���" � "����#�" � +� " �����-�"
# "# �� +���� # -�"��  "��#."��%�� #����� %�#� +�� �� " "�&���� E** ����"&�"��� " # 
%�#� " %� �%��  � #�"�����" "����%��� " # � "�&���#�� # %����/ ��� ������  � %�#� +�� 1
�� " ����"&�� � EF/*** %��#��" 6E**×EF*7 2� � 2�� � �  ������ � EJ)/*** ��� �-���"
# +�2� � +��� "� ����"&�"�'�/ �� ��"  8+ ��& ���" � ���3�#�"� 5 &�" %��"�# ��#� �� "
+�"��� " -���� " # � � ���#�  8�� &� �  8�� &�� EHH� )** 4 )GK &" 62Tf � 3Tf �4 4Tf)/

��� � "+ %�� � ��" +���& ���" # � &�# �� # 0� �� � 5 &�" " � %%����#� %�&� %���1
��,%�#�� " # � 0 � �%�� +��� ��" -������ " # ��"� 4 #�"���"�'� � qr = 2 4 qd = 31� 4 +���
��" -������ " ��"� 4 #�"���"�'� +���'� 5 &�" ,9�#� �� &�"&� -���� +���  ���"� qz = qp = 2/
� + �#� �#� # %�#�  8+ ��& ���  � %� "��'�� 5 &�" %�#�,%�#� ��" " %� �%��" �����3��#�
#�"�����"  "2� &�" # +� +��% "�&� ��� +��� %��%���� ��" %� ,%� �� " # ��"  %��%��� " # �
&�# ���  %��%��� " 6F/E716F/H7/ �"��" %� ,%� �� " " 5��  "��&�#� � +����� # & #�#�" # 
��"�1#�"���"�'� # ��#� �� " %� �%��/ �� ���$� # # ,��%�'� # �� %�&+� 9�#�# # %��#��
6smin 4 smax7 " 5� # � �&���#� +��� %�#� ��� # ��" " %� �%��" � +����� # ��" -���� "
& #�#�" # rk(2, 2)  � ��#�" "�" %��#��"/

������ �� ����"&�"�'� # �� " %� �%���  � &'#��� # %������ # � %��%����  � -����
# ��" -������ " #  "��#�  � %�#� %��#�� k +��� # � �&����� � ���-(" # �� +��.��%� # 
%�������  � %�����,%�#�� qk �# %��#�/ ��� � "+ %�� � �� %�&+� 9�#�#�  "� %��%��� ��-���%��
�� %��#�� �%����� k� 4 �� %��#�� ��� ����� k − 1� %�#�,%�#�" %�� ��" %�����,%�#�� " # 
� 0 � �%�� +� ,9�#�" qr 4 qz � "+ %��-�& �� # �� "�$�� �� &�� ���

��#�,%�%�'� # � %��#�� k − 1� 2�  "���� ��&�% ��#�  � & &����� %��  � %�����1
,%�#�� qz 4 �"��#� %�&� �&�$ � # � 0 � �%��  � %��#�� k − 2 %�#�,%�#� %��  �
%�����,%�#�� qk−2 # � �&���#� +��  � &'#��� # %������/

��#�,%�%�'� # � %��#�� k %��  � %�����,%�#�� qr 4 �"��#� %�&� �&�$ � # � 0 � �1
%��  � � "����#� # �� %�#�,%�%�'� # � +���� ��� ����/ �� �A& �� # ���" � "������ 
# � �&��� �� %�&+� 9�#�# # � %��#�� k/

� � �&���%�'� # qk  � 0��%�'� # �  "��#� # � "�"� &� 6%�&+� 9�#�#�  "��#� # �
%����� �� &+� #�"+����� � %�����,%�#�� # � %��#�� ��� ����7 � ���-(" # �� +��.��%�
# %������/
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��#�,%�%�'� # � %��#�� k %�� qk 4 �"��#� %�&� �&�$ � # � 0 � �%��  � %��#��
k − 1 %�#�,%�#� %�� qk−1/ �� � "����#� #  "�� %�#�,%�%�'�  " �� ��0��&�%�'� 2� " 
����"&�� /

�". +� "� +��� %�#� %��#�� k  � %�#�,%�#�� �� � 2� � ���3�� �� " �+ ��%��� " # %�#�,1
%�%�'�� ��� "���  � %��#�� ��� ���� k − 1 %�� qz� 4 #�" "���  � %��#�� k %�� qr 4 qk/ ��
�� "��� %�"�� %�&� qz = qr = 2  � �A& �� # %�#�,%�%��� " " � #�% � ��� "'�� #�"/

���� %�&+���� �� %���#�# # ��" � "����#�" ��� ��#�" 5 &�" �����3�#� ��" &�"&�" +�1
��& ���" # ,��#�"  � �� " %%�'� I/G�

�	�� # �� " %� �%�� # %�#�,%�#�/

��� �A& �� & #�� # %��#��" + �#�#�"/

��" " %%��� " "�$�� �� " # "%��� � ��" +�� ��" �� -�#�" � %��� 4 ��" � "����#�" ��� ��#�"/

������ 
�!����%���'%  �� ��2$���  � *��*���������%!�

�� &�# �� # 0� �� ��� � &�# �� ��" %���%� �."��%�" # ��"�1#�"���"�'� # ��� " %� �%��
6� ��+� # " %� �%��7 %�#�,%�#� "�$�� �#� ��  "2� &� # +� +��% "�&� ��� # � �&���#�/
�� �� " %%�'� F/)/I " �����3' �� "����%�'�  � �� 2� ��� ��"���%��%�'� # � &�# �� # 0� �� 
" �����3��� +��� &�# ��� #���" # ��"�1#�"���"�'� # �� &�"&� " %� �%�� + �� %�#�,%�#�
"�$�� �#� ����"  "2� &�" # +� +��% "�&� ��� #�"�����"� "����%�'�  � �� 2�  � &�# ��
��� �.� ��� +� %�"�'� & ���/

�"�� # + �# �%�� # �� +� %�"�'� # � &�# �� %��  �  "2� &� # +� +��% "�&� ���
"�+�� �� +���� &� � �� 5��� # # � �&���� ��� ��"���%��%�'� # � &�# �� # 0� �� 
�# %��#� +��� �"��  �  � %��%��� # �� +��.��%� '+��&�/ �� &�# �� # 0� �� # � � T 9��
��" %���%� �."��%�" # ��"�1#�"���"�'� # �� " %� �%�� %�#�,%�#�� +�� �� 2�  " � % "����
# � �&���� 2�(  "2� &� # +� +��% "�&� ���  "  � &�" �# %��#� +��� %���%� ��3��  �
+��% "� # %�#�,%�%�'� # �� " %� �%��/ 	��  &���$��  � +��% "� # %�#�,%�%�'� 2� -�
� "�0��� �� " %� �%�� �� " %���% � +����� 4� 2� -� �  "��� # � �&���#� +�� �� +��.��%�
# %������ 2� " �+��2� �� %�#�,%�#��� 2� � "� - 3  "  � ��9 ��-� 2� +� � �# &�"
# � �&����/

��  "� �+����#� -�&�" � �����3�� �� ��T� �%�� # ��$���"  "2� &�" # +� +��% "�1
&� ���  �  � � �#�&� ��� # ��" +��.��%�" %��%���#�"/ �� ��9 ��-�  "  "���� % � ��$A� ��+�
# %��� ��� 2� ��" + �&��� # � �&����  �  "2� &� # +� +��% "�&� ��� �# %��#� +���  �
"�"� &� ��9�  "��#��/

��"  "2� &�" # +� +��% "�&� ��� 2� " -�� �  "��#��� "�� ��" "�$�� �� "�

qsq = cte�  �  � 2� " �+��%� � %�#� %��#�� # �� " %� �%��  � &�"&� %�����,%�#���

qsq = al�  " # %��� �� "����%�'�  � �� 2� +��� %�#� %��#�� " �+��%� �� %�����,%�#��
 � $�#� �� ������& �� �

qsq = rc�  �  � 2� ��  � %%�'� # � %�����,%�#�� # %�#� %��#�� " � ���3� "�$�� �#�
���  "���� $�� # %������ # � %�#�,%�#�� ,9�#� # ��� &���/
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�� ��� �%�'� # ��" & #�#�" # ��"�1#�"���"�'� � ���-(" # �  "2� &� # +� +��% "�1
&� ��� qsq = rc " � ���3� +�� & #�� # �� "�&���%�'� # �� ����"&�"�'� # �� " %� �%��  �
�� "�"� &� %�� ��" "�$�� �� " %���%� �."��%�"�

 � %���� # ����"&�"�'� �"�#� �� �� � +(�#�#�" +�� �� 2�  " # - ��%�#�# �������
B %��"����  �$��� � �� - ��%�#�# ��&���� # ��" %���� " %��"�# ��#�"�

 � ��< � # � %�#�,%�#�� -� � " � # ��&�@� Tbe �$��� � �� %�+�%�#�# # � %���� #����� 
 � �� &+� # ,��#� +��  � � ���#�  8�� &� �  8�� &� ∆T �

Tbe = B ∆T.

������ �� "�&���%�'� " �+��%� ���  "���� $�� # %������ # � %�#�,%�#�� 2� # � �&���
 � -���� # qsq[k] # %�#� %��#�� k  � ��" � �� �%�+�%�'� # � ��< � # � %�#�,%�#�� Be

%��  � "�$�� �� %��� ���� %���#� �� $� �� %��#�� �� -� +��� " � %�#�,%�#� 4 ����"&���#�
" � �+��%�  � %�����,%�#�� &�" + 2� @� 2� +��#�% �� �A& �� # ���" & ��� � �$���
��  "+�%�� ���� 2� 2� #�  �  � ��< �/ ��  %��%�'� 2� ��$ �� �%�+�%�'� # � ��< �  " ��
"�$�� �� �

Be
k+1 = Be

k −
B

Tf
+ rk,

#��# rk � +� " ���  � �A& �� # ���" ��� ��#� �� %�#�,%��  � %��#�� k/
�� ��"  8+ ��& ���" �� -�#�" � %���  �  "� �����"�" " 5�� %��"�# ��#� �� " %���� "

# ����"&�"�'� # #�"�����" - ��%�#�# " �������"� �����1E� �����1)� �����1H/ �'� " 2� 
��" ��"���%��%��� " # � &�# �� # 0� �� %��� "+��#� �� " � ��"  "2� &�" # +� +��% "�1
&� ��� qsq = cte 4 qsq = al �� # + �# � # ��" %���%� �."��%�" # � %����� &� ����" 2� 
��" ��� ��#�" %�� qsq = rc # + �# � # �� - ��%�#�# ������� # � %����/ ��� �� ������ � ��
5��� # %�&+���� ��" #�"�����"  "2� &�" # +� +��% "�&� ��� � "���� ��� � "��� �����3��
"� %�&+����&� ��� "��� %���� " # #�"����� - ��%�#�#/ �"��" %���� " +�"  � ��" &�"&�"
%���%� �."��%�"  "��#."��%�"� � T 9�#�"  � �� ����� I/) +���  � &�# �� S1������ + ��  �
��&�@� # +�2� �  � %�#� ��� #  ���"  " #�"������ H)L� EGI 4 L) ���" � "+ %��-�& �� /

��"  "2� &�" # +� +��% "�&� ��� %��"�# ��#�" " 5�� �+��%�#� � �� " %� �%�� >"�� ��?
#��#� ��$�� � #�"�����" ��"���%��%��� " # � &�# �� # 0� �� / ��#� ��"���%��%�'� " 5�
�����3�#� 9���� � %�#� &�# �� # %���� ��� �� �#� #�- �"�" +��.��%�" # %������/ ����
 -�����  � � �#�&� ��� # ��" +��.��%�" " 5� "�&���#� �� ����"&�"�'� # �� " %� �%�� �
���-(" # � %���� %��� "+��#� �� � �"��#� �� +��.��%� %��%���#�  � %�#� %�"�/ ���� � � �
��� %���%� ��3�%�'� &�" %�&+� �� # �  0 %�� # �  "2� &� # +� +��% "�&� ���� �# &�"
# � -���� # �	�� 4 # ��� " 5� & #�#�  �  ���� � ����-� & #�� # ��"  "��&�%��� "
# ��"� 4 #�"���"�'� # � &�# �� %�� � "+ %�� � ��" & #�#�" � �� " ��� ��#�" #����� ��"
"�&���%��� "/
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��" ,$���" G/E1G/H &� "���� ��" � "����#�" ��� ��#�"  � ��" 2� " �+� %�� �� ��T� �%��
# �  "2� &� # +� +��% "�&� ��� �"�#�  � ��" +���& ���" %��%���#�"/ � %�������%�'�
-�&�" � �����3�� &�"  � # ����  �  0 %�� "��� %�#� ��� #  ���"�

�	��/ 	 ��" �-� 2� +��� ��" %���� " # &�4�� - ��%�#�# 6�����1E 4 �����1)7
 � -���� &�8�&� # �	�� " ��%��3� +���  "2� &�" # +� +��% "�&� ��� # � ��+�
qsq = cte %�� -���� " # qsq ��9�" 6qsq = F� J7/ ���� ����" -���� " # qsq = cte
" ���� � � -���� " & ��� " # �	��  8�"�� �#� ��� #�0 � �%�� ������  ���  �
&�8�&� 4  � &.��&� -���� 6E�HI #C +���  � �����1E 4 *�K) #C +���  � �����1)7/ ��
%�&���� +���  � �����1H " ��" �-� �� +���'� �"%����� %�� � "����#�" "�&���� " +���
%���2�� � -���� # qsq = cte/ ��� � "+ %�� ��  "2� &� # +� +��% "�&� ��� qsq = rc�
" +� # ��" �-�� 2� +��� ��" %���� " �����1E 4 �����1)  � -���� ��� ��#� # �	��
 " "�&���� �� -���� &�8�&�� &� ����" 2� +���  � �����1H ���� �  � &�8�&� �	��/
��� %������ ��" -���� " # �	�� # �  "2� &� # +� +��% "�&� ��� qsq = al "��
" �"��� & �� & ��� " 2�  � �	�� &�8�&�  � ��" �� " %���� "/

��/ ��  "� %�"�� ��  -���%�'� %�� qsq = cte  " "�&���� +��� ��#�" ��" %���� "/ ���
� "+ %�� � ��" -���� " # qsq = al, rc� " ��" �-� 2� +��� ��" %���� " # &�4��
- ��%�#�# 6�����1E 4 �����1)7 qsq = al ���� � �� �A& �� # %��#��" + �#�#�"
��$ ��& �� & ��� 2� qsq = rc/ ����  � �����1H " ���� � � � "����#�" "�&���� "  �
�&��" %�"�"/

����� � ����-� & #�� # ��"�/ ��  ���� � ����-� & #�� # ��" & #�#�" # ��"� %��
qsq = cte ��& ��� %�� -���� " %� %� �� " # qsq = cte� #��# " +�"� # � )*R ��
J*R� # � H*R �� GFR� 4 # � H*R �� I*R� +��� �����1E� �����1) 4 �����1H � "1
+ %��-�& �� / �"� 5 %5� ��#�%� 2� �  � ��" %��#�%��� " # � +���� &� 2�  "��&�"
�����3��#�� ��" -���� " # ��"� 2� " +��#�% � #����� �� ����"&�"�'� # �� " 1
%� �%�� �"��#� ��" +��.��%�" %��%���#�" " � +� " ���� & 9�� � ���-(" # ��" &�# ��"
��� ��#�" %�� �� qsq = cte + 2� @��  "+ %���& ��  � ��" %���� " # &�4�� - ��%�#�#
�������/ �'� " 2�  �  "��" %�"�" ��" +��.��%�" � �# ��� � �����3�� %�����,%�#�� "
+ 2� @�" # ��#� � �� &�4�� %�+�%�#�# # � %����� "����%�'� 2� " � T 9� %���#� " 
�"�� qsq = cte ��&��(� + 2� @�"/ ��  � %�"� # � %���� # & ��� - ��%�#�#� �����1H�
��" %�����,%�#�� " �"�#�" +�� �� +��.��%� "�� &�4�� " 5�%� �#� 2� �� +� %�"�'� # �
&�# �� �� # + �#� ����� %��  � -���� +����%���� # qsq = cte/ �� %����� � ��" -���� "
# qsq = al, rc ��" �-�&�" %�&�  � �&��" %�"�"  � ��- � #  ����  " + 2� @�� "� �#�
& ��� +��� qsq = rc/

����� � ����-� & #�� # #�"���"�'�/ ��  "� %�"�� +��� qsq = cte " ��" �-� ���
 -���%�'� %�������� � �� # � %�"� # �  ���� � ����-� # ��"��  �  ���� #�"&���4 ��+�1
#�& �� �� ��& ���� qsq = cte 5�"�� ��%��3�� �� ��- � %�"� %��"���� +��� -���� "
��� �& #��" # qsq = cte/ ��  "� " ���#�� ��" -���� " # #�"���"�'� 2� " +��#�% �
#����� �� ����"&�"�'� # �� " %� �%�� �"��#� ��" +��.��%�" %��%���#�" " � +� " ����
& 9�� � ���-(" # ��" &�# ��" # #�"���"�'� ��� ��#�" %�� �� qsq = cte & #�� � ����
6# + �#� �#� # � %���� �"�#�7/ �� %����� � ��" -���� " # qsq = al, rc " +� # 
��" �-�� 2� +���  � %�"� �� ������  �  ���� %�& ��#�  "  � -�#� &� ����" 2� +���
qsq = rc  �  ���� %�& ��#�  " %��"�# ���� & �� & ���/
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Distorsión (Canal-1)
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:�$��� G/E� M���� " # 6�7 �	��� 6�7 �A& �� & #�� # %��#��" + �#�#�" 6��7� 6%7  ����
� ����-� & #�� # ��"�� 4 6#7  ���� � ����-� & #�� # #�"���"�'� ��� ��#�"  � �� ����"&�"�'�
# �� " %� �%�� >"�� ��? �"��#�  � &�# �� �����1E 6C = 328 ���"7 +��� ��"  "2� &�" # 
+� +��% "�&� ��� qsq = cte, rc, al/ ��#� +���� # ��" %��-�" %��� "+��# � ��" � "����#�"
��� ��#�" %�� �� +��.��%� �"�%��#� � �� -���� # qsq = cte/
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:�$��� G/)� M���� " # 6�7 �	��� 6�7 �A& �� & #�� # %��#��" + �#�#�" 6��7� 6%7  ����
� ����-� & #�� # ��"�� 4 6#7  ���� � ����-� & #�� # #�"���"�'� ��� ��#�"  � �� ����"&�"�'�
# �� " %� �%�� >"�� ��? �"��#�  � &�# �� �����1) 6C = 164 ���"7 +��� ��"  "2� &�" # 
+� +��% "�&� ��� qsq = cte, rc, al/ ��#� +���� # ��" %��-�" %��� "+��# � ��" � "����#�"
��� ��#�" %�� �� +��.��%� �"�%��#� � �� -���� # qsq = cte/
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:�$��� G/H� M���� " # 6�7 �	��� 6�7 �A& �� & #�� # %��#��" + �#�#�" 6��7� 6%7  ����
� ����-� & #�� # ��"�� 4 6#7  ���� � ����-� & #�� # #�"���"�'� ��� ��#�"  � �� ����"&�"�'�
# �� " %� �%�� >"�� ��? �"��#�  � &�# �� �����1H 6C = 82 ���"7 +��� ��"  "2� &�" # 
+� +��% "�&� ��� qsq = cte, rc, al/ ��#� +���� # ��" %��-�" %��� "+��# � ��" � "����#�"
��� ��#�" %�� �� +��.��%� �"�%��#� � �� -���� # qsq = cte/
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��� ������ +�# &�" %��%���� 2�  �  "2� &� # +� +��% "�&� ��� �"�#� +��� %��%�1
��� ��" %� ,%� �� " # � &�# �� # 0� �� ��T�4 " �"��� & �� "���  � � �#�&� ��� # 
�� +��.��%�  � %����� � �� %���#�# ,��� # �� " %� �%�� ����"&���#�/ ��&� 5 &�" -�"��
 � ��" ,$���" G/E1G/H� �� &�8�&� %���#�# # �� " %� �%�� # %�#�,%�#� 6 � �(�&���" # 
�	��7 " ���� � +��� �� -���� ,9� # qsq = cte� "��-� +���  � %���� # & ��� - ��%�#�#/
�� ��"���� �  � -���� # qsq = cte 2� +��+��%����  " &�8�&� -��.� %�� ��" %���%� 1
�."��%�" # � %����� %�� �� 2� "� # � �&���%�'� � 2� ���.� �� �����"�" # � � �#�&� ��� # 
-����"  "2� &�" # +� +��% "�&� ��� "���  � "�"� &� ,��� # ����"&�"�'�/ �"�� #�,%����#
# "�+�� % �� �����3�� ��"  "2� &�" # +� +��% "�&� ��� qsq = al 4 qsq = rc/ �� ��"���� �
+���  � %�"� �� ������ 5 &�" %�&+����#� 2� �� %���#�# # �� " %� �%�� # %�#�,%�#�  "
" �"��� & �� ��0 ���� � �� &�8�&� ��� ��#� %�� �� qsq = cte �# %��#�/ �� %�&��� +���
qsq = rc� "� �� �  � +��% "� # ��� �%�'� # ��" &�# ��" # 0� �� � 2�� � ��$� &�" # 
 ������%�'� 2� qsq = cte, al� ��" �-�&�" 2� +��+��%���� -���� " # �	�� % �%���" ��
&�8�&� +���  � �����1E 4 �����1)� 4  � &�8�&� +���  � �����1H/ ��� ������  �  "2� &�
# +� +��% "�&� ��� qsq = rc +��+��%���� �� %�&+��&�"� �# %��#�  ��� �� %���#�# # 
�� " %� �%�� # %�#�,%�#� 4  � %�"� %�&+���%����� � 2� ��#� +��� "� %��%���/ �". +� "�
+��� ��"  8+ ��& ���" 4 +�� ��" � ���3�#�"  �  � � "�� #  "� �����9� -�&�" � �����3��  �
 "2� &� # +� +��% "�&� ��� # � �&���#� +�� qsq = rc/

������ 
��!����'% ������ � � ��� �$� ��� *�� � ��

��  "�� " %%�'� -�&�" � �����3��  � � �#�&� ��� # ��" +��.��%�" # %������  � 0��%�'�
# � -���� �"�$��#� � K�  " # %��� # � -���� �"�$��#� � �� & #�� # ��" -������ " �� ������"
dlf,m 2� &�# ��� �� #�"���"�'� ��� ��#� %���#� " +� �# �� %��#�� 6-(�" �� " %%�'�
H/I7/ ����  ��� 5 &�" � ���3�#� -����" "�&���%��� "  ��$� �#�  � -���� # � ���#�  8�� &�
�  8�� &� # � "�"� &� � ∆T = 133 &" 62Tf 7 4 �"��#� %����� ��� �-���" +��� %�����,%��
�� -������ %�&+� 9�#�# 6-(�" �� " %%�'� G/G/H7/ ��" %���%� �."��%�" # � &�# �� # %����
�"�#� " %��� "+��# � � ��" # � %���� S1����� # �� ����� I/)/ �� " %� �%��" �����3�#�"
5�� "�#� >&��5 �1#��$5� �?� >�=�4�?� 4 >"�� ��?/

�� �$��� 2� " 5�3�  �  � %�"� �����%��#��� +��� � � � ��� %���%� ��3�%�'� &�" %�&+� ��
# � � �#�&� ��� # ��" +��.��%�" 5 &�" %��%���#� �� " +���& ���" �#�%����� "�

M���� & #�� # �	�� # ��" %��#��" � %���#�" %��� %��& �� 6�	�� ��7  �  �
# %�#�,%�#��/

���% ���9 # +�2� � " # � �� �� 6R ��7 �"�#�" +��  � "�"� &� %���#�  � ��< �
# � %�#�,%�#�� " 2� #� -�%.�/

M���� & #�� # �� #�"���"�'� 6�	�7 # ��" %��#��" + �#�#�" 6�6��77/

�� ����� G/) &� "��� ��" � "����#�" +��& #��#�" # ��" "�&���%��� " +��� ��" #�"�����"
-���� " �"�$��#�" � K/ ��  ��� " 5� ��%���#� ��&��(�  � -���� & #�� # �� #�"���"�'�
6�	�7 ��� ��#� �"��#�  � %�����,%�#�� &�" $��" ��� d(31)� %�&� � 0 � �%�� +���  � -����
# K/
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3
	,7&��
� ⇒ d(31) = 19 ��8��

� ��8�� �8'4 �8'4 !! '� !� � �4 9�!����8��

�� ���#� ����� ���� ���" �"��##

�" ���#� ����� ���� ���� �����

�� ����# ����� ���� �"��� �#���

#" ����" ����� ���� ����� #����

�"" ����� ����# ���# ����� #"���

��� ����� ����� ���" ���"� #"���

��� ����# ����� ���� ����� #����

��" ����� ����� ���" �#�� #"�"�

�	$�%�� ⇒ d(31) = 13 ��8��

� ��8�� �8'4 �8'4 !! '� !� � �4 9�!����8��

�� ����� �#�"� ���� ����� �����

�" ����� ����� ���� ����� ����"

�" ����� ����� ���# ���#� �����

�� ����� ����� ���� �"��� �����

�"" ���"� ����# ���� �#�"� �#�#�

��� ���"� ����� ���� �#��� �#��#

��" ����" ����" �"�� ����� �"���

�������� ⇒ d(31) = 43 ��8��

� ��8�� �8'4 �8'4 !! '� !� � �4 9�!����8��

�" �"��� ����� ���� ���� �"����

�"" ����� ����" ���� ���� �#����

��� ����� ����� ���� ���� �#����

��" ����� ���"� ���� ���� �#��#"

��� ����� ���#� ���� ���"� �#���"

�"" ����� ����� ���# ���"� �#���"

��� �"�#� ����� ���� ���"# �"#���

��" �"��� ���## ���� ���"� �"���#

�"" �"��# ���� ���� �"��� �����"

����� G/)� �	�� # �� " %� �%�� # %�#�,%�#�� �	�� # ��" %��#��" %��� %��& �� � %���1
#�" 6�	�� ��7� �A& �� # %��#��" + �#�#�" 6�� ��7� +��% ���9 # +�2� � " # � �� ��
6R ��7� 4 #�"���"�'� & #�� # ��" %��#��" + �#�#�"6�6��77 +��� #�"�����" -���� " # K/
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��" #���" ��� ��#�" &� "���� �� %�&+����&� ��� &�4 +�� %�#� �� ��� ��#�  �  � %�"�
# �� %�#�,%�%�'� �����%��#���

�A& �� & #�� # %��#��" + �#�#�" 6�� ��7/ 	 $A� ��& ���  � -���� # K�  " # %���
" ��%� & ���  � %�"� �"�%��#� � �� +(�#�#� # %��#��"�  � �A& �� & #�� # %��#��"
+ �#�#�" #�"&���4 /

M���� & #�� # �	�� # ��" %��#��" ����"&���#�" %��� %��& �� 6�	�� ��7/ ��"1
&���4 �� ��& ���� K/ �"��  " # ��#� � 2� +��� -���� " + 2� @�" # K ��" +��.��%�"
��� ��#�" +��+�� � %�����,%�#�� " ,��" 6& ��� #�"���"�'� + �� &�4�� �A& �� # 
���"7 #�#�  � ��9� %�"� 2� "�+�� �� +�"��� +(�#�#� # � %��#��/ ��� ������ "�
 � %��#�� �� $� ,���& �� �� � % +��� " �� # �� �� %���#�#/ �� ��& ���� K ��"
+��.��%�"  -����  � &�4�� & #�#� �� +�"�����#�# # + �# � %��#��" � %�"�� # �"��
%�����,%�#�� " &�" $��" ��"� �� 2� %���� -� � ��� & ��� %���#�# # ��" %��#��"
%��� %��& �� ����"&���#�"/

���% ���9 # +�2� � " # � �� �� 6R ��7/ �� -���� #  "� +���& ��� " ��%� & ���
�� ��& ���� K/ �"� 5 %5� ��#�%� 2� ��" +��.��%�" �� �"�� %�����,%�#�� " &�"
$��" ��" +���  -���� �� +(�#�#� # %��#��" �� -�� � "����%��� " # -�%��&� ��� # �
��< � # � %�#�,%�#�� %��  � %��" %� �� # "�+��- %5�&� ��� # ��" � %��"�" # �
%����/

M���� & #�� # �	�� # �� " %� �%�� # %�#�,%�#�/ 	 �+� %�� ��  8�"� �%�� # ��
&�8�&�  � �� ���$� # -���� " # K/ �� �$��� 2� �%����'  �  � %�"� # %�#�,%�%�'�
�����%��#��� ����� +��� -���� "  8% "�-�& �� + 2� @�" # K %�&� +��� -���� "
# K &�4  � -�#�"  � �	�� #�"&���4 / ��  � +��& � %�"�� ��" +��.��%�" # %������
�%��� �� ��  � -�#� �A& �� # %��#��" + �#�#�" 2� ��& ���� �� #�"���"�'� # ��
" %� �%�� # %�#�,%�#�� &� ����" 2�  �  � " $��#� %�"��  "  � �"� # %�����,%�#�� "
$��" ��" +��� +� - ��� �� +(�#�#� # %��#��" �� 2� # $��#� �� %���#�# # �� " %� �1
%�� # %�#�,%�#�/ �� &�8�&� # �	�� " ���� � +��� �2� ���" -���� " # K 2� 
� +� " ���� �� %�&+��&�"�  ��� �&��" � �# �%��"/

�� �� ,$��� G/I " 5� � +� " ���#� �� -����%�'� # � �	�� %�� � "+ %�� � K +��� ��"
�� " " %� �%��" # +�� ��� 4 " 5� ��#�%��#�  � ���$� # -����%�'� # �6��7 ��� ��#�
 � ��" "�&���%��� " � ���3�#�"/ ��" � "����#�" &� "���� �� %�&+����&� ��� "�&���� ��
��� ��#�  �  � %�"� �����%��#��� ��" -���� " # K 2� 5�% � 2� ��" +��.��%�" %��%���#�"
��� �$�� � "����#�" % �%���" �� &�8�&� "�� �2� ���" "����#�" # ���� # � ��� �-��� # 
-����%�'� # �6��7/ �". +� "� "�  � ��9 ��-� # � %������ # � %�#�,%�#��  " &�8�&�3��  �
�	�� # �� " %� �%�� # %�#�,%�#��  � -���� �"�$��#� � K # � �+��8�&��" �� -���� � ��
# �� #�"���"�'� & #�� # ��" %��#��" + �#�#�"/ ��� ���� ��#�� �� #�"%�"�'� � ���3�#�  �
�� " %%�'� I/G/E "��� �� 0��%�'� # %�"� �����3�#�  �  � &�# ��#� # � "�"� &�  " ��&��(�
-���#� +���  "� %�"�/
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6�7 6%7

:�$��� G/I� M����%�'� # � �	�� %�� � "+ %�� �� -���� # K/ 	 5� ��#�%�#�  � ��� �-�1
�� %��� "+��#� �� � ��" -���� " # K �$��� " � ��" -���� " # �6��7 ��� ��#�"  � ��"
"�&���%��� "/

����#� +��%$���� �  � �� ���*��,� � 

� ��" -������ " 2� %�&+�� �  �  "��#� # � &�# �� # � "�"� &��  "��#� # � %���� 6ck7�
�A& �� # ��� �-���" # +�2� � #�"+����� " 6tk7� %�����,%�#�� # %��#�� +� -�� 6ak7� 4
%�&+� 9�#�# # %��#�� 6sk7� # �� -� �� %�&+� 9�#�#� sk�  " �� 2� +� " ��� ��  "+�%��
#  "��#�" &�" ��& ��"�� � + "�� # �� ��&���%�'�  �  � ���$� # -����%�'� # ,��#� +��
 � ��� �-��� [smin, smax]/ ��� ������  � �A& �� ����� #  "��#�" # � "�"� &� -� � # + �# �
0� �� & �� # � ���$� # -����%�'� # sk/

��� ���� ��#��  � &�# �� # � "�"� &� +��� �� %�#�,%�%�'� ��� �%��#�� ��%��+��� ���
�� -� -������ #  "��#� 6 � %�����,%�#�� �"�#� %��  � %��#�� ��� ����� ak7 2� 5�% 2� 
 � �A& �� ,��� #  "��#�" " ��%� & �� %�� � "+ %�� � �� %�#�,%�%�'� �����%��#��/

�� �� ����� G/H 5 &�" � +� " ���#� � &�#� #  9 &+�� ��" %�������%��� " # ��" -�1
����� " �� �A& �� ����� #  "��#�" " $A� ��" %��#�%��� " # ��"  8+ ��& ���" � ���3�#�" 4
+��� �� " %� �%�� >"�� ��?/ ��" -���� " smin 4 smax " 5��  "��&�#� � +����� # ��" & #�#�"
# �� %�&+� 9�#�# # %�#� ��� # ��" %��#��" # �� " %� �%��/ ��&� " +� # ��" �-��
�� %�������%�'� &�4�� %��� � %��$� # �� %�&+� 9�#�#� "� �#� �� #�0 � �%�� %�� ��" ����"
-������ " �+� %���� / ��� ���� ��#��  � �A& �� ,��� #  "��#�" � "���� &�4  � -�#� %��  �
%��" %� �� %�"� %�&+���%����� �"�%��#�� 2� +� # �� -�� � �� �&+�"�����#�# # %��%����
��" +��.��%�" # %������/
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� �� -�� -�&�" � �+��%�� �� +��% "� # %�����,%�%�'� � �� -������ %�&+� 9�#�# %��
 � ��9 ��-� # � #�%��  � �A& �� #  "��#�" # � "�"� &� 4 � �����3�� "� �&+�%�� "���  �
� �#�&� ��� # ��" +��.��%�" # %������/ ����  ���� -�&�" � %�����,%��  � ���$� # ,��#�
+�� smin 4 smax �"��#� �� �A& �� # � �&���#� # ��� �-���" # %�����,%�%�'�/

>"�� ��? ∆T = 2Tf ∆T = 3Tf ∆T = 4Tf

�"��#� %���� ) ) )
�� +�2� � " #�"+����� " EI )K I*

������,%�#�� %��#�� +� -�� H) H) H)
��&+� 9�#�# )I/*** )I/*** )I/***

�� �����  "��#�" )E/F*I/*** IE/IK)/*** GE/II*/***

����� G/H� ��������%�'� �� �A& �� #  "��#�" ,��� " # ��" #�"�����" -������ " #  "��#�
+��� �� " %� �%�� >"�� ��? 4 +��� ��" -���� " # � � ���#�  8�� &� �  8�� &� �"�#�"  � ��"
 8+ ��& ���"/

�� ����� G/I %���� � ��" � "����#�" ��� ��#�" "��� ��" " %� �%��" # +�� ��/ 	 5�
 � $�#� %�&� -���� # � %��"���%%�'�  � -���� % ����� # %�#� ��� �-��� # %�����,%�%�'�/
��" -���� " smin 4 smax # %�#� " %� �%�� " 5�� �+��8�&�#�  � ��" � ��" & #�#�" # ��
%�&+� 9�#�# ��� ��#�" "��� ��" %��#��" # %�#� " %� �%��/ ��  "�  8+ ��& ��� 5 &�"
%��"�# ��#� �� � ���#�  8�� &� �  8�� &� ∆T W EHH &" 62Tf7 4  � &�# �� # %���� " 
%��� "+��# �� &�# �� S1�����/

	 +� # ��" �-�� 2� ��" � "����#�" # %�#� " %� �%�� "�� &�4 "�&���� "  ��� ".�
��%��"� %���#� " �����3� �� A��%� ��� �-��� # %�����,%�%�'�/ �"� � "����#�  " %��"�"� �� 
%�� �� +� &�"� # "�&�����#  � ��" %���%� �."��%�" # ��"�1#�"���"�'� # ��" %��#��" # ��
" %� �%��� +�� �� 2� �� $��������#�# # �� %�����,%�%�'� # �� %�&+� 9�#�# �� ��T�4 
0� �� & ��  � �� %���#�# ,��� # ��" � "����#�"/

�� ��"���� � �� �$��� 2� �%����' +��� �� %�#�,%�%�'� �����%��#��� " +� # ��" �-��  �
��" �� " " %� �%��" 2�  � �"� # &�" # �� ��� �-��� # %�����,%�%�'� " ���#�% �����  �
��� ��$ �� & 9��� # � �	�� %�&�  � ��� &�" ������ #�"&���%�'� # � �A& �� # %��#��"
+ �#�#�"/ ��" � "����#�" ��&��(� %��"����� 2� ��� - 3 ��%��3�#� �� # � �&���#� ��- � # 
$��������#�#� �� %���#�# # �� " %� �%�� # %�#�,%�#� �� ��& ��� "� " "�$� ��%� & ����#�
 � �A& �� # ��� �-���" # %�����,%�%�'�/ � 5 %5��  � ��"  8+ ��& ���" � ���3�#�" " 
��" �-� 2� ��" & 9�� " � "����#�" " ���� � � +��� ��� $��������#�# # )1I ��� �-���" # 
%�����,%�%�'�/

��� ������ +�# &�" %��%���� 2� ��&��(�  �  � %�"� ��� �%��#��� �� %�����,%�%�'� # 
�� $��������#�# ��" + �&�� � #�%��  � �A& �� #  "��#�" # � "�"� &� %��"�# ���� & �� 
"�� # $��#�� �� %���#�# # �� " %� �%�� ,��� 6�'� " 2� ��" & 9�� " � "����#�" # %���#�#
" ���� � � +��� �� �A& �� + 2� @� # ��� �-���" # %�����,%�%�'�7/ �� ��" "�&���%��� "
%��� "+��#� �� " �� � "�� # � %�+.���� �����3�� &�" ��� $��������#�# # ) ' I ��� �-���"
# %�#�,%�%�'�/
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>&��5 �1#��$5� �?
�� 
�� �-���

��� �-���" 6���"7
�	�� �� ��

E EF/*** HI�FI EH�K
) K/F** HI�LH EF�)
I H/KF* HI�LK E)�J
L E/LKF HI�JH EH�I
)* KF* HI�LJ EH�F

>�=�4�?
�� 
�� �-���

��� �-���" 6���"7
�	�� �� ��

E E*/*** HK�FE EH�F
) F/*** HK�FI EH�K
I )/F** HK�FG EE�J
L E/)F* HK�FL EH�I
)* F** HK�FJ EH�I

>"�� ��?
�� 
�� �-���

��� �-���" 6���"7
�	�� �� ��

E )F/*** H*�KI EH�I
) E)/F** H*�JE EH�F
I G/)F* HE�)G EH�J
L H/E)F HE�*I EH�L
)* E/)F* H*�JF EH�I

����� G/I� �	�� 4 �A& �� # %��#��" + �#�#�" 6��7 ��� ��#�" +��� #�"�����" %�����,%�1
%��� " # �� -������ %�&+� 9�#�#/
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����&� ��% ����%!�  �� ��-���!��

��  "�� " %%�'� -�&�" � %�&+����  � � �#�&� ��� # ��" +��.��%�" %��%���#�" %��
����" #�" ��$����&�" # %������/ ��" � 0 ��� &�" # �� -� � �� "��� �+��8�&�%�'� %�1
&� ��$����&� ���� &� ����" 2� ��" ����" #�" ��$����&�" �&+� & ���#�" "���

��$����&� ��"�#�  �  � & %���"&� �"�#�  � ���L PIKQ 6���7/ � �� -�  &+� �1
&�" ��  "���� $�� +��+� "��  � ���L +���  � %������ # � %�#�,%�#��  � �� %�+�
%��#���  " # %��� �"�&�" "� 0��&���%�'� +��� +� # %��  � �A& �� # ���" ��9 ��-�
+��� %�#� %��#��/ � +����� #  " -���� "  ��$ �2� � %�����,%�#�� 2� +��#�3%�
 � -���� &�" +�'8�&�� +�� # 0 %��� �� -���� ��9 ��-�/ �"� ��$����&� �� �"� ���$���
��0��&�%�'� �% �%� # � %���� 6 " �� ��$����&� + �"�#� +��� �� %���� # - ��%�#�#
%��"���� 7 � # �� " %� �%�� # -.# �� %�� �� 2� +� # " �-�� # � 0 � �%�� +���
& #�� �� & 9��� ��� ��#� %�� �� ��%��+���%�'� # &�# ��" � +����� # 0� �� 4 %����
 � ��  "���� $�� # %������/

��$����&� # %������ # � %�#�,%�#��  � �� %�+� # %��#�� +��+� "��  � P)Q
6���1���7/ �"� & %���"&�  " ��� �#�+��%�'� # � & %���"&� # "%����  �  �
+���� ��� ���� +��� �� %���� # - ��%�#�# -������ "�&���� �� 2� "  "�� %��"�# 1
���#�  �  "� �����9�/ ��" ����� " +��+�� � �� ��%��"�'�  �  � ��$����&� # ���
 "��&�%�'� # � �A& �� & #�� # ���" 2� " -�� � � ����"&���� %�&� %��" %� �%��
# ��"  ���� " # � %���� #�����  � + ���#� # %��#��/ �"�� %����#�# " # "%� ���
# � �A& �� # ���" ��9 ��-� %��  � +��+'"��� # � #�%�� �� +(�#�#� # %��#��"/ ��%5�
 "��&�%�'� " 5�%  � ��" � ��" +��������#�# " # ����"�%�'� 2� # ,� �  � &�# ��
# %����/ �� �� "��� �&+� & ���%�'� #  "� ��$����&�� "  ��$  � %�����,%�#�� 2� 
+��#�3%�  � -���� &�" +�'8�&�� +�� # 0 %��� �� -���� ��9 ��-� %��� $�#�/

��� ��" �� " ��$����&�" " 5�� � ���3�#� "�&���%��� " "���  � &�# �� # %���� S1�����
��� �� �#� ��" � "����#�" � %�$�#�"  � �� ����� G/F/ �� ��" ��$����&�" ���1��� 4 ���
" 5� ��%���#� �� #�0 � �%�� # � � "����#� # �	�� 4 �� %�� � "+ %�� �� ��$����&� ���/
	 +� # ��" �-��  � & 9�� � �#�&� ��� # � ��$����&� ��� %�� � "+ %�� � ��" ����" #�"
��$����&�"�

�	���  � ��$����&� ��� ���� � & 9���" %�� � "+ %�� � ���1��� 2� -�� # "# 
E�EL #C 5�"�� )�HE #C� &� ����" 2� %�� � "+ %�� � ��� �� #�0 � �%�� � 0�-�� -�
# "# E�HK #C 5�"�� )�FK #C/

�� ���  � ��$����&� ��� #�"&���4  � �A& �� & #�� # %��#��" + �#�#�" # "# 
)�I �� 5�"�� L�H �� %�� � "+ %�� � ���1���� 4 # "# H�J �� 5�"�� E)�F �� %��
� "+ %�� � ���/

�'� " 2� � %�&�  �� #  "+ ����  � ��$����&� ���  "  � 2� ���� � ��" + �� " � 1
"����#�"/ ��� ���� ��#��  � �����&� ��� 2� 5�%  � ��$����&� ���1��� # � %���� # 
- ��%�#�# -������ %��"�$� ��� ��$ �� & 9��� # ��" � "����#�" ��� ��#�" +�� ���/ ��
%����� �� ��$����&� ���� ��" � "����#�" &� "���� 2� �� 0��&���%�'� # � +���� &�  � �(�1
&���" # ��� ��%��4 �#� ��0��&�%�'� ����� # � %���� %�&� # �� 0� �� # -.# � + �&�� 
��� � � ��� & 9��� ������ %�� � "+ %�� � ��" ��$����&�" ��� ���� "/
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∆T = 2Tf ∆T = 3Tf ∆T = 4Tf

:�7�
���� �8'4 '� !� �8'4 '� !� �8'4 '� !�

�9� ����� ���# ����� #�� ���"� ���

����� ���� ���## ���� ����� #��
;�'3�59

�3���"� �A���� �3����� �A���� �3����� �A����

����� ���� ����� �"�" ����" ����
;�'

�3����� �A�"��� �3����� �A�"��� �3����� �A����

�	$�%��

:�7�
���� �8'4 '� !� �8'4 '� !� �8'4 '� !�

�9� ����� ���# ����# ��� ���� ���

����# ���� ����� ���" ���## ��#
;�'3�59

�3��"�� �A��#� �3����� �A��#� �3����� �A����

����� ���" ����� ���� ���"� �"��
;�'

�3��"�� �A���� �3��"�� �A���� �3����� �A��#�

��������

:�7�
���� �8'4 '� !� �8'4 '� !� �8'4 '� !�

�9� ����� ���# ����� #�� ����� ���

�"�"� ���� �"��� ���� �"�#� �"��
;�'3�59

�3����� �A���� �3����� �A���� �3����� �A��"�

�#��# ���� �"�"� ���� �"��� �#�"
;�'

�3����� �A����� �3����� �A����� �3����� �A�����

����� G/F� �	�� 4 �A& �� # %��#��" + �#�#�" 6��7 # ��" ��$����&�" ���� ���1���
4 ��� +��� #�0 � �� " -���� " # ∆T / �� ��" ��$����&�" ���1��� 4 ��� " 5� ��%���#�
�� #�0 � �%�� # � � "����#� # �	�� 4 �� %�� � "+ %�� �� ��$����&� ���/

�� %����� �� -���� # ∆T " ��" �-� 2� ��" � "����#�" # ��" �� " ��$����&�" & 9����
" $A�  � � ���#�  8�� &� �  8�� &� + �&���#�  " &�4��/ �"��  " # ��#� � 2� �� -���� # 
∆T  � -�#� + �&�� �� "�"� &� ��"��� � ��"  ���� " # � %���� +�� �� 2� "� �&+�%��  � ��
%���#�# # �� " %� �%�� # %�#�,%�#�  " & ���/

��� � "+ %�� � �� %�&+� 9�#�# %�&+���%����� � 2� ��#� +�� ��" ��$����&�" �����3�#�"
#����� �� ����"&�"�'�� ("��  " "�&����  � ��#�"  ���"/ �� �� �&+� & ���%�'� � ���3�#�
# ��" ��$����&�" ��� 4 ���1���� " � 2�� � �� �A& �� -������ # %�#�,%�%��� "
# � %��#�� �%���� 5�"�� # � �&����  � %�����,%�#�� 2� &�" " �% �%� �� �A& �� # ���"
��9 ��-� 6%��� $�#� +���  � ���1���7/ �� %����� �� ��$����&� ���� " � 2�� � � #�"
%�#�,%�%��� " # %�#� %��#��� ��� +��� # � �&���� �� %�&+� 9�#�# 6" $A� " 5��  � $�1
#� ��" %�����,%�#�� " # � 0 � �%��7� 4 �� " $��#� %��� "+��# � �� %�#�,%�%�'� %��  �
%�����,%�#�� " � %%����#�/

�". +� "� +�# &�" %��%���� 2�  � ��$����&� ���� &��� �� �#� �� %�"� %�&+���1
%����� #����� �� ����"&�"�'� &�4 �" 2���� � + �&�� ��� � � ��� & 9��� # �� %���#�#
# �� " %� �%�� # %�#�,%�#� ������ %�� � "+ %�� � ��" ����" #�" ��$����&�" %��"�# ��#�"/
�"� � "����#�  " &�4 ��� � "��� "� " %�&+��� %�� ��" � 2��"���" # %�"� %�&+���%�����
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# ��" ��$����&�" ��"�#�"  � ���$��&�%�'� ����&�%� � � �&���"��/ � ��#� � �� # + �1
# �%��  ��� %��#��" # �� %�#�,%�%�'� ��� �%��#���  � %�"� %�&+���%����� � 2� ��#� +��
 "��" ��$����&�" ��& ��� %��"�# ���� & �� 5�%� �#� $ � ���& �� ��-���� "� �+��%�%�'�
 � �� &+� # ����"&�"�'�/ �� %�&���� �� �+��%�%�'� # �(%��%�" ��� ��" 5� + �&���#�
#���$��  � ��%� & ��� # %�&+� 9�#�# 2� "�+�� �� %��"�# ��%�'� # �� %�#�,%�%�'� ��1
� �%��#�� �� %��%��� � +����� # �� +��.��%� # %������� %�� �� 2�  � %�"� %�&+���%�����
� 2� ��#� #����� �� ����"&�"�'� �+ ��" " 5� ��%� & ���#� %�� � "+ %�� � �� %�#�,%�%�'�
�����%��#��/

����)� ��!$ ��  ��  ���,$�!� �% �� �� ���  � ($�%!�

��  "�� " %%�'� -�&�" � �����3��  �  0 %�� 2� %��"� �� # "�9�"�  ���  � &�# �� # 
0� �� 4 ��" #���" � �� " # �� " %� �%��/ ����  ��� -�&�" � �"�� # �� -� �� " %� �%��
>0�� &��? 62� +� " ��� �� %�&��� #  "% ��7 "��� �� 2� 5 &�" %��%���#� �� " &�# ��"
# 0� �� #�"�����" "�$�� �#�  � ��#�"  ���"  �  "2� &� # +� +��% "�&� ��� qsq = rc + ��
�"��#� %��9����" # %��#��" #�0 � �� "�

��
�
� �
�$�
� +���  � 2� " 5�� �"�#� ��#�" ��" %��#��" # �� " %� �%��/

��
�
� 5� ���� ��"�#�  � ��" #���" ��� ��#�" %�� ��" %��#��" P*1))*Q/ �"� " $& ���
%���� � �� +��& ��  "% �� %��� "+��#� �� �� ��#�-�#�� 5�����#� 4 �� ����"�%�'� �
�� " $��#�  "% ��/

��
�
� 4� ���� ��"�#�  �  � � "�� # �� " %� �%��� %��#��" P))E1)JJQ� 2� %���� � �
�� " $��#�  "% ��  � �� 2� "  "��  �0�%��#� � ��� %��"���%%�'�/

� +����� # %�#� ��� #  "��" �� " &�# ��" " 5�� %��%���#� +��.��%�" # %������ +���
��" %��#�%��� " # ����"&�"�'� # "%����" �� ���%�� #  "� %�+.�����  ��$� �#� %�&� � ���#�
 8�� &� �  8�� &�  � -���� # ∆T = 2Tf � 4 %�&� &�# �� # %���� " 5� �"�#�  � &�# ��
S1�����/ ��" � "����#�" ��� ��#�"  "��� � %�$�#�"  � �� ����� G/G� 2� %���� �  � -����
# �	�� # �� " %� �%�� # %�#�,%�#� +��+��%����#� +�� %�#� +��.��%� %��"�# ���#� ��"
#�"�����" " $& ���"� 4  � �� ,$��� G/F� 2� %���� �  � -���� & #�� # �	�� # %�#�
%��#�� 4 +��� %�#� ��� # ��" +��.��%�"/
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��� 7��/	� ����� ����# �����

��
��� �� ��( ���#� ���"� ����#
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��� �� ��( ����� ����� ���""

����� G/G� M���� & #�� # �	�� # �� ����"&�"�'� # �� " %� �%�� >0�� &��? �"��#� ��"
+��.��%�" %��� "+��#� �� " � ��" �� " &�# ��" # 0� �� /

	 +� # ��" �-�� %'&� ��" &�# ��" # 0� �� # ��-�#�" # ��" " $& ���" # �� " %� �1
%�� 6&�# �� E�  "% 4 &�# �� )�  "%7 +��+��%����� ��" & 9�� " � "����#�"  � "�" %��� "+��1
#� �� " " $& ���"� &� ����" 2� +��#�% � ��" + �� " � "����#�"  �  � " $& ��� � "���� /
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6�7

:�$��� G/F� M���� & #�� # �	�� # ��" %��#��" # %�#�,%�#�" # �� " %� �%�� >0�� &��?
��� ��#� � ���-(" # ��" �� " &�# ��" #�"�����" # " %� �%�� �����3�#�"/ ��" � "����#�"
" 5�� " +���#�  � #�" " $& ���"� 6�7 2� %�&+� �# ��" %��#��" P*1))*Q� 4 6�7 2� 
%�&+� �# ��" %��#��" P))E1)JJQ/

�"� � "����#� +�� # &���, "�� 2� �� &�4�� +� %�"�'� # ��" &�# ��" # 0� ��  � "�"
%��� "+��#� �� " " $& ���" " ���#�%  � �� & 9�� � �#�&� ��� # ��" +��.��%�" # ��-�#�"
"��� #�%5�" " $& ���"/ ���  � %���������  "�" &�"&�" &�# ��" �� "�� ��� +� %�"�" "��� 
 � ���� " $& ��� 6��" %��#��" # �&��" " $& ���" "�� # %���%� �."��%�" #�"�����"7 %�� ��
2� ��" +��.��%�" #�"&���4 � "� � �#�&� ���/

��� ���� ��#�� " ��" �-� 2� %��  � &�# �� $����� " ���� � � � "����#�" ��� �& #��"
 � �&��" " $& ���"/ ��  "� %�"��  � &�# �� # 0� �� " 5� %��%���#� %�� #���" # 
��#�" ��" %��#��" # �� " %� �%�� +�� �� 2� �� +� # " � ��� +� %�"� %�&� ��" &�# ��"
+��%��� "  � "�" %��� "+��#� �� " " $& ���"/ � %��" %� �%�� #  "�� +(�#�#� # +� %�"�'��
�� +��.��%� # ��-�#� # � &�# �� $����� +��+��%���� + �� " � "����#�"/ �� ��"���� � %��  �
&�# �� $����� " & 9���� ��" � "����#�" ��� ��#�" %�� ��" &�# ��" +��%��� " %���#� �� " 
�+��%�� � "� " $& ����  " # %��� %���#�  � &�# �� E�  "% " �+��%� �� " $��#� " $& ��� 4  �
&�# �� )�  "% " �+��%� �� +��& � " $& ���/ ��  "��" %�"�"�  � &�# �� $�����  " &�" +� %�"�
2� ��" &�# ��" +��%��� " %�� �� %��" %� �� & 9���  �  � � �#�&� ��� # "� +��.��%�/
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�� %����� � ��" � "����#�" "��� �� " %� �%�� ������ �� +��.��%� # � &�# �� E� " %  " ��
2� +��+��%����  � -���� &�" ���� # �	��/ �"��  " # ��#� � 2�  "�� +��.��%� %��"�$� 
��" & 9�� " � "����#�" "���  � +��& � " $& ��� 2� �# &�"  "  � &�" ���$�/ ��  -�����  �
�	�� +��& #�� # ��#� �� " %� �%�� +��&�� ��" � "����#�" # � " $& ��� &�" ���$� +�� ��
2� � � + "�� # +��+��%�����  � -���� # �	�� &�" ��9� # � " $��#� " $& ���� %��"�$� 
 � -���� &�" ���� # �	�� $�����/

�". +� "� +�# &�" %��%���� 2� ��" # "�9�"� " # � &�# �� # 0� �� %�� ��" #���"
� �� "� %�&�  �� #  "+ ���� + ����3�� " �"��� & ��  � � �#�&� ��� # ��" +��.��%�" 6 �
 � + �� # ��" %�"�" 5�4 ��� +(�#�#� # *�L #C7/ S &�" ��" �-�#� 2� �� # $��#�%�'� # 
�� " %� �%�� # %�#�,%�#�  "�� � ��%����#� %��  � $��#� # # "-��%�'� # � &�# �� %�� ��"
#���" � �� "/ ��� ������  � �� & #�#� 2� " � +�"���  � &�# �� # 0� �� # � �9�"���" 
� �� " %� �%�� � �� 2� " ����"&�� � �� �#�  � %� ��� ��" � 2��"���" 4 ��&���%��� " # �
&�# �� # 0� �� +��+� "��/

������ ��!$ ��  ��  ���,$�!� �% �� �� ���  � ��%��

��  "�� " %%�'� -�&�" � %��� &+��� �� "����%�'�  � �� 2�  � &�# �� # %���� �"�#�
+��� %��%���� ��" +��.��%�" �� � +� " ��� �# %��#�& ��  � %�&+����&� ��� # � %���� � ��/
����  ��� 5 &�" %��%���#� +��.��%�" # %������ +��� �� " %� �%�� >&��5 �1#��$5� �? �"��#�
��" &�# ��" # %����  "+ %�,%�#�"  � �� ����� I/)� #��#� ��$�� � ��" +��.��%�" ���1S +���
 � &�# �� S1����� 4 ���1� +���  � &�# �� �1�����/ 	 5� "�&���#� �� ����"&�"�'�
# �� " %� �%�� "��� �&��" &�# ��" # %���� �"��#� %�#� ��� # ��" +��.��%�"/ ��  "� 
 8+ ��& ��� " 5� �"�#� �� -���� # ∆T = 2Tf /

�� ����� G/K %���� � ��" � "����#�" ��� ��#�"/ 	 +� # ��" �-�� 2� %���#�  � %����
�"�#� +��� ����"&���� " %��� "+��# %��  � &�# �� S1����� 6%���� %�� ��� &�4��
+��������#�# #  ����7� �� +��.��%� ���1� ���� � �� -���� "�&���� # �	�� 2� �� +��.1
��%� ���1S� + �� +� �# �� &�4�� �A& �� # %��#��"/ �"��  " # ��#� � 2�  � &�# ��
�1����� � +� " ��� � �� %���� %�� & ��� +��������#�# #  ���� %�� �� 2� ��" +��.��%�"
# ��-�#�" # (� $ � ��� �� &�4�� �A& �� # %��#��" + �#�#�" �� �+��%��" � �� %���� %��
&�4�� +��������#�# #  ����/ ��� ���� ��#�� %���#�  � %���� " %��� "+��# %��  � &�# ��
�1����� 4 " �+��%� �� +��.��%� ���1S " ���� � �� �A& �� "�&���� # %��#��" + �#�1
#�" + �� �� & ��� �	�� # �� " %� �%�� # %�#�,%�#�/ �� ��3'� # �� #�"&���%�'�  �  �
-���� # �	�� ��#�%�  � 2� ��" +��.��%�" # ��-�#�" # � &�# �� S1����� � "����� &�"
%��" �-�#���" 6�"�� %�����,%�#�� " &�" $��" ��"7 2� ��" +��.��%�" # ��-�#�" # � &�# ��
�1����� 4� 2�  "+ ��� �� %���� %�� &�4�� +��������#�# #  ����/

23�4454 63�4454
����(%

�8'4 '� !� �8'4 '� !�

�5632 ����� ���# ����� ���

�5636 ����� ���� ����� ���

����� G/K� � "����#� # ��" "�&���%��� " �"��#� #�" &�# ��" # %���� #�"�����"/ ���� %�#�
&�# �� # %���� " 5� %��%���#� "� +��.��%� '+��&� # %������ 6���1S 4 ���1�7 4 %�#�
+��.��%� " 5�  -����#� ��9� ��" #�" &�# ��" # %����/
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��� ������ +�# &�" %��%���� 2� �� +�"��� # "�9�"�  �  � &�# �� # %���� " -� �
���#�%��� %�&� " +�#.� +� - ��  � ��� #�"&���%�'� # �� %���#�# # �� " %� �%�� # %�1
#�,%�#� %�� � "+ %�� � �� 2� " +�#�.� ��� � � %�� �� &�# �� # %���� &�" �# %��#�/
�� � �#�&� ��� # ��" +��.��%�" " - �0 %��#� +�� �� #�"%� +��%�� # � &�# ��� �� � +��
 �%������" %�� �� %���� %�� &�4�� +��������#�# #  ���� %�� �� 2� +� �# � �� �A& ��
&�4�� # %��#��"� �� � +��  �%������" %�� �� %���� %�� ��� & ��� +��������#�# #  ����
%�� �� 2� �� �+��- %5�� ��#�" ��" � %��"�" #�"+����� " # � %����/

����3� ��!�� �  �� ��$��  � ������ .��/0��/1

��&� 4� " ��" �-'  � �� " %%�'� I/G/G� %���#�  � &'#��� # %������ ���� �  � -����
# �  "��#� # � %����� ("� �� � T 9� �� ��0��&�%�'� # � "�"� &�  �  � &�& ��� �%���� "���
2� � +� " ��� "�  "��#�  � �� ��"���� ��� ���� # ��#� �� � ���#� # � �%�" # � %���/
��� ���� ��#�� ��&��(� " -�� 2�  � ��" "�&���%��� " � ���3�#�"�  � &'#��� # %������ ��
%��"�# ��  �  � %��%��� # � �� &+� #�"+����� +���  � %��#�� �%����  � �A& �� # +�2� � "
+ �#� �� " # � %����  � �%�" # � %��� # � %��#�� ��� ����/ ��� ������ +� # �%����� 2� 
 � �A& �� ,��� # ��� �-���" # +�2� � � "��� & ��� 2�  � %��%���#�/

�#�%�����& �� � ��  8�"� �%�� # � � ���#� # � �%�" # � %���  8�$ &�#�,%��  � %�&1
+����&� ��� # � %�#�,%�#�� ��� 4 %�&� �� 5 &�" # ,��#�� 4� 2� +� # #�� ��$�� � ��
+(�#�#� # "��%����3�%�'�  ���  � %�#�,%�#�� 4  � # %�#�,%�#��/ 	 $A� 5 &�" # ,��#�  �
%�&+����&� ��� # � %�#�,%�#��� ("�  &+� 3� � ����"&���� �� �� -� %��#�� k+1 6"� &+� 
2�  "�( 4� #�"+����� 7 %���#� �%��� ��� # ��" "�$�� �� "  - ���"�

E/ �� %�#�,%�#�� # � %�� 2�  � %��#�� k �� -� � �� $�� � �� &+� �� # %�#�,%�#��� %��
�� 2� " # "%����� ��#�" "�" +�2� � " + �#� �� "/

)/ �� %�#�,%�#�� 5�  �-��#� ��#�" ��" +�2� � " # � %��#�� k/

��  � +��& � %�"��  � %�#�,%�#�� 4� "�� 2� �� # %�#�,%�#�� �� � -� � �� $��  � %��#��
k +�� �� 2� �� �� �����3��� +��� %�#�,%��  � %��#�� k + 1� "��� 2�  &+� ���  � A���&�
%��#�� � %���#�  �  � # %�#�,%�#��/ �� %�&���� +���  � " $��#� %�"�� %���#�  � %�#�,%�#��
�+ �� "���  � %��#�� k + 1 �� "�� %�� " $���#�# "�  � %��#�� k �� $��� %��� %��& �� 
�� # %�#�,%�#��/ 	� +��� %�#�,%��  � %��#�� k + 1 �����3�" %�&� �&�$ � # � 0 � �%��
 � %��#�� k 4 ("� ,���& �� �� �� $�" �� # %�#�,%�#��� �� # %�#�,%�%�'� # k + 1 ��
" �.� %��� %��/ �'� " 2� %���#� " 5� %��"�# ��#� 2�  � � ���#� # ��ND��N  "
# "+� %���� �  "�� "����%�'� �� " #��.� 4� 2� ��  �-��� %�#� +�2� � ��& #����& �� " 
"���.�  � � "����#�/

��� ������  � %�#�,%�#�� # �  "���� % � ��$A� & %���"&� +��� +�# � �" $���� ��
"��%����3�%�'� %��  � # %�#�,%�#��/ �� �� "���" "�&���%��� " 5 &�" �����3�#� #�" +��% 1
#�&� ���" #�"�����" +��� $������3�� �� "��%����3�%�'��
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� %�#�,%�%�'� # � %��#�� �%���� 6���7/ 	�+��$�&�" 2�  � %�#�,%�#��  "�� ����"1
&��� �#�  � %��#�� k/ 	� # � %�� 2� ��$A� %��#�� ��� ���� i < k �� 5� �� $�#�
� �� &+� �� # %�#�,%�#��� # �� � �� ����"&�"�'� # � %��#�� k� -�%.�  � ��< �� 4
-� �- � %�#�,%��  � %��#�� k �"��#� %�&� %��#�� # � 0 � �%��  � A���&� %��#��
� %���#� +��  � # %�#�,%�#��/ ���  "� +��% #�&� ��� " +� � �#  -����  �  �-.� # 
��0��&�%�'� # %��#��" %�4� �� &+� # +� " ���%�'� 4� 5� +�"�#�� � %�"�� # %��1
"�&�� � %��"�" # � %���� "� " +��#�% ��� � %�#�,%�%�'�� #�#� 2� ��" +�2� � " # 
�� # � �&���#� %��#��  �-��#�" ��� " # �� � %�#�,%�%�'� �� "�� -���#�"/ ��� ����
��#�� " � 2�� � �# &�" 2� " +� #  �-��� ��0��&�%�'� �� # %�#�,%�#�� �% �%� # 
2�( %��#�� # � 0 � �%�� " 5� �"�#��/

�  �-.� # � %��#�� + �#�#� 6���7/ � + "�� # # � %��� 2� �� # � �&���#� %��#�� i
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